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/KL8=JA & KL8=KA/KB/KC/KD LOOP BACK TEST,

-
0D OD A UL N
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9we3?
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0043
0044
2045
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6375

6007
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6031
6032
6734
6035

6035
6036

6040
6041
6042
6044
6045

6046
7402

7002

0000
#3004
5001
woo2
0003

2011
nren
P020

eane
4000
anoY
-1’1}

he24

0000
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w117
@033
0037
ne17
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PAL1O

Vi42A 26=JAN=T

/KLB8eJA g KLB=KA/KB/KC/KD LOOP BACK TEST,

/AC=6527D=MA

9 14101 PAGE 1

/
JCOPYRIGHT (C) 1973=1979 DIGITAL EQUIPMENT CORPORATION,MAYNARD,MASS,,01754

/
/PPOGRAMMER S REV
/

PEV
/ REV
/ REV

/

/THE 10T’S ARE USED
/

APTI00=6370

APTIO126371
APTIO02861372

APTIO3=26373
APTI04=6374

APTIO526375
/

CAF=6007
KCF26030
KSF=6231
KCC=s6M32
KRS=6034
KIE=6035

KSE=SKIE
KRB=6¢36

TFL=6040
TSF=6041
TCFm6042
TPC=6044
SPIs6045

TLS=6646
HALT=7402

BSWET0@2

*0
304
JMp 1
2
3

sy
a1y, o

A ORIGINAL RELEASE = BRUCE HANSEN

B KL8wK MODIFICATIONS = R, MOORE

C APT-8 INTERFACES = DON RICE

D AIDS P,R, CC 1004 = HEATHER CZIRIA

ON THE APTS8A TEST SYSTEM
/WHEN MULTIPLE DEVICES ARE TO BF. TESTED,

PAL1A

/LOAD THE SELECT
/8=131 AND CLEAR

COUNTER FROM AC BITS
THE AC, THIS IS USED

/70 INITIALIZE TO DEVICE ZERO
/INCREMENT THE SELECT COUNTER

/SET THE FAIL FL
/SELECT COUNTER

AG DESCRIBED BY THE

/CLEAR SELECT COUNTERS AND ALL FLAGS
/SKIP IF FAILURE FLAG DESCRIBED

/RY THE SELECT C

OUNTER IS SET,

/READ SELECT COUNTERS INTO AC BITS 8=11

/RECEIVE IOTS FOR KL8=JA,KA,KB,KC & KD

/CLEAR ALL FLAGS

/CLEAR RECEIVE FLAG,DON®T SET READER RUN F/F
/SKIP ON RECEIVE FLAG

/CLEAR AC AND RECEIVE FLAG AND SET READER RUN
/READ RECEIVE BUFFER AND STATUS

/AC 1131 SET INTERRUPT ENABLE

/AC 11 = @ CLEAR INTERRUPT ENABLE F/F

/AC10=1 SET STATUS WORD ENABLE

/AC19=A CLEAR STATUS WORD ENABLE

/CLEAR AC AND RECIEVE FLAG,SET READER RUN AND

/KEAD RECEIVE BU
/TRANSMIT IOTS F

/SET THE TRANSMI1
/SKIP ON TRANSMI

FFER AND STATUS
OR KLB<JA,KA,KB,KC & KD

T FLAG
T FLAG

/CLEAR THE TRANSMIT FLAG

/LOAD TKANSMIT B
/SKIP IF TRANSMI
/INTERPRUPT ENABL

UFFER AND TRANSMIT
T OR RECEIVE FLAG 1S SET AND
E FLIP/FLOP IS SET

/LOAD TRANSMIT BUFFER,TRANSMIT AND CLEAR TRANSMIT FLAG

/SWITCH REGISTER

/SRO=Y

V142A  26=JAN=7
/8R1s{

/sR281

/5R10%4

/5R11=0

/
/SR11=l
/

/REV1SION D

/FORUSE ON APT=8

SETTINGS
DON®T HALT ON ERROR

9 14101 PAGE 11

LOOP ON ERROR OR DATA PATTERN
LOOP ON TEST SEQUENCE

PROCESSOR NOT A PDP=8E

STARTING ADDRESS 20@ ONLY«SETUP PROGRAM LIMITS
RY WAY OF THE SWITCH REGISTER

STARTING ADDRESS 202 ONLY-SETUP PROGRAM LINITS
BY WAY OF THE TELETYPE(DEVICE CODES OF ©3404)

*29
/THE FOLLOWING 4 LOCATIONS ARE RESERVED FOR USE BY THE APT 8 TEST SYSTEM,
/

A20, a
A2, 4000
A22, [}
A23, []

/

24

/

SAVPNT, @
K2, 2
K115, 115
K117, 117
K33, 33
K37, 37
€17, 77
€177, 177
K377, 377

DEVCOD, 0304
SAVBTS, 0007
BITNO, 0004
DATBIT, 0377
BAUDNO, 2000
XMTDAT, @
XMTDTL, @
ERRFLG, 0
RECDAT, @
LOOPPC, @

SEQ 0019

SEQ 0020



/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST,

165

/KLB=JA &

166
167
168
169
179
171
172
173
174
178
176
177
178
179
180

220

o047
414
en51
0052
9053
0254
2055
0056
@057

o060
Q061
wee62
©¥063
0064
0765
0066
@067
4010
2011
9072
2073
2074
0075
2076
20177
2100
2101
9102
?103
0104

?10%

vee
#0080
72000
0000
[l
1000
@252
#1285
w212

4460
2160
4461
2620
4462
4032
4463
4042
4464
2200
4465
4050
4466
2671
4467
2707
4470
3314
4471
3400
4472
3201
4473
3211
4474
3464
4475
3513
4476
3224
4477
3500
4500
3306
4501
3235
4502
3244
4503
3442
4504
3261
4505
3273

NDELAY, @
CNTL, a
CNT2, ]
TSTCNT, @
SAV2, 0
M19@a, =1000
Kp252, ©#252
Kn125, 0125
K212, 212

LOAD=JMS T
07

XLOAD
DELAY=JMS I

XDELAY
STLPPC=JMS I ,
XPCRET
LoOP=JMS I

XSR2
EHLTLP=JMS I ,

HLTLOP
SWiONEsJIMS I ,

NOTS8

E
TSFSKP=JMS T ,
WATTSF
KSFSKP=JMS 1 ,
WATKSF
LISN=JMS I ,

XLISN
MESAGE=JMS I ,
MESAGX
ONEOCT=JMS I ,
ONEOCK
TWOOCT=JMS I ,
TWOOCK
FOROCTeJMS I ,
FOROCK
PRET1aJMS I ,
XPRNTY
PRNT2=JMS I
XPRNT2
PRNT4mJMS I ,
XPRNT4
SPACE2sJMS I ,
SPACX2
TYPE=JMS I ,
XTYPE
CRLF=JMS T ,
XCRLF
MIOTaJMS I ,
XMIOT
XOR=JMS 1 ,
XORS
YESRNO=JMS T
YESRNX

KL8«KA/KB/KC/KD LOOP BRACK TEST,

9106
@107
¢110
2111
0112
0113
2114
2115
2116
3117
2120

o121
@122
0123
¢124
9125

@200

0201
0202
02¢3
0204
0203
@206
n2a7
0210
2211
2212
0213
0214
@215
216
0217
Q220
0221
9222
0223
0224
0225
4226

4506
3537
4507
3555
4510
3564
4511
3522
4512
3671
4513
3660
4514
4013
4515
4123
4516
3744
4517
4070
4529
4102

2000
72000
4000
0000
22p0

0200
4513

5259
§777°
4517
7012
1710
5776°
4520
4517
3635
4520
4517
3336
1036
08375
3837
1374
1037
3223
4520
n40
1036
9373

RANDOM=JMS T ,
XRAND
SAVGEN=JMS T ,
XSAVGN
RESGEN=JMS I ,
XRESGN
BSWAPEJMS T ,

XBSW
AERRORSJNS T ,
XAERRO
APT8=JMS I ,
XAPTS
TICK=JMS I ,
XTICK
CHEK222JM5 1
XCHK22
NERROR=JMS I ,
XNEPRO
LASEJMS T ,
XLAS
HLT=JMS I ,
XHALT

CLKCNT, ©
count, @
K4oue, 4nve
TEMP, @
K200, 0200

#200

BGNINT, APTS

NOINTR, JMP START

JMp
LAs
RTR
SPA
JMp
HLT
Las
DCA
HLT
LAS
DCA
SETUP, TAD
AND
DCA
TAD
TAD
DCA
HLT/TAD
bCA
TAD
AND

BAUDTM

CLA
TYINTR

DEVCOD

SAVBTS
SAVBTS
3
BITNO
(TAD K37
BITNO
PR3
K37+(X)
DATBIT
SAVBTS
4

PAL1G V1423 26=JAN=T79 14301 PAGE 1=3

PAL1®  V142R  26=JAN=79 14101  PAGE (=2
SEQ@ 0021

/SURROUTINE CALLS

SEQ #4022

/APT ERROR REPORTER,

/TEST FOR APT,

/TEMP STORAGE FOR APT=8

/TEST FOR APT OR

/BEGIN INTERROGATION FOR SETUP

/GO TC START OF TEST NO INTERROGATION REQUIRED

/BAUD RATE TIMING TEST(THE PROGRAM SHOULD HALT IN 32 SECONDS
/LOOK AT SR11 FOR DESIRED TYPE OF INTERROGATION

/PUT BIT 11 INTO ACO

/IF AC1i=1 USE TELETYPE FOR INPUT ,OTHERWISE USE THE SR

/GO TO TELETYPE FOR INTERROGATION

/SET BITS @=5 TO THE RECEIVE IOT AND BITS 6=11 TO TRANSMIT IOT
/GET DEVICE CODE FROM SWITCH REGISTER

/SAVE IT FOR 10T MODIFICATION

/SET PARITY=STATUS<FILLER=BAUD RATE~STOP BITS=AND # OF DATA BITS IN SR
/GET THE SR AND CALCULATE THE RESULTS

/SAVE THEM

/SETUP THE NUMBER OF DATA BITS

/THIS NUMBER=37,77,177,377 FOKk 5,6,7 OR 8 DATA BITS
/SET UP LENGTH OF CHARACTER FROM 4 OF STOp BITS
/TF BIT 9={ 2 STOP BITS3IF & ONLY 1 STOP BIT



/KL8=JA & KLBeKA/KB/KC/KD LOOP BACK TEST,

221
222
223
224
225
226
227
228
229
230
231
232
233
234
238
236
237
238
239
240
244
242
243
244
245
246
247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275

/KLB=JA &

276
271
278
279
280
2814
282
283
284
285
286
287
288
289
290
291
292
293
294
295
296
297
298
299
300
301
362
303
304
308
306
3e7
308
309
310
311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
332

0227
w23
%231
0232
2233
2234
9235
0236
6237
0240
0241
0242
0243
244
0245
9246
0247
92590
9251
0252
0253
0254
0255
9256
0257
0260
@261
7n262
0263
9264
2265
7266

2267
9270

2271
8272
0273
9274
0275
0276
@277
8300
06301
0302
@303
2304
@305

KLB8~KA/KB/KC/KD LOOP BACK TEST,

n306
2307
0310
2311
0312
»313
9314
02315
7”316

0317
9320
9321
9322
@323
6324
n325
2326
9327
9330
0331
0332
0333
0334
0335
9336
2337
2340
7341
2342
V343

0344
0345
0346
0347
f35@
2351
9352
72353
8354
0385
2356
2357
0369
6361
7362

2365
0366
2367

7640
2037
1036
7710
2037
1036
70612
7040
2372
3041
10241
1371
7740
§212
4515
47170°
4520
1035
7012
7910
4503
5241
1635
1006
1004
4503
5352
1367
3001
1366
3002
5271

7240
5400

4460
4462
4465
2545
6007
6031
7410
4464
6041
7410
4464
6045
7410

4464
6001
7000
6002
7710
4464
4516
9273
4463

4462
6030
7410
4464
6040
7410
4464
6041
4464
6042
7410
4464
6041
7410
4464
6031
7610
4464
4516
0320
4463

4462
6040
6041
4464
6007
6041
7410
4464
6031
7610
4464
4516
@345
4463
5765*

0400
72617
5402

START,

INTRET,

CLRRRUD,

KSFd,

TSF@,

sPIQ,

SCXMIT,
KCF@,

TFL®,

TSF1,
TCF?,

TSF2,

Ks¥1i,

CAFXMT,
TFL1,
TSF3,

TSF4,

KsF2,

SZA CLA
182
TAD
SPA
182
TAD
RTR
RAR
AND
DCA
TAD
TAD
SMA
Jmp
CHEK22
JMS
HLT
TAD
RTR
RAR
MIOT
RECPNT
TAD
RTL
RAL
MIOT
XMTIOT
TAD
DCA
TAD
DCA
JMp

CLA

SZA

CLA
JMe 1

LOAD
STLPPC
SW1QNE
ACNSKP
CAF
KsF
S¥P
EHLTLP
TSF
SKP
EHLTLP
SPI
SKP

EHLTLP
ION

xop
10F
SPA
EHLTLP
NERROR

CLRBRD+2

Loop

STLPPC
KCF
SKP
EHLTLP
TFL
SKP
EHLTLP
T8F
EHLTLP
TCF
SKP
EHLTLP
TSF
SKP
EHLTLP
KsF
SKP
EHLTLP
NERROR

SCXMIT+1

Loop

STLPPC
TFL
TSF
EHLTLP
CAF
TSF
SKP
EHLTLP
KsF
SKP
EHLTLP
NERROR

CAFXMT4+4

LooP
JIMP

PAL1O Vi42a 26=JAN=79 14101 PAGE 1=4
SEQ vp23
BITNO /RDD 1 MORE TQ CHAKACTER LENGTH
SAVRTS /DOES IT HAVE PARITY
BITNC /YES BUMP THE CHARACTER LENGTH BY 1
SAVBTS /SET UP FOR BAUD RATE
«7
BAUDNO /SAVE THE BAUD NUMBER POINTER
BAUDNO /1s THE BAUD NUMBER WITHIN LIMITS
(=13
CLA
SETUP=3 /NO,BAUD NUMBER OUT OF BOUNDS GO BACK TO STATUS SETUP
/TEST FOR ACTIVE CONSOLE,
Xcepsw /ASK SWITCH REGISTER QUESTION,
/SET SR TO PESIRED SWITCH SETTINGS
DEvVCOD /GET THE DEVICE CODE
/PUT THE RECEIVE DEVICE CODE IN BITS 3-8
/
/GO MODIFY THE IOTS
/RECEIVE IOT TABLE POINTER
DEvVCOD /GET THE DEVICE CODES
/PUT THE TRANSMIT DEVICE CODE IN BITS 3-8
/
/GO MODIFY THEM
/POINTER TO TRANSMIT IOT TABLE
(JMP T 2 /SET UP INTERRUPT RETURN LOCATIONS
1
CINTRET
2
CLRBRD /G0 START TEST
CMA
[4
/INTALIZE THE MODULE WITH A CAF INSTRUCTION AND CHECK THAT THE
JRECEIVE AND TRANSMIT FLAGS ARE NOT STUCK ON AND THAT KSF/,TSF
/AND SP1 DONT SKIP AND THAT THE INTERRUPT REQUEST LINE
/1s NOT PULLED LOW,
/LOAD TIMING VALUE FOR APT IF REQUIRED,
/SET LOOPING PC FOR TEST AND ERROR LOOPING
/CHECK SR10 TO SEE IF PROCESSOR A PDPe-BE
/PROCESSOR NOT A PDP=8E
/CLEAR THE BOARDeCHECK THE SKIP IOT’S NOT TO SKIP
/SKIP ON RECEIVE FLAG
/FRROR,RECEIVE FLAG SET OR KSF SKIPPED
/SKIP ON TRANSMIT FLAG
/ERROR, TRANSMIT FLAG SET OR TSF SKIPPED
/SKIP IF XMIT/RECEIVE FLAG SET WITH INT ENB,
PAL1O V142A 26=JAN=T79 14101 PAGE 1=5
SEQ 0024

CLA

CLA

CLA

INTXMT

/SPT SKIPPEU OK XMIT/RECEIVE FLAG SET WI1H INT ENB
/CHECK THAT INT REQ IS NOT PULLED BY INT, ENB,
/AND TRANSMIT/RECEIVE FLAG BEING SET

/INT REQ LINE PULLED LOW OR TRANSMIT/RECEIVE FLAG SET

/LOOP IF SR2=1
JCHECK THAT THE TRANSMIT FLAG CAN BE SET AND CLEAKED BY TFL,TSF AND TCF

/SET LOOPING PC FOR TEST AND ERROR LOOPING
/CLEAR RECEIVE FLAG FOR SCOPE LOOPING
/SAFETY SKIP IN CASE KCF SKIPPED

/KCF SKIPPED

/SET THE TRANSMIT FLAG

/SAFETY SKIP TO CHECK TFL NOT TO SKIP
/ERROR, TFL SKIPPED

/SKIP IF TRANSMIT FLAG=1

/TRANSMIT FLAG NOT SET OR TFL FAILED
/CLEAR THE TRANSMIT FLAG

/SAFETY SKIP TO CHECK TCF NOT TO SKIP
/ERROR, TCF SKIPPED

/SKIP ON TRANSMIT FLAG

/ERROR,TCF FAILED TO CLFAR TRANSMIT FLAG
/CHECK T0 SEE IF RECEIVE FLAG GOT SET

/RECEIVE FLAG SET BY SETTING TRANSMIT FLAG

/LOOP IF SR2s}
/CHECK THAT TRANSMIT FLAG CAN BRE CLEARED RY CAF

/SET LOOPING PC FOR TEST AND ERROR LOGPING
/SET THE TRANSMIT FLAG

/SKIP ON TRANSMIT FLAG

/ERROR, TRANSMIT FLAG FAILED TO SET
/CLEAR ALL FLAGS

/SKIP ON TRANSMIT FLAG

/0K FLAG NOT SET

/ERROR,CAF FAILED TO CLEAR TRANSMIT FLAG
/CHECK TO SEE IF RECEIVE FLAG GOT SET
/N0, IT DIDN’T

/ERROR RECEIVE FLAG GOT SET

/LOOP IF SR2s{



/KL8«JA & KLB*KA/KB/KC/KD LOOP BACK TEST,

331
332
333
334
335
336
337
338

339
340
341
342
343
344
345
346
347
348
349
350
351
352
3853
354
355
356
357
358
359
360
361
362
363
364
365
366
367
368
369
370
371
372
373
374
375
376
37
378
379
3ge
381
382
383
384

/KLg8=JA &

385
386
387
388
389
390
394
392
393
394
395
396
397
398
399
400
401
402
4¢3
404
405
406
407
408
409
419
411
412
413
414
415
416
417
418
419
429
421
422
423
424
425
426
427
428
429
430
431
432
433
434
438
436
437
438
439

9376
9371
2372
6373
2374
2375
@376
0377

0400
0404
7402
0403
0404
9408
@406
0407
”2410
2411
2412
2413
0414
0415
2416
0417
0420
2421
0422
7423
0424
2425
2426
0427
0430
7431
0432
9433
2434
0435
0436
2437
0440
0441
0442
0443
0444
2445
0446
2447

6703
7765
0817
0004
1031
e¢03
3000
2264
0400

4462
6039
1300
6035
7410
4464
6040
6041
4464
6045
7410
4464
6001
1000
6002
7710
4464
7001
6035
7610
4464
6041
4464
6045
4464
6001
1000
6002
71700
4464
6042
6041
7410
4464
6045
7410
4464
6001
1000
6002

PAGE

INTXMT, STLPPC

KCF1,
KIE®@,
TFL2,
TSFS,
SPIt,

K1EY,

TSF6,
SPI2,

TCFi,
TSF7,

sp13,

KCF
CLA CLL

CLA

SKP CLA

SMA CLA

EBLTLP
R1:34
SKP
EHLTLP
I0N
Noe
I0F

KLg=KA/KB/KC/KD LCOP BACK TEST,

2459
0481
2452
2453
2454
v455
2456
0457
0460
0461
0462
2463
0464
2465
0466
0467
n476
9471
a472
02473
0474
7475
0476
2477

05090
2501
0502
0503
0504
2505
a5a6
2507
6519
2511
2512
2513
a514
6515
2516
2547
0520
o521
0522
0523
9524
2525
2526
as27
9530

7710
4464
6040
6041
4464
6045
4464
6035
6045
7410
4464
6001
7000
6002
7710
4464
6042
6031
7610
4464
4516
2401
4463
5300

4462
6030
6735
6040
6041
4464
6045
7410
4464
6007
6341
7410
4464
6045
7410
4464
6040
6041
4464
6045
4464
6001
7000
6002
7700

TFL3,
TSF8,

SPI4,

KIE2,
SP1S,

TCF2,
KSF3,

CAFINT,
KCF2,
KIE3,
TFL4,
TSF9,

SP16,

TSF10,

SP17,

TFLS,

TSF11,
SPIR,

SPA CLA
EHLTLP

TFL

T5F

EHLTLP

SsPI

EHLTLP

KIE

SPI

SKP

EHLTLP

ION

NOP

I0F

SPA CLA
EHLTLP

TCF

K§F

SKP CLA
EHLTLP
NERROR
INTXMT+1
LOOP

JMp CAFINT

STLPPC
KCF
KIE
TFL

SMA cLa

PAL1O

PAL1OQ

Vi42A 26=JAN=79 14101 PAGE =6
SEQ 925

/JUSING THE TRANSMIT FLAGeCHECK THAT INTERRUPT ENABLE CAN BE SET
/AND CLEARED AND THAT THE PROGRAM CAN INTERRUPT. INTERRUPT
/ENABLE IS SET AND CLEARED BY DATA BIT 11 AND KIE COMMAND,

/SET LOOPING PC FOR TEST AND ERROR LOOPING
/CLEAR RECEIVE FLAG FOR SCOPE LOOPING

/CLEAR INTERRUPT ENABLE

/SAFETY SKIP TO CHECK KIE NOT TO SKIP
/ERROR, KIE SKIPPED

/SET THE TRANSMIT FLAG

/SKIP ON TRANSMIT FLAG

/TRANSMIT FLAG FAILED TO SET

/SK1P IF INTERRUPT ENABLE AND XMIT FLAG SET,
/0K, INTERRUPT ENABLE NOT SET

/ERROR,INT ENB, SET,FAILED TO BE CLEARED BY KIE
/CHRECK THAT INTERRUPT REQUEST IS NOT PULLED
/INTERRUPT HERE IF SET

/TURN THE INTERRUPT OFF

/PROGRA¥ INTERRUPTED=CHECK INT, ENB,
/SET INT, ENB, WITH DATA BIT {1 AND KIE

/FRROR, KIE SKIPPED

/SKIP ON TRANSMIT FLAG

/ERPOR, TRANSMIT FLAG GOT CLEARED

/SKIP ON INT ENB AND TRANSMIT FLAG

/8P1 FAILED. TO SKIP OR INT ENB NOT SET
/CHECK THAT INTERRUPT REQUEST IS PULLED
/SHOULD INTERRUPT HERE

/TURN IT OFF

/DID IT INTERRUPT?

/FAILED TO INTERRUPT=CHECK XMIT AND INT ENB
/CLEAR THE TRANSMIT FLAG

/CHFCK TO SEE IF IT CLEARED

/1T FAILED TO CLERAR
/SKIP ON INT ENB AND TRANSMIT FLAG

/TRANSMIT FLAG 1S GONE IT SHOULDN’T SKIP
/CHECK THAT IT DOESN’T INTERRUPT

/

/

" Vi42A  26=JAN=79 14101  PAGE 1=7

SEQ ©026

/PROGRAM INTERRUPTED WITHOUT TRANSMIT FLAG

/SET THE FLAG AGAIN

/SK1P ON THE TRANSMIT FLAG

/FLAG FAILED T0O SET

/SKIP ON XMIT AND INT, ENB.

/FATILED TO SKIP ON INT ENB AND XMIT FLAG

/CLEAF INTERRUPT ENABLE WITH KIE AND DATA BIT 11
/SKIP IF INT ENB=z{ WITH XMIT FLAG

/KIE FAILED TO CLEAR INTERRUPT ENABLE
/CHECK THAT THE PROGRAM DOESN’T INTERRUPT

/PROGRAM INTERRUPTED WITHOUT INT ENB
/CLEAR TRANSMIT FLAG
/CHECK TO SEE IF RECEIVE FAG GOT SET

/RECEIVE FLAG SET BY ABOVE CODE

/LOOP ON TEST IF SR2=1

/CHECK THAT CAF WILL SET INTERRUPT ENABLE USING THE TRANSMIT
/FLAG TO SKIP AND INTERRUPT ON,

/SET THE LOOPING PC FOR TEST AND ERROR LOOPING,
/CLEAR RECEIVE FLAG

/CLEAR INTERRUPT FNABLE

/SET THE TRANSMIT FLAG

/SKIP ON THE TRANSMIT FLAG

/FLAG FAILED TO SET

/SKIP ON TRANSMIT FLAG AND INT ENB,

/8PI SKIPPED OR INT ENB IS SET
/CLEAR TRANSMIT FLAG AND SET INT ENBG.
/SKIP IF TRANSMIT FLAG = 1

/CAF FAILED TO CLEAR XMIT FLAG
/SKIP ON TRANSMIT FLAG AND INT ENB,

/8Pl SKIPPED WITHOUT TRANSMIT FLAG

/SET THE TRANSMIT FLAG

/SKIP IF XMIT FLAG 1s SET

/TRPANSMIT FLAG FAILED TO SET

/SKIP ON INTERRUPT ENABLE AND TRANSMIT FLAG
/CAF FAILED TO SET INTERRUPT ENABLE

/CHECK THAT THE PROGRAM WILL INTERRUPT

/GO AND INTERRUPT

/TURN THE INTERRUPT OFF IF IT DIDN'T
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440
441
442
443
444
445
446
447
448
449
450
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465
466
467
468
469
470
471

472
473
474
475
476
477
478
479
480
481
482
483
484
488
486
487
488
489
490
491
492
493

/KL8eJA &

494
495
496
497
498
499
500
501
502
503
504
505
506
507
508
509
510
511
512
513
514
515
516
517
518
519
520
521
522
523
524
525
526
527
528
529
530
531
532
533
534
535
536
537
538
539
540
541
542
543
544
545
546
547
548

SEQ 9027

SEQ w028

9531 4464 EHLTLP /PROGRAM FAILED TO INTERRUPT WITH XMIT AND INT ENB
8532 6042 TCF3, TCF /CLEAR THE TRANSMIT FLAG
w533 6041 TsF12, TSF /SKIP IF TRANSMIT FLAG IS SET
7534 7610 SKP CLA /18 FLAG SET
0535 4464 EHLTLP /FLAG FAILED TO CLEAR
@536 6735 KIE4, KIE /CLEAR INTERRUPT ENABLE
0537 6031 KsF4, KSF /CHECK TO SEE IF RECEIVE FLAG IS SET
a540 7610 SKP CLA
0541 4464 EHLTLP /RECEIVE FLAG GOT SET DURING TEST
0542 4516 NERROR
7543 @501 CAFINT+{
0544 4463 LOOP /LOOP OK TEST IF SR2=1
/THE FOLLOWING TEST CHECKS THE EFFECT OF THE IOT ON THE AC
/AND ALSO CHECKS THAT THE I0TS DON’T SKIP. TPC AND TLS ARE NOT TESTED.

7545 4462 ACNSKP, STLPPC /SET THE LOOPING PC FOR TEST AND ERROR LOOPING
0546 4465 SW1eNE /CHECK TO SEE IF PROCESSOR A PDPSE
9547 0600 KSF5e1 /BOT A PDP=8E GO TO NEXT SUBTEST
a550 7240 CLA CMA /SET AC TO ALL ONE’S
2551 6030 KCF3, KCF /CLEAR THE RECEIVE FLAG
0552 7410  SKP
9553  4777° JMS HLTLPL /ERROR,KCF SKIPPED
0554 7040 CMA /SET THE AC BRACK TO ZEROES
W555 7440 SZA
9556 47767 JMS RLTLP2 /FRRUR,KCF CHANGED THE AC
8557 5775° JMP KSF5e=1

/

/
2575 0600
2576 2241
08771 2217

060¢ PAGE

/
0600 1240 CLA CMA /SET THE AC BACK TO {°S
26@1 6031 KsF5, KsF /SKIP ON RECEIVE FLAG
9602 7410 SKP
0603 4777° JMs HLTLP1 /ERROR,RECEIVE FLAG SHOULD NOT BE SET
0604 7240 CFA /SET THE AC BACK TO ZEROES
2605 7440 SZA
0606 4776° JMs HLTLP2 /ERROR,KSF CHANGED THE AC
2607 7240 CLA CMA /SET THE AC TO ALL 1’s
¥610 6032 Kcce, Kce JCLEAR AC AND RECEIVE FLAG AND SET READER RUN
2611 7410 SKP
0612 477171° JMS HLTLP1 /ERROR, KCC SKIPPED
9613 7440 SZA
2614 4776’ JMSs HLTLP2 /ERROR,KCC FAILED TO CLEAR AC
©v615 1375 TAD (=4 /SET AC TO ALL 1’5 EXCEPT BITS 10 AND 11t
0616 6035 KIES, KIE /CLEAR INTERRUPT AND STATUS ENABLE
2617 7410 SKP
0620 4777° JMS HLTLP1 /ERROR, KIE SKIPPED
2621 1374 TAD 3 /ADD 3 TO AC AND THEN COMPLEMENT IT
0622 7040 CMA
0623 7440 SZA
0624 4776° JMS HLTLP2 /ERROR, KIE CHANGED THE AC
KLB=KA/KB/KC/KD LOCP BACK TEST, PAL1O | Vi42A 26=JAN=T79 143014 PAGE 1~9
0625 7240 CLA CMA /SET THE AC = TO ALL 1°S
0626 6034 KRrRS¢, KRS /READ RECEIVE BUFFER STATIC AND STATUS
2627 7410 SKP
2630 47177° JMs HLTLPY /ERROR, KFS SKIPPED
9631 7040 CMA /SET THE AC BACK TO ZEROES
@632 7440 SZA
0633 4776 JIMS HLTLP2 /FERROF KRS CHANGED THE AC
2634 1177 TAD . [74C0 /SET AC BITS 2-3
0635 6036 KRrB#, KRB /CLEAP AC AMD RECEIVE FLAG AND READ RECEIVE BUF
0636 7410 SKP
0637 4777° JMS HLTLP1 /ERROR, KRB SKIPPED
9640 01717 AND (7400
0641 7440 SZA
0642 4776° JMS HLTLP2 /KRB FAILED TO CLEAR THE AC
@643 4465 SW1@NE /CHECK TO SEE IF PDP=8E
7644 0654 TCF4e=y /PROCESSOR NOT A PDP-BE GO DO NEXT SUBTEST
0645 7240 cLa CHA /SET AC EQUAL TO ALL ONES
2646 6040 TFL6, TFL /SET THE TRANSMIT FLAG
2647 7410 SKP
2650 4777° JMSs BLTLPY /FRROR, TFL SKIPPED
0651 7040 CMA /SET THE AC BACK TO ©
2652 7440 SZA
0653 4776° JMs HLTLP2 /TFL CHANGED THE AC
0654 7240 CLA CMA /SET THE AC TO 1°’S
9655 6042 TCF4, TCF /CLEAR THE TRANSMIT FLAG
0656 7410 SKP
V657 41777° JMSs HLTLP1 /ERROR,TCF SKIPPED
8660 7040 CMA /SET THE AC BACK TO @
2661 7440 SZA
7662 4776° JMS HLTLP2 /TCF CHANGED THE AC
0663 7240 CLA cMa /SET THE AC TO ALL 1’§
v664 6041 TSF13, TSF /SKIP ON TRANSIMIT FLAG
7665 7410 SKP
7666 4777° JKS HLTLP] /TRANSMIT FLAG IS SET
9667 7040 CcrMA /SET THE AC BACK 10 9
9670 7440 SZA
#6714 4776° JMS HLTLP2 /ERROR,TSF CHANGED THE AC
w672 7240 CLA CMA /SET THE AC TO ALL 1°S
0673 6045 SPIS, SPI1 /SKIP IF XMT/REC + INT ENB =1
2674 7410 SKP
26715 4777° JMs HLTLP1 /ERROR,SF] SKIPPED OR XMT/REC AND INT ENB =1
@676 7040 CHA /SET THE AC BACK TO ZERO
@677 7440 SZA
e7¢a  4776° JMS HLTLP2 /FERROR,SP1 CHANGED THE AC
@701 4516 NERROR
#7102 0546 ACNSKP+1
0703 4463 Loop /LCOP ON TEST IF SR2%1

/START OF LOOP BACK TEST

/CHECK THAT THE TRANSMIT FLAG CAN BE SET BY TPC AND THAT DATA
/AVAILIBLE WILL SET THE RECEIVE FLAG, CHECK THAT THE FLAGS CAN
/BE CLEARED BY TCF AND KCC. CHECK THAT THE FLAGS CAN CAUSE AN
/INTERRUPT BY MANIPULATING INTERRUPT ENABLE,
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549
550
551
552
553
554
555
556
587
558
559
560
Se1
562
563
564
565
566
567
568
569
570
571
572
573
§74
575
876
577
578
579
58a
581
582
583
584
585
586
587
588
589
590
591
592
593
594
595
5§96
597
598
599
600
601
602
603
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604
605
606
607

608
. 609

9704
2705
2706
@707
2710
2111
2712
#4713
9714
8715
2716
2717
2720
27214
0722
2723
0724
0725
0726
@727
©730
@738
@732
8733
2734
7735
2736
@737
0740
0741
0742
9743
2744
2745
8746
2747
8750
2751
9752
0753
0754
8755
7756
2757
0760
8764
8762
2763
0764
8765
2766
8767
0779
2771

4462
1176
3047
4461
6035
7610
4464
6032
7610
4464

7610
4464
6001
7000
6002
7710
4464
7301
6035
6045
4464
6001
1000
6002
7700
4464
6035
6645
7610
4464
6001
1000
6002
7710
4464
5773°

STFLGS,

KIE6,

Keel,

TCFS,

KsF6,

TSF14,

TPC?,

KsF7,

SPI16,

KIE7,
SPIl1,

KIE8,
SPI12,

KL8=KA/KB/KC/KD LOOP

2773
9774
2775
2776
0777

1000
1001
1002
1003
1004
10085
1006
1007
1010
1011
1012
1013
1014
1015
1616
1017
1929
1021
1022
1023
1024
1025
1026
1027
1030
1031
1032
1033
1234
1935
1036
1037
104a
1041
1042
1043
1044
1045
1046
1047
1050
1051
1052
1053
1054
1055
1056

1000
2003
1774
2241
2217
1000

6041

4464
6042
6p41
7610
4464
4467
4464
6034
7610
4464
6031
4464
6245
7610
4464
6aa1

7000
6002
7710
4464
7301
6035
6045
4464
6001
7000
6002
7700
4464
6032
6031
7610
4464
6045
7610
4464
6001
1000
6602
7719
4464
6035
7300
4516
#7110
4463

/

PAGE

/
TsF16,
TCF6,

TSF17,
KRS1,

KSF9,
SPI13,

KIE9,
spIl4,

Kcea,
KSF1@,

SPILS,

KIE1@,

STLPPC
TAD
DCA
DELAY
KIE
SKP
EHLTLP
Kee

SKP
EHLTLP
10N
NOP
I0F
SPA
EHLTLP
JMP

[=3720
NDELAY

CLA

CLA

CLA

CLA

CLA

CLA

CLA

CLA

CLA
IAC

CLA

CLA

TSF16

BACK TEST,

)
EHLTLP
10N
NOP
10F
SMA
EHLTLP
KCC
KSsF
SKP
EHLTLP
SPI
SKP
EHLTLP
10N
NOP
I0F
SPA
EHLTLP
KIE
CLA
NERROR

CLA

CLA

CcLA

CLA

CLa

cLa

CLA

CLL

STFLGS+4

Loop

PAL1O

PAL1G

V142h  26=JAN=79 14101  PAGE 1e1@
SEQ 0029

/STORE LOOPING PC FOR TEST AND SCOPE LOOPING
/SET UP A DELAY OF 20PMS TO ALLOW FLAGS TO SETTLE

/WAIT FOR 200M3

/CLEAR INTERRUPT ENABLE

/SAFETY SKIP TO CHECK KIE NOT TO SKIP
/ERROR,KIE SKIPPED

/CLEAR AC AND RECEIVE FLAG AND SET READER RUN
/SRFETY SKIP TO CHECK KCC NOT TO SKIP
/ERROR,KCC SKIPPED

/CLEAR TRANSMIT FLAG

/SAFETY SKIP TO CHECK TCF NOT TO SKIP
/ERROR, TCF SKIPPED

/CHECK THE RECEIVE FLAG TO BE ZERO

/ERROR/RECEIVE FLAG ®1 OR KSF SKIPPED
/SKIP IF TRANSMIT FLAG =i

/ERROR, TRANSMIT FLAG=1 OR TSF SKIPPED

/T.OAD TRANSMIT BUFFER AND TRANSMIT

/SAFETY SKIP TO CHECK TPC NOT TO SKIP

/ERROR, TPC SKIPPED

/WAIT FOR A SECOND FOR TRANSMIT FLAG T0 SET
/FRROR,)TPC FAILED TO SET XMIT FLAG OR TSF FAILED
/CHECK THE RECEIVE FLAG TO STILL BE A @

/RECEIVE FLAG GOT SET TO SOON
/SKIP 1F XMIT/RECEIVE FLAGS1 AND INT ENE SET

/ERROR,SP1 SKIPPED OR INTERRUPT ENABLE SET
/CHECK THE PROGRAM NOT TO INTERRUPT

/ERROR, INT ENB SET OR INT REQ PULLED LOW

/SET INTERRUPT ENABRLE TO A 1

/AC11s1 AND KIE SET INTERRUPT ENABLE

/SK1P IF XMIT/RECEIVE FLAG=1 WITH INT ENABLE
/INTERRUPT ENABLE FAILED TO SET OR KIE FAILED
/CHECK THE PROGRAM TO INTERRUPT

/1T SHOULD INTERRUPT HERE

/TURN IT OFF

/ERROR PROGRAM FAILED TO INTERRUPT WITH XMIT AND INT ENABLE
/SET INT ENB=p WITH AC11=¢ AND KIE COMMAND
/CHECK THAT INT ENB CLEARED BY KIFE

/ERROR, INT ENB FAILED TO CLEAR OR SPI SKIPPED
/CHECK THE PROGRAM NOT TO INTERRUPT

/ERROF PROGRAM INTERRUPTED WITHOUT INT ENABLE

Vi4ZA  26-0AN=T9 14101  PAGE {=11
SEQ 2030

/CHECK THE TRANSMIT FLAG TO STILL = 1
/SOMETHING CLEARED THE TRANSMIT FLAG
/CLEAR THE TRANSMIT FLAG
/SKIP IF TRANSMIT FLAG =1

/ERROR,TCF FAILED TO CLEAR XMIT FLAG

/WAIT FOR ABOUT A SECOND FOR RECEIVE FLAG TO SET

/ERROR,RECEIVE FLAG=0 OR DATA AVAILABLE FAILED TO SET RECEIVE FLAG
/CHECK THAT KRS DOESN’T CLEAR RECEIVE FLAG

/SAFETY SKIP TO CHECK KRS NOT TO SKIP

/ERROR, KRS SKIPPED

/SKIP ON RECEIVE FLAG

/KRS CLEARED RECEIVE FLAG

/SKIP IF XMIT/RECEIVE FLAG AND INT ENABLE=1

/ERROR SP1 SKIPPED OR INT ENABLE=1
/CHECK THE PROGRAM NOT TO INTERRUPT

/PROGRAM INTERRUPT WITHOUT INTERRUPT ENABLE
/SET INT ENB F/F=i

/$KIP IF RECEIVE AND INT ENB=1
/ERROR,SP1 FAILED OR RECEIVE/INT ENB NOT= TO A 1§
/CHECK TFE PROGRAM TO INTERRUPT

JERROR,FAILED TO INTERRUPT WITH INT ENR AND RECEIVE FLAG = A 1
/CLEAR AC AND RECEIVE FLAG AND SET READER RUN
/SKIP IF RECEIVE FLAG =1

/FRROR,KCC FAILED TO CLEAR RECEIVE FLAG
/SKIP IF INT ENB AND RECEIVE FLAG =1

JERROR,SP1 SKIPPED WITHOUT RECEIVE FLAG = 1
/CHECK THE PROGRAM NOT TO INTERRUPT

/INTERRUPTED WITHOUT RECEIVE FLAG SET
/CLEAR INTERRUPT ENABLE

/LOOP ON TEST IF SR2s1
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658
659
660
661
662
663
664
665
666
667
668
669
670
671
672
673
674
675
676
677
678
679
680
681
682
683
68¢
685
686
687
688
689"
69¢
6914
692
693
694
695
696
697
698
699
700
101
702
703
194
705
706
707
708
709
710
711
712

/KLB=JA &

713
714
718
716
717

760
761

766

10587
1060
1061
1662
1963
1064
1065

4462
1176
3047
4461
6032
6042
6031
7610
4464
6041
7610
4464
6044
7200
4466
4464
6031
7610
4464
6046
7200
71610
4464
6041
7610
4464
4467
4464
6036
7610
4464
6031
7610
4464
4466
4464
6042
6041
1610
4464
4467
4464
4517
7010
7012
77090
5343
6032
6431

/

XMTREC,

KCC3,
TCF7,
KsFi1,

TSF18,

TPCY,

KSF12,

TLS®,

TSF20,

KRB,

KsFi4,

TCF8,
TSF22,

KCC4,
KsF16,

STLPPC
TAD
DCA
DELAY
KCC
TCF
KSF
SKP
ERLTLP
TSF
SKP
EBLTLP
TPC
CLA
TSFSKp
EHLTLP
KSF
SKP
EBLTLP
TLS
CLA
SKP
EHLTLP
TSF
SKP
EHLTLP
KsFsKp
EHLTLP
KRB
SKe
EHLTLP
KsF
SKP
EHLTLP
TSFSKp
EWLTLP
TCF
TSF
SKp
EHLTLP
KSFsKp
EHLTLP
LAS
RAR
RTR
SMA
Jmup
KCeC
KSF

[=3720
NDELAY

CLA

CLA

CLA

CLA

CLA

CcLa

cLa

CLA

CLA
o +6

KL8=KA/KB/KC/KD LOOP BACK TEST,

1140
1141
1142
1143
1144
1145
1146
1147
1150
1151

1152
1153
1154
1155
1156
1187
1160
1161
1162
1163
1164
1168
1166

1177

1200
1201
1202
1203
1204
1205
1206
1207

1210
1211
1212
1213
1214
1215
1216
1217

7610
4464
5347
6030
6031
7610
4464
4516
1063
4463

4462
3e42
4460
7129
1042
7004
3042
4717°
4516
1156
4463
5766
1200

1333
1200

4462
7240
0040
3042
4333
4516
1204
4463

4462
3042
7120
1042
7004
3042
4333
1042

KkCF4,
KsF17,

SDTSTY,

/
PAGE
/

SDTST2,

SDTST3,

SKP
EHLTLP
JMP
KCF
KSF
SKP
ENLTLP
NERROR

XMTREC+4

Loop

STLPRC
DCA
LOAD
CLL CML
TAD

STLPPC
CLA
AND
DCA
JMs
NERROR
2
Loop

STLPPC
DCA
CLL CML
TAD
RAL
NCA
JMS
TAD

CLA

o +5

CLA

XMTDAT

XMTDAT

XMTDAT
SLWDAT

CMa

DATBIT
XMTDAT
SLWDAT

XMTDAT
XMTDAT
XMTDAT

SLWDAT
XMTDAT

PAL1Q

PAL1O

V1428 26=JAN=79 14101 PAGE 1=12
SEQ v031

/THE FOLLOWING TEST CHECKS THAT A TPC COMMAND WILL SET THE
/TRANSMIT FI.AG AND THAT A TLS WILL CLEAR THE FLAG AND THEN RESET
/1T, CHECK THAT THE RECEIVE FLAG WILL GET SET FROM A TPC AND TLS
/COMMAND AND THAT IT CAN BE CLEARED BY A KRB AND KCC OR KCF COMMAND

/STORE LOOPING PC FOR TEST AND ERROR LOOPING
/DELAY 200MS FOR SCOPE LOCPING TO LET

/FLAGS SETTLE

/GO DELAY 200MS

/CLEAR AC AND RECEIVE FLAG

/CLEAR THE TRANSMIT FLAG

/CHECK THE RECEIVE FLAG TO BE @

/FECEIVE FLAG STILL = 1 AFTER A KCC COMMAND
/SKIP IF TRANSMIT FLAG = 1

/TRANSMIT FLAG STILL A 1 AFTER A TCF COMMAND
/LOAD TRANSMIT BUFFER AND TRANSMIT

/WAIT FOR THE FLAG TO SET
/FRROR XMIT FLAG FAILED TO SET BY TPC
/CHECK THE RECEIVE FLAG TO STILL BE ©

/RECEIVE FLAG SET TO SOON
/103D TRANSMIT BUFFER AND TRANSMIT AND CLEAR FLAG

/SAFETY SKIP TO CHECK TLS NOT TO SKIP
/ERROR, TLS SK1PPED
/SKIP 1F TRANSMIT FLAG = 1

/FRROR, TLS FAILED TO CLEAR TRANSMIT FLAG

/#AIT FOR RECEIVE FLAG TO SET FROM FIRST XMIT
/ERROR/REC FLAG FAILED TO SET FROM FIRST XMIT
/CLEAR AC AND RECEIVE FLAG AND PEAD RECEIVE BUFF
/SAFETY SKIpP TO CHECK KRB NOT TO SKIP

/ERROR, KRB SKIPPED

/SKIP ON RECEIVE FLAG

/ERROR,KRB FAILED TO CLEAR RECEIVE FLAG

/WAIT FOR TRANSMIT FLAG TO SET FROM 2ND XMIT
/TRANSMIT FLAG FAILED TO SET FROM TLS COMMAND
/CLEAR THE TRANSMIT FLAG

/SKIP IF TRANSMIT FLAG SET

/ERROR, TCF FAILED TO CLEAR FLAG
/WAIT FOR RECEIVE FLAG TO SET FROM TLS COMMAND

/ERROR,RECEIVE FLAG FAILED TO SET FROM 2ND TRANSMIT
/CHECK TO SEE [F PDP=BE

/PDPSE
/CLEAR THE AC AND RECEIVE FLAG
/SKIP IF RECEIVE FLAG = 1§

Vi42A 26=JAN=T79 14301 PAGE 113
SEQ #032

/FRROR, KCC FAILED TO CLEAR RECEIVE FLAG

/CLEAR THE RECEIVE FLAG
/SKIP IF RECEIVE FLAG SET

/ERROR, KCF FAILED TO CLEAR FLAG

/1.00P IF SR2si

/START OF DATA TEST=TRANSMIT 1 WORD AND THEN WAIT FOR THE
/RECEIVE FLAG TO SET

/DATA TEST { « TRANSMIT A ROTATING BIT AND CHECK THAT IT CAME BACK
/STORE LOOPING PC FOR TEST LOOPING

/1OAD TIMING FOR APT IF REQUIRED,
/SET LINK

/AND SHIFT LEFT ONE

/SET TRANSMIT WORD
/GO TRANSMIT AND RECEIVE 1 WORD

/LOOP IF SR2=1

/DATA TEST 2 < TRANSMIT ALL ONES AND CHECK THAT 1°S COME BACK
/STORE LOOPING PC FOR TEST LOOPING

/MASK OUT FOR THE NUMRER OF DATA BITS
/SAVE THE WORD FOR TRANSMITTING
/GO TRANSMIT AND RECEIVE ONE wWORD

/LOQP ON TEST IF SR2=zi
/DATA TEST 3 = TRANSMIT ONES AND ZEROES

/STORE LOOPING PC FOR TEST LOOPING
/SAVE WORD
/SET LINK

/AND SHIFT LEFT

/SET TRANSMIT WORD

/GO TRANSMIT AND RECEIVE ONE WORD
/COMPLEMENT DATA wORD
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767
768
769
170
771
172
773
774
775
776
777
778
779
780

1222
1224
1222
1223
1224
1225
1226
1227
1230
1231
1232

1233
1234
1235
1236
1237
1240
12414
1242
1243
1244
1245
1246
1247
1250

1251
1252
1253
1254
1255
1256
1287
1260
1261
1262
1263
1264
1265
1266
1267
1270
1271
1272
1273
1274
1278
1276
1277
1300

1302
1303
1304
1305
1306
1307
1310
1314
1312
1313
1314
1315

1316
1317
1320
1321
1322
1323
1324
1325
1326
1327
1330
1331
1332

1333
1334
1335
1336
1337
1340
1341
1342
1343
1344
1345
1346
1347

1350
13514
1352
1353
1384
1355

7040
0040
3042
4333
1042
7040
2040
3042
4516
1213
4463

4462
4460
1040
7040
3052
3042
4333
2042
1042
4575
5242
4516
1241
4463

4462
4460
1040
1940
3052
3042
4333
1042
7040
2040
3042
1042
4575
7410
4333
1042
1941
0040
3042
1042
4575
5257
4516
1256

4463

4462
1085
2040

SDTST4,

SDTSTS,

SDTST6,

SPTSTT,

SLWDAT,

KSEQ,

SLWTLS,
KsF24,

TSF32,
TCF14,

SLWREC,
KrB114,

cMA
AND DATBIT
DCA XMTDAT
JMs SLWDAT
TAD XMTDAT
cMA

AND DATBIT
DCA XMTDAT
NERROR
SDTST3+3

LOOP

STLPPC

LOAD

TAD DATBIT
cHA

DCA TSTCNT
DCA XMTDAT
JNs SLWDAT
182 XMTDAT
TAD XMTDAT
JMs 1 [FILCHK
JMP -3
NFRROR

-

Loop

STLPPC

LOAD

TAD DATBIT
cMA

DCA TSTCNT
DCA XMTDAT
Jus SLWDAT
TAD XMTDAT
cMA

anp DATBIT
DCA XMTDAT
TAD XMTDAT

JIMS 1 [FILCHK
SKP

,KA/KB/KC/KD LOOP BACK TEST,

PAL1C

aMs SLWDAT
TAD XMTDAT
CIA
AND DATBIT
PCA XHTDAT
TAD XMTDAT
JMS 1 [FILCHK
aMp SDTST5+6
NERROR
SDTST5+5

PAL1®
Loop
STLRPC
TAD k8252
AND DATBIT
DCA XMTDAT
JMs SLWDAT
TAD K@125
AND DATBIT
DCA XMTDAT
JNS SLWDAT
NERROR
SDTST6+1
LOOP
STLPPC
LOAD
TAD Miero
DCA TSTCNT
RANDOM
TAD XMTDAT
JMs I (FILCHK
JKP =5
Jns SLWDAT
NERROR
=6
LOOP
JMP I [FDATAT
[
CLA CLL CML RTL
KSE
CLA
TAD XMTDAT
TLS
KSF
sKp
Jmp SLWREC
TSF
JNP Y
TCF
Jup SLWTLS+1
cLA cMA
KRB
pCA RECDAT
TAD RECDAT
CIA
TAD XMIDAT

V1824 26=JAN=T9 14101 PAGE 114
SEQ 0033

/SET TRANSMIT WORD
/GO TRANSMIT AND CHECK IT

/LOOP ON TEST IF SR 23}

/DATA TEST 4 = TRANSMIT AND RECEIVE A BINARY COUNT PATIERN
/STORE LOOPING PC FOR TEST LOOPING

/SET UP WORD COUNTER FROM THE & OF DATA BITS

/SAVE IT

/CLEAR THE TRANSMIT WORD

/GO TRANSMIT AND RECEIVE ONE WORD
/INCREMENT THE TRANSMIT WORD

/GO CHECK FILLER CHAR FOR LF IF SELECTED
/FIL 1S SELECTED AND ITS A LF GO GET NEW WORD

/60 GO DO NEXT WORD
/1.0OP ON TEST IF SR2E}

/DATA TEST 5 = TRANSMIT A COMPLEMENTING BINARY COUNT PATTERN

/STORE LOOPING PC FOR TEST LOOPING
/TIMING VALUE FOR APT.
/SET UP WC FROM NUMBER OF DATA BITS

/SAVE IT

/CLEAR THE TRANSMIT WORD

/GO TRANSMIT AND RECEIVE ONE WORD

/SET THE TRANSMIT WORD TO 1T8 COMPLEMENT

/SAVE THE NEW WORD

/GO TRANSMIT AND RECEIVE ONE WORD
/RESET THE WORD BACK AND ADD ONE

Vi42a  26-JAN=79 14101 PAGE 1=15 -
sEQ 0034

/LOOP ON TEST IF SR2=1

/DATA TEST 6 = TRANSMIT A COMPLEMENTING ONE®S AND ZEROES PATTERN

/STORE THE LOOPING PC FOR TEST LOOPING

JMASK OUT FOR NUMBER OF BITS

JSAVE' IT

760 TRANSMIT AND CHECK THE WORD

JGET THE COMPLEMENTING WORD

JMASK OUT FOR NUMBER OF BITS

7SAVE IT

/GO TRANSMIT AND CHECK IT

/PO AGAIN
/LOOP ON TEST IF SR2={

/DATA TEST 7 = RANDOM DATA TEST

/STORE LOOPING PC FOR TEST LOOPING
/TIMING &OR APT

/CHECK FOR FILLER CHARACTERS
/GO TRANSMIT THE RANDOM NUMBER AND CHECK IT

/LOOP ON TEST 1F SR2=}
/SLOW DATA TEST ROUTINE
/SET STATUS WORD ENABLE

/GET WORD TO BE TRANSMITTED
/LOAD AND TPANSMIT AND CLEAR
/SKIP IF THE RECEIVE FLAGel

/GO GET THE RECEIVE WORD
/SKIP IF TRANSMIT FLAG SET

/CLEAR THE TRANSMIT FLAG
/GO WAIT FOR THE RECEIVE FLAG

/READ RECEIVE BUFFER AND CLEAR RECEIVE FLAG
/SAVE THE WORD RECEIVED
/COMPARE THE WORD wITH THE WORD TRANSMITTED



/KL8=JA & KLB-KA/KB/KC/KD LOOP BACK TEST,

877
878
879
880
881
882
883
884
885
886
287
888
889
890
8914
892
893
894
895
896
897
898
899
909
901
902
903
9064
905
906
907
908
969
910
911
912
913
914
915
916
9117
918
919

931

/KL8eJA & KLBeKA/KB/KC/KD LOOP BACK

932
933
934
935
936
937
938
939
940
941
942
943
944
945
946
947
948
949

1356
1357
1360
1361
1362
1363
1364
1365
1366
1367
1370
1371
1372
1373
1374
1375
1376

1400
1401
1402
1403
1404
1405
1406
1407
1410
1411
1412
1413
1414
1445
1416
1417
142¢
1421
1422
1423
1424
1428
1426
1427
1430
1431
1432
1433
1434
1435
1436
1437

1440
1441
1442
1443
1444
1445
1446
1447
1450
1451
1452
1453
1454
1455
1456
1457
1460
1461
1462
1463
1464
1465
1466
1467
1470
1471
1472
1473
1474
1475
1476
1477
1500
1501
1502
15@3
1504
1508
1506
1507

1510
1511
1512

- 1513

1514
1515
1516
1517
1520
1521
1522
1523
1524

7650
5372
4512
5372
4517
7799
5372
1042
74022
7200
1445
1402
4517
7004
7710
5317
5733

1400

4462
4460
1176
3047
1054
30652
3744
4461
6036
7200
6042
4506
1042
4575
5211
1042
6046
6041
5221
5230
6046
6031
5225
5236
4771
1443
4575
5226
1043
5224
7240
6436

3045
1045
7041
1242
76%0
5265
4512
5263
4517
71700
5263
1042
7402
1200
1045
7402
7200
1643
7402

SLOLAS,

SLOLST,

PAGE

FDATAT,

KRB2,
TCF9,

XMIT,
TSF23,

TLS1d,
KSF18,

RECEVE,
KRB3,

UPDATE,

END,

KRB4»
TCF19,

ERRLOP,
KRBS,
TCF11,

TLS1,
TSF24,

TLS2,
FDTLOP,

SNA CLA
JMP SLOLAS
AERROR
JMP SLOLAS
LAS
SMA CLA
JMP SLCLAS
TAD XMTDAT
HALT
CLA
TAD RECDAT
HALT
LAS
RAL
SPA CLA
JMp SLUWTLS=1
JMP 1 SLWDAT
STLPPC
LOAD
TAD (=3720
DCA NDELAY
TAD Miooo
DCA TSTCNT
DCA ERRFLG
DELAY
KRB
CLA
TCF
RANDOM
TAD XMTDAT
JMs 1 [FILCHK
JMpP =5
TAD XMTDAT
TLS
TSF
JMP !
Jmp L5
TLS
KsF
JMP =1
JMP RECFVE
RANDM}
TAD XMTDTL
Jrs 1 [FILCHK
JMP =5
TAD XMTDT1
JMP TLS1A
CLA CMA
KRB

TEST,
DCA RECDAT
TAD RECDAT
CIA
TAD XMTDAT
SNA CLA
JMP UPDATE
AFRROR
JMP UPDATE=2
LAS
SMA CLA
JMP UPDATE=2
TAD XMTODAT
HALT
CLA
TAD RECDAT
HALT
CLA
TAD XMTDT1
HALT
CLA CMA
pCh ERRF LG
Las
RAL
SPA CLA
JMP ERRLOP
TAD XMTDT1
DCA XNTDAT
NERROR
42
JMpP END
TAD ERRFLG
SZA CLA
JHP FDATAT+6
Jmp XMIT+q
KSFSKP
EHLTLP
KRB
TCF
Loop
JrP I (CHARLG
DELAY
KRB
TCF
CLA .
ThD XMTDAT
TLS .
TSF
JMp .1
CLA
TAD XMIDT1
TLS
KSF
JMP o=t

PAL1#Y

PAL1@

V142A 26-JAN=79 14:01 PAGE 1el6
SEQ 0435

/GO GET THE NEXT WORD
/TEST FOR APT ERROR CONDITION
/ACTIVE CONSOLE

/HALT ON ERROR SWITCH SET?
/N0, GO TEST FOR LOOP CONDITION

/GOCD DATA WORD IN AC=WORD TRANSMITTED

/ACERAD DATA WORD=WORD RECEIVED

/CHECK SR1 FOR LOOP ON ERROR

/PUT BIT 1 IN ACO

/L00P?

/YES,GO TRANSMIT AND RECEIVE SAME WORD
/RETURN FOR THE NEXT WORD

JFASTER DATA TEST = TRANSMITeTRANSMIT<RECEIVE=TRANSMIT«RECEIVEeETC

/STORE LOOPING PC FOR TEST LOOPING
/TIMING FOR APT=8

/SETUP A DELAY OF 2¢@ M§ FOR SCOPE LOOPING

/SETUP A TEST LOOP OF 1@@0 WORDS

/CLEAR THE PROGRAM ERROR FLAG

/DELAY 2QUMS

/ISSUE A KRB TO CLEAR ANY RECEIVE FLAG SET

/CLEAR THE TRANSMIT FLAG IF SET
/GENFRATE A RANDOM NUMBER

JCHECK TO SEE IF FILL CHAR OPTION SELECTED

/GO GET NEW WORD,IT wAS A LF AND FILL WAS SELECTED
/GET THE WORD TO TRANSMIT

/TRANSMIT TRE WORD

/WAIT FOR THE FLAG

/GO TRANSMIT ANOTHER CHARACTER,

/WAIT READER FLAG

/GO GENERATE ANOTHER WORD (XMTDT1)

JCHECK TO SEE IF FILL={ AND THAT IT WAS A LF
/YES 1T WAS,GO GENERATE A NEW WORD

/GET THE WORD AND PRINT IT

/

/JREAD THE BUFFER AND CLEAR THE FLAGS

Vi42a 26=JAN=7Y 14301 PAGE 1=17
SEQ 036
/SAVE THE WORD
/GET THE WORD AND COMPARE IT TO THE WORD
/TRANSMITTED

/ARE THEY EQUAL?
/YES,GO CHECK LOOF SWITCH
/REPORT TO APT?
/RCTIVE CONSOLE

/FALT ON ERROR COND1TION

/%0, CHECK FOR LOOP ON ERROR
/GET THE FIRST WORD TRANSMITTED
/AC=THE {ST WORD TRANSMITTED

/
/AC=WORD RECEIVED

/AC=2ND WORD TRANSMITTED IF PROGRAM GOT THAT FAR

/SET ERROR FLAG FOR SCOPE LOOPING
/15 SP1=1:

/1.00P ON DATA PATTERN
/PUT SECOND WORD IN FIRST WORD FOR COMPARISON
/0F NEXT READ

/END OF TEST
/CHECK THE ERRROR FLAG FOR RETURN POINTER

/ERROR GO START TEST OVER
/GO TRANSMIT NEXT CHARACTER AND WAIT FOk RECEIVE

/LAST FLAG FAILED TO SET
/CLEAR THE FLAG

/CLEAR THE TRANSMTT FLAG
/1.:00P ON TEST IF SRi=s}i

/DELAY 200Ms TO ALLOW FLAGS T0 SETTLE
/CLEAR RECEIVE FLAG IF SET
/CLEAR TRANSMIT FLAG IF SET

JGET THE FIRST WORD TU TRANSMIT
JLOAD AND TRANSMIT IT

/WAIT FOR THE FIRST TRANSMIT FLAG
/GET THE SECOND WORD TO TRANSMIT

/LOAD AND TRANSMIT IT
/WAIT FOR THE FIRST RECEIVE FLAG



/KL8=JA & KLBwKA/KB/KC/KD LOOP BACK TEST, PAL1O
987 1525 7240 CLA “CMA
988 1526 6936 KRB6, KRB
989 1527 3045 DCA RECDAT
990 1530 1045 TAD RECDAT
991 1531 7041 CIA
992 1532 1042 TAD XMTDAT
993 1533 7640 SZA CLA
994 1534 5364 JMP XSR1LP
995 1535 6041 TsF25, TSF
996 1536 5335 JMP ol
997 1537 1042 TAD XMTDAT
998 1540 6@46 TLS3, TLS
999 1541 6031 KsF19, KSF

1000 1542 5341 JMp ot

1001 1543 7240 cLA CMA

1002 1544 6036 KRB7, KRB

1003 1545 3045 DCA RECDAT

1004 1546 1045 TAD RECDAT

1005 1547 7041 CIA

1006 1550 1043 TAD XMTDTY

1007 1551 7640 SZA CLA

1008 1552 5364 JHP XSR1LP

1009 1553 6041 TSF26, TSF

1010 1554 5353 JMP 3!

1011 1555 1043 TAD XMTDTY

1012 1556 6046 TLS4, TLS

1013 1557 4517 LAS

1014 1560 1004 RAL

1015 1561 7710 SPA CLA

1016 1562 5323 JMP FDTLOP

1017 1563 5206 JMP FDATAT+6

1918

1019 1564 4517 XSRILP, LAS

1020 1565 7004 RAL

1021 1566 7710 SPA CLA

1022 1567 5310 JMP ERRLOP

1023 1578 5271 Jup UPDATE+4

1024

1029 4771 RANDM1sJMS I .

1026 1571 4133 XRAND1

1027 /

1028 /

1029 1600 PAGE

1030

1031

1¢32

1033

1034

1035

1636 1600 4462 CHARLG, STLPPC

1837 1601 4460 0AD

1038 1602 1240 TAD DATBIT

1039 1603 7040 CMA

1040 1604 3042 DCA XMTDAT

1041 1605 1034 TAD K377
/KL8=JA & KLB~KA/KB/KC/KD LOOP BACK TEST, PAL1G

1042 1606 6046 LSS, TLS

1043 1607 4466 TSFSKP

1044 1610 4464 EHLTLP

1045 1611 6042 TCF12, TCF

1046 1612 4467 KSFSKP

1¢47 1613 4464 EHLTLP

1048 1614 7240 CLA cMp

1049 1615 6036 KRB8, KRB .

1050 1616 3045 DCA RECDAT

1051 1617 1045 TAD RECDAT

1052 1620 @242 AND XMTDAT

1053 1621 745@ SNA

1054 1622 5242 JMp FILERT=3

1058 1623 3043 DCA XMTDTL

1956 1624 4512 AERROR

1057 1625 5236 JMp CHRLAS

1058 1626 4517 LAS

1059 1627 7700 SMA CLA

1060 1630 5236 JMP CHRLAS

1061 1631 1243 TAD XMTDTY

1062 1632 7402 HALT

1063 1633 7200 CLA

1064 1634 1040 TAD DATBIT

1065 1635 7402 HALT

1066 1636 4517 CHRLAS, LAS

1067

1068 1637 7904 RAL

1069 1640 7710 sPa cLA

1070 1641 5204 Jmp CHARLG+4

1074 1642 4516 NERROR

1072 1643 1604 CHARLG+4

1973 1644 4463 LOOP

1074

10675

1076

1077

1078

1079

1080

1081

1082 1648 1036 FILFRT, TAD SAVBTS

1083 1646 7006 RTL

1084 1647 7700 sMA cLaA

1085 1650 5777° JMP STENAB

1086 1651 4462 STLBPC

1087 1652 3047 DCA NDELAY

1088 1653 4461 DELAY

1089 1654 6036 KRE9, KRB

10890 1655 7200 CLA

1091 1656 6042 TCF13, TCF

1092 1657 1376 TAD (=4

1293 166¢ 3043 DCA XMTDT1

1094 1661 1057 TAD K212

1095 1662 0040 ARD DATBIT

1096 1663 3042 DCA XMTDAT

vi42A 26=JAN=T79 14104 PAGE 1=18

SEQ 0037
JREAD THE FIRST WORD
/SAVE THE FIRST WORD RECEIVED
JCOMPARE IT TO THE FIRST WORD TRANSMITTED
JERROR GO CHECK SR1
/WAIT FOR 2ND TRANSMIT FLAG
JGET THE FIRST WORD AGAIN
JLOAD AND TRANSMIT IT
/WAIT FOR SECOND RECEIVE FLAG
JREAD THE SECOND WORD
715 IT EQUAL TO SECOND TRANSMIT
/JERROR,GO CHECK SRim1
JWAIT FOR THE TRANSMIT FLAG
7GET 2ND WORD AND TRANSMIT IT
JUORD AND TRANSMIT
JCHECK SRi=i TO LOOP ON TRANSMIT RECEIVE
JTHE FOLLOWING TEST CHECKS THAT THE NUMBER OF DATA BITS WERE
7SETUP CORRECTLY, TRANSMIT 377 AND TAKE THE 1°5 COMPLEMENT
JOF THE DATA BIT MASK WORD AND CHECK THAT THE AC CAME BACK
/AS ZEROES,
JSTORE THE LOOPING PC FOR ERROR AND TEST LOOPING
JTIMING FOR APT,
JSETUP 1°S COMPLEMENT OF SELECTED DATA
/RIT CHARACTER LENGTH
JSAVE 1T FOR COMPARISON
V1422 26=0AN=79 14161 PAGE 119 T
SEQ 0038

/TRANSMIT 8 BITS OF ONES

/WAIT FOR THE TRANSMIT FLAG TO SET
/TRANSMIT FLAG FAILED TO SET
/CLEAR THE FLAG

/VRIT FOR THE RECEIVE FLAG TO SET
/ERROR,RECEIVE FLAG FAILED TO SET

/READ. THE WORD AND SAVE IT

/TEST FOR LOOP ON TEST
/SAVE THE BITS THAT WEREN®T SUPPOSED TO BE SELECTED

/CONSOLE ACTIVE

/HALT ON ERROR
/80, TEST FOR LOOP ON TEST CONDITON

/ACaBITS THAT WEREN’T SUPPOSED TO BE SELECTED

/
/ACEDATA BITS THAT OPERATOR HAD TOLD THE PROGRAM
/THAT WERE SELECTED

/1:0CP ON ERROR
/LOOP ON TEST 1F SR2=1

/FILLER CHARACTER TEST=DO THIS TEST IF OPERATOR HAS SELECTED

/THE FILLER CHARACTER OPTION, THE PROGRAM TRANSMITS A LINE

/JFEED AND CHECKS THAT 5 RECEIVE FLAGS COME BACK, THE DATA RECEIVED
/SHOULD BE 1 WORD OF LINE FEED AND 4 WORDS OF FILLER CHARACTERS.
/THE PROGRAM ALSO CHECKS THAT THE TRANSMIT FLAG DOES NOT GET SET
JUNTIL ALL THE RECEIVE FLAGS ARE IN,

/CHECK TO SEE IF FILLER CHARACTERS SELECTED

/WAS 1T SELECTED BY THE OPERATOR
/NO0,GO CHECK FOR STATUS ENABLE
/STORE THE LOOFING PC

/SETUP PROGRAM DELAY OF 4@9MS,
/DELAY TO ALLOW FLAGS T0 SETTLE
/CLEAR THE RECEIVE FLAG IF SET

/CLEAR THE TRANSMIT FLAG IF SET

/SETUP A COUNTER TO RECEIVE FOUR FLAGS
/SAVE 1T

/GET LINE FEED

/VASK OUT TO WORD LENGTH

/SAVE IT FOR COMPARISON OF FIRST WORD



/KLB8=JA & KLB8=KA/KR/KC/KD LOQP BACK TEST,

1097
10698
1699
1100
1101
1162
1103
1104
1108
1106
1107
1108
1109
1110
1111
1112

/KLB=JA &

1152
1183
1154
1155
1156
1157
1158
1159
116¢
1161
1162
1163
1164
1165
1166
1167
1168
1169
1170
1174
1172
1173
1174

1175
1176
1177
1178
1179
1180
1181
1182

1664
1665
1666
1667
1670
1671
1672
1673
1674
1675
1676
1677
1700
1701
1702
1703
1704
1705
1706
1707
171¢
1711
1712
1713
1714
1715
1716
17117

L1720

1721
1722
1723
1724
1725
1726
1727
1730
1734
1732
1733
1734
1735
1736
1737
1740
1741
1742
1743
1744
1745
1746

1747
1759
1751

1242
6046
7269
1172
3451
3050
6041
7610
4464
6631
7610
5305
2050
5272
2051
5272
4464
1043
1375
7640
g42
6036
3045
1045
7041
1042
7650
5337
4512
5344
4517
7700
5332
1042
1402
7200
1045
7402
4517
1004
1710
5251
5774°
2043
5267
1172

6041
7610
5357

TLS6,
FILLOP,

TSE28,

KsF21,

KRB16G,

CNTREC,

KsF22,

T5F29,

KLB8=KA/KB/KC/KD LOQP RACK

1752
1753
1754
1755
1756
1757
1769
1761
1762
1763
1764
1765
1766
1767
1770
1774
1772

1773
1774
1775
1776
11717

2000
2001
20e2
2003
2004

2005
2006
20017
2010
2011
2012
2013
2014
2015
2016
2017
2020
2021
2022

2050
5344
2051
5344
4464
6032
1172
3051
6031
7610
5372
2050
5362
2051
5362
4464
5773°

2009
2003
avo4
7774
2095
2009

6032
4516
1657
4463
5205

1036
1004
7700
5333
4462
3047
4461
6036
6042
7346
3043
7001
3042
7326

KCCS,

KsF23,

PAGE

/
KCCé,

FILEXT,

STENAB,

KRB12,
TCF1S,

TAD XMTDAT

™S

CLA

TAD [=100

nCA CNT2

DCA CNT1

TSF

SKP cLA

EHLTLP

KSF

SKP cLA

JNe L +6

157 CNTL

ame =1

1s2 CNT2

amp =11

EHLTLP

TRD XMTDT1

TAD 4

sz CLA

ncA XMTDAT

KRB

Dca RECDAT

TAD RECDAT

CIA

TAD XMTDAT

SHA CLA

JKp CNTREC

AERROR

JMp CNTREC+S

LAS

SMA CL2

JMP CNTREC=5

TAD XMTDAT

HALT

CLA

TAD RECDAT

HALT

LAS

RAL

sPA CLA

Jvp FILERT+4

Jup FILEXT

1s2 XMTDT

JMp FILLOP

TAD (=100

DCA cNT2

DCA cNTY

KSF

SKP cLA

EHLTLP

TSF

SKP cLR

JMp 6
TEST,

152 CNTY

JMp o=

152 cNT2

JMP =11

FHLTLP

KcC

TAD (=100

pCA CNT2

KSF

SKP cLA

JMp Y

152 CNT1

JMp o4

152 CNT2

JMP o6

EHLTLP

JMp KCC6

xce

NERROR

FI1LLOP=16

LOOP

Jmp STENAB

TAD SAVBTS

RAL

SMA cLp

JMp SR4HLT

STLPPC

pea NDELAY

DELAY

KRB

TCF

CLA CLL CMA RTL

DCA XMTDTY

JAC

DCA XMTDAT

CLA CLL CML RTL

PALi1®

PAL1®

V1424 26=JAN=79 14101 PAGE 1-20

SEQ 039
/GET THE LINE FEED CHARACTER
/LOAD AND TRANSMIT 1T
/LO0P TO WAIT FOR THE RECEIVE FLAG AND CHECK XMIT
/SKIP IF TRANSMIT FLAG=1
/FRROR, TRANSMIT FLAG SET=SHOULD GET 4 RECEIVE FLAGS FIRST
/SKIP IF RECEIVE FLAG SET
/EKROR,RECEIVE FLAG NOT SET OR MISSING SOME
/SETUP 10 COMPARE FOR EITHER A L.F, OR FILLER
/#%RS IT THE FIRST CHARACTER
/N0, THEN CLEAR COMPARE WORD FOR FILLER CHAR
/READ THE WORD AND CLEAR THE FLAG
/SAVE IT
/COMPARE THE wORD RECEIVED WITH WORD EXPECTED
/4#ORD COMPARES,GO BUMP RECEIVE COUNTER
/ACTIVE CONSOLE
/HALT ON ERROR?
/M0, CHECK FOR LOOP ON ERROR
/PRESS "CONTINUE" FOR EXPECTED CHARACTER
/ACBWORD EXPECTED X12sLF OR @@00=FIL CHAR,
/GET THE WORD RECEIVED
/AC=WORD RECEIVED SHOULD BE 212 OR 12 OR 800
JCHECK SRi TO LOOP ON ERROR
/LOOP ON THE ERROR
JEXIT THE TEST
/RUMP THE RECEIVE COUNTER
/GO GET THE NEXT RECEIVE FLAG
/CHECK THAT THE RECEIVE FLAG DOESN’T GET SET BEFORE XMIT
/LAST RECFIVE FLAG SHOULDN’T GET SET UNTIL SOME
/TIME AFTER THE TRANSMIT FLAG
/VAIT FOR THE TRANSMIT FLAG TO GET SET
V1422 260AN=T79 14101 PAGE 1=21

SEQ vve

/TRANSMIT FLAG FAILED TO SET AFTER 5 RECEIVE FLAGS
/CLEAR THE FLAG

/LAST RECEIVE FLAG FAILED TO SET

/CLEAR THE RECEIVE FLAG

/GO TRANSMIT ANOTHER FILLER CHARACTER
/LOCP ON TEST IF §R251

/THE FOLLOWING TEST wILL BE EXECUTED ONLY IF THE OPERATER HAS SET
/THE STATUS ENABLE BIT TO A ONE WHEN HE INITIALIZED THE PROGRAN,
/THIS TEST WILL CHECK THAT THE ERROR BIT AND THE OVERRUN BIT CAN

/BPE SET AND CLEARED IN THF STATUS REGISTER.THE TEST WILL ALSO

/CHECK THAT STATUS ENABLE F/F CAN BE SET AND CLEARED, THE RECEIVE
/BUFFER wILL ALSO BE CHECKED TO CONTAIN THE CORRECT WOKD,. THREE
/WORDS WILL BE TRANSMITTED AND THEN THE STATUS AND THE RECEIVE BUFFER
/41LL BE CHECKED,

/CHECK TO SEE IF STATUS ENABLE .WAS SELECTED

/%AS 1T SELECTED BY THE OPERATOR

/10,GO CHECK END OF PROGRAM HALT

/STORE THE LOOPING PC FOR TEST AND SCOPE LOOPING
/SETUP A DELRY OF 40Q9M§

/DELAY TO ALLOW FLAGS 10 SETTLE FOR SCOPE LOOPING
/CLEAR THE RECEIVE FLAG IF SET

/CLEAR THE TRANSMIT FLAG IF SET

/SETUP A COUNT OF 3 TO TRANSMIT 3 TIMES

/SAVE IT

/SET THE FIRST WORD TO BE TRANSMITTED=1
/SET AC BIT 10 TO A 1



/KL8=JA & KLB8=KA/KB/KC/KD LOOP BACK TEST,

1206
1207
1208
1209
1210
1211
1212
1213
1214
1245
1216
1217

1235
1236

1241
1242
1243
1244
1245
1246
1247
1248
1249
1250
1251
1252
1253
1254
1255
1256
1257
1258
1259
1260

/KLg=JA & KLB8=KA

1261
1262
1263
1264
1265
1266
1267
1268
1269
1270
1271
1272
1273
1274
1278
1276
1277
1278
1279
1280
1281
1282
1283
1284
1285
1286
1287
1288
1289
1290
1291
1292
1293
1294
1295
1296
1297
1298
1299
1300
1301
1302
1303
1304
1305
1306
1307
1308
1309
1310
1311
1312
1313
1314
1315

2023
2024
2025
2026
20217
2030
2031
2032
2033
2034
2035
2036
2037
2049
2041
2042

2060
2061

2100

2101
2102
2103
2104
2108
2106
2107
2110

2111
2112
2113
2114
2115
2116
2117
2120
2121
2122
2123
2124
2125
2126
2127
2130
2131
2132

2133
2134
2135
2136
2137
2140
2141
2142
2143
2144
2145

2146
2147
2150
2151
2182
2153
2154
2155
2156
2157

2160

2165

6035
1200
1042
6046
7200
4466
4464
2042
2043
5225
6042
6031
4464
6034
3845
1377
3042
4301
6035
6034
3045
7326
3042
4301
7326
6035
7200
1377
3042
6036
3045
4301
6031
7610
4464
4467
4464
6036
3045
1376
3042
4301
4516
2012
4463
5333

0000
1045
7041
1042
7650
5701
7340
1301

KSE1,

TLSY,

TCF16,
KSF25,

KRS2,

KSE2,
KRS3,

KSE3,

KRB13,

KsF26,

KRB14,

STERR,

KSE

CLA

TAD XMTDAT
TLS

CLA

TSFSKp

EHLTLP

1s2 XMTDAT
1s2 XMTDT1
JMP -7
TCF

KsF

ERLTLP

KRS

DCA RECDAT
TAD (4402
DCA XMTDAT
JMS STERR
KSE

KRS

DCA RECDAT
CLA CLL CML RTL
DCA XMTDAT
JMS STERR
CLA CLL CML RTL
KSE

CLA

TAD (4402
PCA XMTDAT
KRB

DCA RECDAT
JU§ STERR
KSF

SKP CLa
EHLTLP

KSFSKp

EHLTLP

KRB

DCA RECDAT
TAD (3

DCA XMTDAT
JMS STERR
NERROR
STENAB+S

LOOP

JMP SR4HLT
]

TAD RECDAT
CIA

TAD XMTDAT
SNA CL3
JMP I STERR
CLL CLA CMA
TAD STERR

/KB/KC/KD LOOP BACK TEST,

4512
5326
4517
7700
5326
1810
7402
7200
1042
7402
1200
1045
7402
4517
7004
7710
5211
5701

4515
4775°
7000
4517
0374
7650
5346
4515
4773°
4520
57712°

1922
7004
7710
4771°
1524
3121
7240
1124
3011
§772¢

»one
1411
7450
5769
3122
5769

STLAS,

SR4HLT,

BAUDST,

AERROR

Jme STLAS
LAS

SMA CLA

JMP STLAS
TAD 1@
HALT

CLA

TAD XMTDAT
HALT

CLA

TAD RECDAT
HALT

LAS

RAL

SPA CLA
JMP STENAB+4
JMP 1 STERR

CHEK22

JMS XC8PAS
NOP

LAS

AND (200
SNA CLA
JMP BAUDST
CHEK22

JMs XC8PSW
HLT

JMp CLRBRD
TAD 22

RAL

SPA CLA

JMS NEWDEV
TAD I TEMP
DCA CLKCNT
STA

TAD TEMP
DCA 133}
JHp CLRBRD

PAL1#

PAL1?
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/AND TRY TO SET STATUS ENABLE TO A

/GET THE WORD (1,2 OR 3)
/TRANSMIT IT

/WAIT FOR THE TRANSMIT FLAG

/ERROR, TRANSMIT FLAG FAILED TO SET

/BUMP THE WORD TO A 2 THEN 3

/TRANSMITTED 3 WORDS YET

/NO,GO TRANSMIT NEXT WORD

/CLEAR THE TRANSMIT FLAG

/SKIP ON THE RECEIVE FLAG

/ERROR,RECEIVE FLAG FAILED TO SET AFTER 3 XMITS
/D0 A STATIC READ OF STATUS AND RECEIVE BUFFER
/AND SAVE IT

/GET EXPECTED WORD(ERROR=OVERRUN®DATA OF 2)
/AND SAVE IT FOR COMPARISON

/GO CHECK THE WORDS FOR ERRORS

/CLEAR STATUS ENABLE AND CHECK BUFFER FOR A 2
/DO A STATIC READ OF THE RECEIVE BUFFER

/SAVE THE WORD

/SETUP FOR WORD EXPECTED

/SAVE IT FOR COMPRR1SON

/GO CHECK FOR ERRORS

/SET AC BIT 12 T0 A

/RESET STATUS ENABLE

/RESET EXPECTED DATA TO(ERROR<OVERRUN=DATA OF 2)
/D0 A DYNAMIC READ OF STATUS AND RECEIVE BUFFER
/SAVE THE WORD READ FOR COMPARISON

/GO CHECK FOR ERROR CONDITIONS

/CHECK THAT RECEIVE FLAG = @

/ERROR,RECEIVE FLAG SHOULD NOT BE SET YET
/GO WRAIT FOR THE LAST TRANSMITTED CHARACTER
/THE THIRD TRANSMIT DID NOT SET RECEIVE FLAG
/READ THE CHARACTER

/SAVE IT FOR COMPARISON

/SETUP FOR WORD EXPECTED
/GO CHECK FOR ERRORS

/NQ GO DO TEST AGAIN
/LOOP ON TEST IF SR2={
/GO CHECK END OF PROFRAM HALT

/CHECK TO SEE LF ERROR EXIST IN STATUS REGISTER AND RECEIVE BUFFER
/GET THE WORD RECEIVED AND COMPARE IT WITH
/THE WORD EXPECTED

/

/ARE THEY EQUAL?
/YES,CONTINUE TESTING
/ACzey ]
/KSATBLISH ERROR PC

Vi42a 26=JAN=79 14301 PAGE 123

/ACTIVE CONSOLE SELECTED

/HALT ON ERROR

/%0, GO TEST FOR LOOP ON ERROR
/GET,BACK ERROR PC

/ACSPC WERE ERROR WAS DETECTED AT

/CET THE WORD EXPECTED
/ACEWORD EXPECTED

/GET THE WORD RECEIVED

/ACEWORD RECEIVED
/LOOP ON ERROR?

/YES GO LOOP
/NO,GO GET NEXT ERROR

/HALT AT END OF PROGRAM IF SWITCH REGISTER 4 EQUALS A ONE

/PRINT END CF PASS 1F OiN CONSOLE

/SET UP BUAD TABLE,

/JEND OF THE PROGRAM SR4={
/FRESS CONTINUE T0 GO ON

/SPECIAL TESTING BEING DONE
/YES UPDATE DEVICE NUMBER

/GET FIRST CLOCK COUNT,
/SET UP FOR AUTO INDEX,
/EXIT AND CONTINUE PROGRAM

/
/ROUTINE TO LOAD VALUE FOR APT TIMING,

/
XLOAD,

[

TAD I Al
SNA

JMP 1 XLOAD
bCA COUNT

JMP T XLOAD

/GET TIMING VALUE,

/TEST FOR A ZERO,

/THERE 1S ONE, USE SAME VALUE,
/SETUP NEW VALUE,

/EXIT,

SEQ 0041

SEQ 0042



/KL8eJA & KLB«KA/KB/KC/KD LOOP BACK TEST,

1316
1317
1318
1319
1320
1321
1322

1323
1324
1325
1326
1327
1328
1329
1330
1331
1332
1333

1354
1355
1356
1357
1358
1359
1360
1361
1362
1363
1364
1365
1366
1367
1368
1369

/KL8=JA &

137@
1371
1372
1373
1374
1375
1376
13717

2171
2172
2173
2174
2175
2176
2177

2200
2201
2202
2203

2216

2217
222¢
2221
2222
2223
2224
2225
2226
2227
2230
2231
2232
2233
2234
2235
2236
2237

2249

2241
2242
2243
2244
2245
2246
2247
2250
2251

4000
a2711
6703
0200
7244
0003
4402
2200

2000
7240
1200
4512
7410
4517
71700
5212
1010
74062
4517
7904
7710
5446
5600

000
3240
7240
1217
4512
5232
4517
1700
5232
1010
7402
4517
7004
1710
5446
1240
5617

0000

[L1d'd
3240
7240
1241
4512
5254
4517
1700
5254

PAGE

HLTLOP,

HLTLP1,

SAVAC,
BLTLP2,

@

TAD
AERROR
SKP
LAS
SMA
JMP
TAD
HALT
LAS
RAL
SPA
JMP
JMP

-

]
DCA
CLA

TAD
AERROR
JMP
LAS
SMA
JMP
TAD
HALT
LAS
RAL
SPA
JMp 1
TAD
Jup I

2

4

DCA
CLA
TAD
AERROR
JMP
LAS
SMA
JMp

cMaA
HLTLOP

CLA
43
10

CLA
LOOPPC
HLTLOP

SAVAC
CMA
HLTLPY

o *6

CLA
43
10

CLA
LOOPPC
SAVAC
HLTLPY

SAVAC
CMA
HLTLP2

o ¥6

CLA
o 43

KL8«KA/KB/KC/KD LCOP BACK TEST,

2252
2253
2254

2258
2256
2257
2260

2264

2325
2326
2327

1410
7402
7200

1240
7402
4517
1004
7710
5446
5641

1377
3001
1376
3002
1941
1375
3333
1037
7104
1733
3333
4462
1333
3052
1452
3050
2052
1452
3051
6046
6041
5310
5315
6036
7610
6046
6001
6031
1610
5313
6041
5317
2050
5315
2081
5315

BAUDTM,

TLS7,
TSF3¢,

INTCN,
TLS8,
RETINT,

TSF31,

TAD
HALT
CLA

TAD
HALT
LAS
RAL
SPA
JMP
JMP

-

TAD
D

TAD
DCA
TAD
TAD
DCA
TAD
CLL
TAD I
DCA
STLPPC
TAD
DCA
TAD I
DCA
IsZ
TAD 1
DCA
TLS
TSF
JMP

J
KRB
SKP CLA
TLS

10N

KSF
SKP
JMP
TSF
JNP
182
Jrp
1sZ
JMP

1@
SAVAC

CLA
LooPeC
HLTLP2

(JMP T 2
1
(RETINT
2

BAUDNO
(BAUDTS
BOPNTR
BITNO
RAL
BDFNTR
BDPNTR

BDPNTR
TSTCNT
TSTCNT
CNTY

TSTCNT
TSTCNT
CNT2

=1
43

CLA
INTON

INTON+4
CNT)
INTON+2
CNT2
INTON+2

PALLY

PAL1Q
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/INHIBIT ERROR HALT IF SR¢=1 AND LOOP ON ERROR IF SRi=1

/GET THE FAILING PC WHERE THE ERROR WAS DETECTED
/APT ERROR HANDLER,

/ACTIVE CONSOLE

/HALT ON ERROR?

/GET BACK ERROR PC
/AC=FAILING PC WHERE ERROR WAS DETECTED
/LOOP ON THE ERROR?

/ROUTINE USED IN ACNSKP TEST TO SAVE AC FOR FALSE SKIPPING
/SAVE THE AC FOR NON LOOPING PURPOSES

/GET THE FAILING PC WHERE ERROR WAS DETECTED
/REPORT EPROR TO APT=8 SYSTEM

/ACTIVE CONSOLE

/HALT ON ERROR?

/GET BACK ERROR PC
/ACsFAILING PC WHERE ERROR WAS DETECTED
/1OOP ON THE ERROR?

/YES,LOOP ON THE ERROR
/Y¥0,RESET THE AC AND CONTINUE
/RETURN AND CHECK THE EFFECT OF THE 10T ON AC

/THIS ROUTINE USED ONLY WHEN IOT EFFECTS CONTENTS OF AC
/SAVE THE AC FOR ERROR INDICATION

/GET THE FAILING PC WHERE ERROR WAS DETECTED

/

/REPORT ERROR TO APT,
/ACTIVE CONSOLE
/HALT ON ERROR?

V142A 26=JAN=T9 143101 PAGE 125

/GET BACK ERROR PC

/ACSFAILING PC WHERE ERROR WAS DETECTED

/PRESS "CONT" TO GET CONTENTS OF AC AFTEF EXECUTION
/AND COMPARISON OF THE IOT AND AC

/AC=RITS THAT WERE EFFECTED AFTER EXECUTION OF IOT
/LOOP ON THE ERROR?

/YES,G0 LOOP ON THE ERROR
/RETURN AND CONTINUE THE TEST

/RAUD RATE TIMING TEST=LOAD AND START 202 AND WATCH YOUR WATCH
/FOK 3% SECONDS, THE PROCESSOR SHOULD HALT IN 30 SECONDS,IF IT
/DOESN’T CHECK THE BAUD RATE WITH A SCOPE OR CHECK THE BAUD RATE
/SWITCHES

/SETUP FETURN POINTER FOR THE INTERRUPT

/GET THE BAUD RATE

/GET THE ADDRESS OF THE BAUD RATE TABLE
/SAVE THE POINTER TO THE RAUD RATE TABLE
/GET THE CHARACTER LENGTH

/MULTIPLY IT BY 2

/RDD JN BAUD RATE ADDRESS

/MDDRESS OF BAUD RATE CONSTANTS ARE READY TO RE SETUP
/STORE THE LOOPING PC FOR TEST LOOPING
/GET POINTER ADDRESS TO THE CONSTANTS
/SAVE IT IN TEST COUNT

/GET THE FIRST CONSTANT

/BUMB THE ADDRESS BY 1 FOR NEXT CONSTANT

/LORD AND TRANSMIT F1RST CHARACTER=FLAG
/COMES UP ALMOST IMMEADIATELY

/CLEAR THE RECEIVE FLAG

/LOAD AND TRANSMIT NEXT CHARACTER AND CLEAR FLAG
/TURN THE INTERRUPT OWN

/SKIP IF RECEIVE FLAG SET

/FLAG NOT SET,CHECK TRANSMIT FLAG
/PECEIVE FLAG SET,GO CLEAR IT
/SKIP IF TRANSMIT FLAG SET

/NOT SET YET GO WAIT FOR A FLAG
/BUMP THE FIRST COUNTER

/GO TRANSMIT ANOTHER CHARACTER
/FIRST COUNTER OVERFLOWED

/GO DO ANOTHER 4095 INTERRUPTS

SEQ 0043

SEQ 044



/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST,

1425 2330 4520 HLT
1426 2331 4463 Loop
1427 2332 5330 JMP =2

1428 2333 oo0e BDPNTR, ¢
1429

1430

1431 2334 2400 BAUDTB, BR110
1432 2335 2414 BR150
1433 2336 2430 BR30C
1434 2337 2444 BR60Q
1438 2340 2460 BR1200
1436 2341 2474 BR2400
1437 2342 2510 BR480A
1438 2343 2524 BR960Q
1439 2344 2540 B19200
1440 2345 2554 BR568
1444 2346 2570 RR667T
1442 2347 2604 BR1059p
1443

1444

1445 2350 4473 MESTAB, MESS63
1446 2351 4520 MESS68
1447 2352 4545 MESS6C
1448 2353 4572 MESS6D
1449 2354 4617 MESSEE
1450 2355 4645 MESS6F
1451 2386 4673 MESS6G
1452 2357 4721 MESS6H
1453 2360 4747 MESS6I
1454 2361 4776 MESS6J
1485 2362 5024 MESS6K
1456 2363 5052 MESS6L
1457

1458

1459 2364 5145 MESTB1, MES10A
1460 2365 5164 MES10B
1461 2366 5203 MES10C
1462 2367 85222 MES10D
1463

1464

1465 2375 2334
1466 2376 2317
1467 2377 5402

2400 PAGE

1468

1469

1470

1471 2400 7051 BRi1@, =727
1472 2404 7777 -
1473 2402 7143 =635
1474 2403 71117 -1
1478 2404 7221 =557
1476 2405 1117 -1
1477 2406 7266 =512
1478 2407 11M -1

"7 /KLB=JA & KLg=KA/KB/KC/KD LOOP BACK TEST,

1479 2410 7324 454
1480 2411 17117 -1
1481 2412 7355 =423
1482 2413 1117 -1
1483

1484

1488

1486 2414 6575 BR15@, =1203
1487 2415 1117 -1
1488 2416 6715 =1063
1489 2417 171717 =1
1490 2420 7014 164
1491 2424 1177 -1
1492 2422 7076 =702
1493 2423 1117 .1
1494 2424 147 631
1495 2425 7777 -1
1496 2426 7211 =567
1497 2427 1117 -1
1498

1499

1500

1501 2430 5372 BR3lo@, =2406
1502 2431 1117 -1
1503 2432 5633 =2145
1504 2433 71117 -1
1505 2434 6030 =1750
1506 2435 1117 13!
1507 2436 6174 1604
1508 2437 1117 -1
1509 2440 6316 1462
1510 2441 7777 -1
1511 2442 6422 =1356
1512 2443 71117 -t
1513

1514

1515

1516 2444 2765 BR6¢#, =5013
1517 2445 1177 -1
1518 2446 3466 =4312
1519 2447 77117 -1
1520 2450 4060 =3720
1521 2451 7117 -1
1522 2452 4370 3410
1523 2453 17117 -1
1524 2454 4633 ©3145
1525 2455 1777 -1
1526 2456 5044 =2734
1527 2457 171717 -1
1528

1529

1530

1531 2460 5750 BR12¢G, =2030
1532 2461 7776 =2

1533 2462 7153 =625

PAL1Q

'PAL1G
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/TRANSMITTED FOR 30 SECONDS????

/LOOP ON TEST IF SR23%
/JEND OF THE TEST

/POINTERS TO BAUD RATE TABLE

/POINTERS TO BAUD RATE TYPEOUTS

/POINTERS TO DATA BIT TYPEOUTS

/BAUD RATE CONSTANTS FOR 130 BAUD

/17 BITS AT 15,71 CHAR/SEC=471 CHAR/3@ SEC
/8 BITS AT 13,75 CHAR/SEC=413 CHAR/30 SEC
/9 RITS AT 12,22 CHAR/SEC=367 CHAR/30 SEC
/1@ BITS AT {1 CHAR/SEC=330 CHAR/3@ SEC

“V142A 26=JANST79 14101 PAGE l'li

/11 BITS AT 10 CHAR/SEC=3p@ CHAR/30 SEC
/12 BITS AT 9,17 CHAR/SEC=275 CHAR/3@ SEC

/BAUD RATE CONSTANTS FOR 15¢ BAUD

/7 BITS AT 21,43 CHAR/SEC=643 CHAR/39 SEC
/8-BITS AT 18,75 CHAR/SEC=563 CHAR/30 SEC
/9 BITS AT 16,67 CHAR/SEC=500 CHAR/30 SEC
/16 BITS AT {5 CHAR/SEC=450 CHAR/30 SEC
/11 BITS AT 13,64 CHAR/SEC=409 CHAR/3p SEC
/12 BITS AT 12,50 CHAR/SEC®375 CHAR/30 SEC

/BAﬁD RATE CONSTANTS FOR 320 BAUD

/7 BITS AT 42,86 CHAR/SEC®1286 CHAR/30 SEC
/8 BITS AT 37,50 CHAR/SEC=1125 CHAR/30 SEC
/9 BITS AT 33,33 CHAR/SEC=100¢ CHAR/30 SEC
/10 BITS AT 30.09 CHAR/SEC=900 CHAR/30 SEC
/11 BITS AT 27,27 CHAR/SEC=818 CHAR/3¢ SEC
/12 BITS AT 25,90 CHAR/SEC=750 CHAR/3¢ SEC

/BAUD RATE CONSTANTS FOR 600 BAUD

/7 RITS AT 85,71 CHAR/SEC=2571 CHAR/3¢ SEC
/8 BITS AT 75,09 CHAR/SEC=2250 CHAR/30 SEC
/9 BITS AT 66,67 CHAR/SEC=2p90¢ CEAR/39 SEC

/19 BITS AT 60,00 CHAR/SEC=1800 CHAR/3p SEC
/11 BITS AT 54,55 CHAR/SEC=1637 CHAR/3@ SEC

/12 BITS AT 5¢,0¢ CHAR/SEC=15¢2 CHAR/3@ StC

/BAUD RATE CONSTANTS FOR 120Q BAUD

/7 BITS AT 174,43 CHAR/SEC®5143 CHAR/30 SEC

/8 BITS AT 156 CHAR/SEC=4500 CHAR/32 SEC

SEQ »¥45

SEQ 9046



/KLB=JA & KL8=KA/KB/KC/KD LOOP BACK TEST,

1534
1535
1536
1537
1538
1539
1540
1541
1542
1543
1544
1545
1546
1547
1548
1549
1550

1579
1580
15814
1582
1583
1584
1585
1586
1587
1588

/KL8=JA & KLBeKA/KB/KC/KD LOOP BACK TEST,

1589
1590
1591
1592
1593
1594
1595
1596
1597
1598
1599
1600
1604
1602
1623
1604
1605
1606
1607
1608
1609
1610
1611
1612
1613
1614
1615
1616
1617
1618
1619
1620
1621
1622
1623
1624
1625
1626
1627
1628
1629
1632
1631
1632
1633
1634
1638
1636
1637
1638
1639
1640
1641
1642
1643

2463 7776
2464 @140
2465 1777
2466 0760
2467 771717
2470 1467
2471 1117
2472 2110
2473 71177

2474 23720
2475 1715
2476 6326
2477 77718
2509 0277
2501 1776
2502 1737
2503 7776
2504 3156
2508 7776
2506 4217
2507 7776

2510 7640
2511 7772
2512 4654
2513 7773
2514 @575
2515 7774
2516 3675
2517 17174
2520 6332
2521 7774
2522 @436
2523 77715

2524 7477
2525 7765
2526 1530
2527 7767
2530 1371
2531 1717¢

© 2532 1571

2533 7770
2534 4664
2535 7771
2536 1073
2537 7772

2548 7176
2541 7753
2542 3257
2543 7756
2544 2761
2845 17760
2546 7362
2547 71761
2550 1850
2551 7763
25652 2165
2553 1764

2554 7415
25585 17717
2556 7453
25587 177117
2560 7503
2561 7777
2562 7526
2563 7777
2564 7545
2565 7777
2566 7562
2567 1777

2570 7342
2571 717117
2572 7406
2573 1777
2574 7442
2575 1777
2576 7470
2877 1IN
2608 7512
2601 7777
2602 7534
2603 1777

2604 7154
2605 1776
2606 0236
2607 1717
2619 1124
2611 7717
2612 1662

BR2400,

BR48A0,

BR960A,

B1920¢,

BR568,

BR667,

BR105@,

-2
»764¢

=301
=13
=6250
=11
“6407
-10
=207
-1@
=-3114
-7
=6705
-6

=602
=25
=4521
=22
-5017
=20
=416
«17
=6230
=15
~5613
-14

=363
-1
=325

=436
-
=372

PAL1®

PAL1@
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/9 BITS AT 133,33 CHAR/SEC=400@ CHAR/30 SEC
/1@ BITS AT 120 CHAR/SEC=3600 CHAR/30 SEC
/11 BITS AT 189,09 CHAR/SEC=3273 CHAR/3y SEC

/12 BITS AT 19@ CHAR/SEC=3200 CHAR/39 SEC

/EAUD RATE CONSTANTS FOR 2400 BAUD

/7 BITS AT 342,86 CHAR/SEC®=10,286 CHAR/30 SEC
/% RITS AT 3¢0 CHAR/SEC=9009 CHAR/30 SEC

/9 BITS AT 266,67 CHAR/SEC=800@# CHAR/30 SEC
/1@ BITS AT 240 CHAR/SEC=72p@ CHAR/30 SEC

/11 BITS AT 218,18 CHAR/SEC=6545 CHAR/30 SEC
/12 BITS AT 20@ CHAR/SEC=6009 CHAR/30 SEC

/BAUD RATE CONSTANTS FOR 4800 BAUD

/7 BITS AT 685,71 CHAR/SEC=2¢,571 CHAR/3¢ SEC
/8 BITS AT 6@@ CHAR/SEC=18,000 CHAR/32 SEC

/9 BITS AT 533,33 CHAR/SEC=16,0v@ CHAR/3@ SEC
/1@ BITS AT 480 CHAR/SEC=214,400¢ CHAR/30 SEC
/11 BITS AT 436,36 CHAR/SEC=13,091 CHAR/30 SEC
/12 BITS AT 400 CHAR/SEC®1200@ CHAR/30 SEC

/RAUD RATE CONSTANTS FOR 960¢ BAUD

/7 BITS AT 1371,43 CHAR/SEC=41,143 CHAR/39p SEC
/8 BITS AT 1200 CHAP/SEC=36,v0¢ CHAR/39 SEC

/9 BITS AT 1066,67 CHAR/SEC=32000 CHAR/39 SEC
/19 BITS AT 96¢ CHAR/SEC=26,840 CHAR/3@ SEC
/11 BITS AT 872,73 CHAR/SEC=326,182 CHAR/30 SEC

/12 BITS AT 800 CHAR/SEC=24,000 CHAR/308 SEC

V142A 26=JAN=79 14101 PAGE 1-29

/RAUD RATE CONSTA&TS FOR 19,2 KILO BAUD

/7 BITS AT 2742,86 CHAR/SEC=82,286 CHAR/30 SEC
/8 BITS AT 2400 CHAR/SEC=72,000 CHAR/3@ SEC

/9 BITS AT 2133,33 CHAR/SEC=64,0¢0 CHAR/30 SEC
719 BITS AT 1920 CHAR/SEC=57,600 CHAR/3¢ SEC
/11 BITS AT 1745,45 CHAR/SEC=52,364 CHAR/30 SEC

/12 BITS AT 1609 CHAR/SEC=48,n29 CHAR/3v SEC

/RAUD RATE CONSTANTS FOR 56,8 BAUD

/7 BITS AT 8,11 CHAR/SEC =243 CHAR/30 SEC
/8 BITS AT 7,10 CRAR/SEC =213 CHAR/30 SEC
/9 BITS AT 6,31 CHAR/SEC =189 CHAkK/3¢ SEC
/1¢ BITS AT 5,68 CHAK/SEC =170 CHAR/3@ SEC
/11 BITS AT 5,16 CHAR/SEC =155 CHAR/32 SEC
/12 BITS AT 4,73 CHAR/SEC =142 CHAR/3Q SEC

/BAUD RATE CONSTANTS FOR 66,7 BAUD

/7 BITS AT 9,53 CHAP/SEC =286/30 SEC
/8 BITS AT 8,35 CHAR/SEC =258/30 SEC
/9 BITS AT 7,41 CHAR/SEC =222/3v SEC
/1@ BITS AT 6,67 CHAR/SEC =200/3@8 SEC
/11 BITS AT 6,06 CHAR/SEC =182/30 SEC

/12 BITS AT 5,56 CHAR/SEC =167/3@ SEC

/BAUD RATE CONSTANTS FOR 1054 BAUD

/7 BITS AT 150 CHAR/SEC =4500/30 SEC

/8% BITS AT 131,25 CHAR/SEC =3938/30 SEC
/9 BITS AT 116,66 CHAR/SEC =35¢0/3¢ SEC

/1@ BITS AT 105 CHAR/SEC 33150/30 SEC

SEQ 09047

SEG 0048



/KLB=JA & KLB«KA/KB/KC/KD LOOP BACK TEST,

1644
1645
1646
1647
1648
1649
1650
1651
1682
1653
1654
1655

" /KL8=JA &

1699
1704
1704
1702
1703
1704
17@5
1706
1707
1708
1709
1710
1711
1712
1713
1714
1718
1716
1717
1718
1719
1720
1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732

1733
1734
1738
1736
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752

2613 1117 -1
2614 2320 =5460
2618 771717 -1
2616 2677 =5101
2617 71717 =1
2620 0000 XDPELAY, @
2621 7300 CLA CLL
2622 1047 TAD NDELAY
2623 3243 DCA DELAYN
2624 1244 DELLOP, TAD CONjoe
2625 3245 DCA usine
2626 2245 Isz usioe
2627 5226 JMP !
2630 7200 CLA
2631 7200 CLA
2632 7200 CLA
2633 7200 CLA
2634 2243 I1s2 DELAYN
2635 7610 SKP LA
2636 5620 JMP I XDELAY
2637 0620 AND I XDFLAY
2640 0620 AND I XDELAY
2641 09220 AND XDELAY
2642 5224 JMP DELLOP
2643 0000 DELAYN, ¢
2644 7754 CON1Og, =24
2645 o00e0 usien, o0
2646 0000 FILCHK, 9
2647 3270 DCA CHKFIL
2659 1036 TAD SAVBTS
2651 7006 RTL
2652 7700 SMA CLA
2653 5263 JMP 214
2654 1270 TAD CHKFIL
2655 1377 TAD (=12
2656 7450 SNA
2657 5265 JMP ' +6
2660 1376 TAD (=220
2661 7650 SNA CLA
2662 5265 JMp o*3
2663 2246 1s2 FILCHK
2664 5646 JMP T FILCHK
2665 2052 182 TSTCNT
2666 5646 JMP I FILCHK
2667 5646 JMP 1 FILCHK
2674 0200 CHKFIL, @
KL8=KA/KB/KC/KD LOOP BACK TEST,
2671 @000 WATTSF, @
2672 1172 TAD (=100
2673 3051 DCA CNT2
2674 30%0 DCA CNTY
2675 6041 TSF15, TSF
2676 1610 SKP CLA
2677 85305 JMP o+6
2700 20%¢@ 182 CNT1
2701 5275 JMP =4
2792 2051 1s2 CNT2
2703 5275 JHUP -6
2784 5671 JMP I WATTSF
2705 2271 I8z WATTSF
2706 5671 JMP I WATTSF
2707 0000 WATKSF, @
2710 1172 TAD (=120
2711 3051 DCA CNT2
2712 3050 DCA CNT{
2713 6031 KSF8, KSF
2714 7610 SKP CLA
2718 5323 JMP o t6
2716 2050 1sz CNT1
2717 5313 JMP o=é
2720 2051 1s2 CNT2
2721 5313 JMP o6
2722 5707 JMP I WATKSF
2723 23e7 Isz WATKSF
2724 5707 JMP I  WATKSF
/
/
2776 7600
2777 1766
3200 PAGE
3000 4471 TYINTR, MESAGE
3601 4203 MESS{
3002 4473 TWOOCT
3003 5200 JMP =3
3004 4511 BSWAP
3005 3035 DCA DEVCOD
3006 44714 MESAGF
3907 4213 MESS2
3010 4473 TWOOCT
3011 S206 Jup o3
3¢12 1638 TAD DEvVCOD
3e13 3035 DCA DEvVCOD
3014 4471 MESAGE
3015 4224 MESS3
3016 4505 YESRNO
3017 5214 JMP '3
3020 7610 SKP CLA
3p2t 7330 CLA CLL CML RAR

PAL1G

PAL1¢
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/11 BITS AT 95,45 CHAR/SEC =2864/390 SEC
/12 BITS AT 87,5 CHAR/SEC =2625/3@ SEC

/1F FILLER CHARACTER OPTION IS SELECTED~DO NOT TRANSMIT A L,F,
/FILLER CHARACTERS WILL BE CHECKED LATER,.

/WAS FILLER CHARACTER OPTION SELECTED
/BY THE OPERATOR

/NO,EXIT AND TRANSMIT THE CHARACTER

: /CHECK TO SEE IF THE WORD TO BE TRANSMITTED 1S A

/LINE. FEED

© /WAS IT A 12

/WAS IT A 212

/YES IT WAS A LINE FEED
/WORD IS OK,GO TRANSMIT IT

/BUMP TEST COUNTER TO GET RID OF WORD
/GO GET ANOTHER WORD
/GO DO TEST OVER IF LAST WORD IS A LINE FEED
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/ROUTINE TO WAIT FOR TRANSMIT FLAG,
/IF 1T DOESN’T SET IN A SECOND OR SO
/TIMEQUT AND HALT

| /TSF FAILED TO SKIP

/0K, TSF SKIPPED RETURN

/ROUTINE TO WAIT FOR THE RECEIVE FLAG
/IF 1T DOESN’T SET IN A SECOND OR SO
/TIMEOUT AND HALT,

/ERROR,KSF FAILED TO SKIP
/
/O0K,RECELVE FLAG SKIPPED

/INTERAGATION SETUP FOR THE TELETYPE
/TYPE RECEIVE I10T?

/GET RECEIVE DEVICE CODE
/INPUT ERROR

/SWAP IT AROUND TO BITS ©@=5
/SAVE THE RECEIVE DEVICE CODE
/TYPE TRANSMIT IOT

/GET TRANSMIT IOT

/INPUT ERROP

/ADD TRANSMIT 10T TO RECEIVE 10T
/SAVE THE IOTS

/TYPE PARITY(Y OR N)?

/WALIT FOR A YES OR NO

/HOT A Y OR N

/SET NO PARITY BIT

/SET THE PARITY BIT TO A

SEQ 0049

SEQ 0050
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1753
1754
1755
1756
1757
1758
1759
1760
1761
1762
1763
1764
1768
1766
1767
1768
1769
177@
1774
1772
1773
1774

1796
1797
1798
1799
1800
1801
1802
1803
1804
1808
1806
1807

" /KL8=JA &

1808
1809
1810
18114
1812
1813
1814
1815
1816
1817
1818
1819
1820
1824
1822
1823
1824
1825
1826
1827
1828
1829
1830
1831
1832
1833
1834
1835
1836
1837
1838
1839
1840
1841
1842
1843
1844
1845
1846
1847
1848
1849
185¢
1851
1852
1853
1854
1858
1856
1857
1858
1859
1860

1861

3022

" 3023

3924
3025
3026
3027
3030
3031
3032
3033
3034
3635
3036
3037
3040
3041
3n42
3043
3044
3045
3046
3047
3050
3051
3052
3053
3054
3085
3056
3057
3060
3061
3062
3063
3064
3065
3066
3067
30790
3071
3072
3073
3074
3075
3076
3077
3100
3101
3102
3103
3104
3105
3106
3107
3110
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3111
3112
3113
3114
3115
3116
3117
3120
3121
3122
3123
3124
3128
3126
3127
31392
3131
3132
3133
3134
3135
3136
3137
3140
3141
3142
3143
3144
3145
3146
3147
3159
3151
3152
3153
3154
3155
3156
3157
3160
3161
3162
3163

3164
3170
3171
3172
3173
3174
3175
3176
17”7

3036
4471
4236
1036
1710
7001
4475
4471
4241
4505
5231
7610
7332
1036
3036
4471
4302
1636
7004
1710
7001
4475
4474
4306
4508
5250
7610
1377
1036
3036
4471
4326
1036
7006
7710
7001
4475
4471
4400
4471
4440
4473
5267
3364
1364
1376
1740
5267
1364
7106
7004
1936
3036
1036
7012

7010
2375
1374
3320
1720
3320
4471
4473
4471
5100
4505
5321
612
1373
1036
3036
4471
5115
1036
0373
7650
7001
4475
4471
5120
4472
5340
3320
1372
1320
1740
5340
1320
1036
3036
1371
1320
3362
1762
3362
44714
5145
5770°

2000
7215
2364
7775
I
2350
2017
7765
100@
3208

CHGMES,

SAVIT,

PAGE

DCA SAVBTS
MESAGE
MESS3A
TAD SAVBTS
SPA cLa
IAC
PRNT{
MESAGE
MESS4
YESRNO
JMP =3
SKP CLA
CLA CLL CML RTR
TADR SAVRTS
DCA SAVBTS
MESAGE
MESS4A
TAD SAVBTS
RAL
SPA CcLa
IAC
PRNT!
MESAGE
MESS5
YESRNO
JMP 3
SKP CLA
TAD (10v0
TAD SAVBTS
DCA SAVBTS
MESAGE
MESSSA
TAD SAVBTS
RTL
SPA CLA
IAC
PRNT1
MESAGE
MESS6
MESAGE
CMESSé
TWOOCT
JMP o5
DCA SAVIT
TAD SAVIT
TAD (=13
SMA SZA CL2
JMp W12
TAD SAVIT
CLL RTL
RAL
TAD SAVETS
DCA SAVBTS
TAD SAVBTS
RTR

TEST,
RAR
AND 7
TAD (MESTAB
DCA CHGMES
TAD I CHGMES
DCA CHGMES
MESAGE
MESS6A
MESAGF
MESST
YESRNO
Jup W3
SKP CLA
TAD 4
TAD SAVBTS
DCA SAVBTS
MESAGE
MESSTA
TAD SAVRTS
AND 4
SNA CLA
IAC
PRNT1
MESAGE
MESS10
ONEOCT
JMP 3
bCA CHGHMES
TAD (=3
TAD CHGMES
SMA SZA CLA
JMP =10
TAD CHGMES
TAL SAVBTS
DCA SAVBTS
TAD (MESTB1
TAD CHGMES
DCA otd
TAD I ,+3
DCA )
MESAGE
MES10A
JMP SETUP
%]

PAL1D

PAL19
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/SAVE THE PARITY BIT IN STATUS WORD

/TYPE STATUS REGISTER(Y OR N)

/%WAIT FOR A YES OR MO

/NOT A YES OR NO

/N0 STATUS REGISTER SELECTED
/STATUS REGISTER IS SELECTED
/ADD STATUS REGISTER BIT TO WORD
/AND SAVE IT

/TYPE FILLER CHARACTERS(Y OR N)?

/WAJIT FOR A YES OR NO

/NOT A YES OR NO

/K0 FILLER CHARACTERS

/YES,FILLEK CHARACTERS

/aDD THE FILLER CHARACTER BIT TO STATUS WORD
/

/TYPE BAUD RATE(Q¢=13)?

/INPUT A NUMBER FROM 00=13

/INPUT ERROR .

/SAVE THE NUMBER TYPED BY OPERATOR

/%AS THE NUMBER WITHIN BAUD RATE LIMITS

/NOT WITHIN LIMITS GO TYPE MESSAGE OVER
/GET THE NUMBER AND PUT IN SAVBTS

/PUT NUMBER IN BITS 5 6 7 AND 8
/ADD IT TO THE STATUS WORD
/AND SAVE IT
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/TYPE TwO STOP BITS?

/WAIT FOR A Y OR N

/INPUT ERROR

/ONLY 1 STOP BIT

/2 STOP BITS

/ADD THE NUMBER OF STOP BITS
/TO THE STATUS WORD

/TYPE # OF DATA BITS (v,1,2,3)
/VAIT FOR A NUMBER

/NOT A NUMBER

/SAVE THE NUMBER

/18 IT GREATER THAN 3

/YES,TRY AGAIN

/

/ADD IT TO STATUS WORD
/AND SAVE IT

/GO AND CALCULATE 1T

SEQ w©51

SEG 9052
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1862
1863
1864
1865
1866
1867 3200 PAGE
1868
1869 3200 0000 FILLER, @ /SET TO NUMBER OF FILLERS REQUIRED
1870
1871 /INPUT ONE OCTAL NUMBER TO AC 9 THRU 11
1872 /GOOD RETURN IS JMS+2
1873
1874 3201 ovoee ONEOCK, © /CALL BY "ONEOCT"
1875 3202 4470 LISN
1876 3203 00p1 1
1877 3204 3207 43
1878 3205 wneo [
1879 3206 3210 o+2
1880 3207 2201 1s2 ONEOCK
1881 3210 5601 JMP I ONEOCK
1882
1883 /INPUT TWO OCTAL NUMBERS TO AC 6 THRU 11
1884 /GOOD RETURN 18 JMS+2
1885
1886 3211 @000 TWOOCK, 0 /CALL BY "TWOOCT®
1887 3212 420 JMS ONEOCK
1888 3213 5611 JMpP 1 TWOOCK
1889 3214 7104 CLL RAL
1890 3215 7006 RTL
1891 3216 3224 DCA XPRNT2
1892 3217 4201 JMs ONEOCK
1893 3220 5611 JMP I TWOOCK
1894 3221 1224 TAD XPRNT2
1895 3222 2211 152 TWOOCK
1896 3223 5611 JMP I TWOOCK
1897
1898 /PRINT THE TWO OCTAL NUMBERS IN THE AC 6 THRU 11
1899
1900 3224 0000 XPRNT2, @ /CALL BY "PRNT2"
1901 3225 3211 DCA TWOOCK
1902 3226 12114 TAD TWOOCK
1903 3227 7012 RTR
1904 3230 7010 RAR
1908 3231 4475 PRNT1
1906 3232 1214 TAD TWOOCK
1907 3233 4475 PRNTL
1908 3234 5624 JMP I XPRNT2
1909
1910 /TYPE THE ASCII CHARACTER IN THE AC
1911
1912 3235 @000 XTYPE, 0 /CALL BY "TYPE"
1913 3236 6046 TLS
1914 3237 7200 CLA
1915 3240 6041 TSF
1916 3241 5240 JmMp )
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1917 3242 6042 TCF
1918 3243 5635 JMP I XTYPE
1919
1920
1924
1922 /TYPE A CR AND LF WITH NUMBER OF FILLERS
1923 /ASs DETERMINED BY LOCATION "FILLER"
1924
1925 3244 0oe0 XCRLF, o /CALL BY "CRLF"
1926 3245 7200 CLA
1927 3246 1260 TAD K218
1928 3247 4501 TYPE
1929 3250 1200 TAD FILLER
1930 3251 7040 CMA
1934 3252 3261 DCA XORS
1932 3253 1087 TAD K212
1933 3254 4501 TYPE
1934 3255 2261 1sZ XORS
1935 3256 5254 JMP =2
1936 3257 5644 JHP 1 XCRLF
1937 3260 0215 K215, 0215
1938
1939 /PERFORM THE XOR OF THE AC AND THE CALL+t
1940 /RETUKN TO CALL+2
19414
1942 3261 0000 XORS, @ /CALL BY "XORY
1943 3262 3273 DCA YESRNX
1944 3263 1273 TAD YESRNX
1945 3264 0661 AND I XORS /IN BRIEF, TAD THE TWO
1946 3265 7041 CIA /NUMBERS THEN SUBTRACT
1947 3266 7104 CLL RAL /THE CARRIES TO PRODUCE
1948 3267 1273 TAD YESRNX . /A HALF ADD (XOR)
1949 3276 1661 TAD 1 XORS
1950 3271 2261 1s2 XORS
1951 3272 5661 JHP I XORS
1952
1953 /LOOK FOR "Y" OR "N" INPUT
1954
1955 3273 00w YESRNX, @ /CALL BY "YESRNO"
1956 3274 4470 LISN /INPUT ONE CHARACTER IF AC=9
1987 3275 7447 ="y
1958 3276 3303 W ¥5 /RETURN TO CALL+3 IF ny®
1959 3277 7462 ="N
1960 3300 3304 oté /KETURN TO CALL+2 IF "N"
1961 3301 @09 a
1962 3302 3305 43 /RETURN TO CALL+1 IF NEITHER
1963 33ed 2213 1s2 YESRNX
1964 3304 2273 1s2 YESRNX
1965 3305 5673 JMP 1 YESRNX
1966
1967 /PRINT 2 SPACES
1968
1969 33p6  edee SPACX2, @ /CALL BY "SPACE2"
1970 3307 4471 MESAGE
1974 3310 3312 t2

SEQ 0053

SEQ v@54
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1972
1973
1974
1975
1976
1977
1978
1979
198¢
19814
1982
1983
1984
1985
1986
1987
1988

2005
2006
2007
2008
2009
2010
2011
2012
2013
2014
2015
2016
2017
2018
2019
2020
2021
2022
2023
2024
2025
2026

/KLB=JA & KL8=KA/KB/KC/KD LOOP BACK

2027
2028
2029
2030
2031
2632
2033
2034
2035
2036
2037
2038
2039
2040
2041
2042
2043
2044
2045
2046
2047
2048
2049
2050
2051
2052
2053
2054
2055
2056
2057
2088
2059
2060
2061
2062
2063
2064
2065
2066
2067
2068
2069
2070
2071
2072
2073
2074
2078
2076
2077
2078
2079
2080
20814

3311
3312
3313

3362
3363
3364
3365
3366
3367
3370
3371t

3372
3373
3374

3400
3401
3402
3403
3404
3408
3406
3407
3410
3411
3412
3413
3414
3415
3416
3417
3420
3421
3422
3423
3424
3425
3426
3427
3432
3431
3432
3433
3434
3435
3436
3437
3440
3441

3442
3443
3444
3445
3446
3447
3450
3451

5706
4e49
0010

0000
7640
5340
6031
5317
6036
7372
1125
3706
1706
1373
7450
5334
1374
7640
5316
4502
5340
1706
4501
1714
2314
7450
5351
7500
5361
1796
7640
5356
5N
1714
3314
1571
5714
7200
2314
5340
7200
1706
1367
7500
5356
1313
7510
5356
§351

f177
7566
7775
”17e
3400

Kia,

JMP I SPACX2

4040
@010

FAL1O
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/USED BY LISWN

/COMPARE INPUT TO LIST FOLLOWING CALL
/INPUT ONE CHARACTER IF AC=0

/USE LAST INPUT IF AC NON ZERO

XLISN, @
SzA CLA
JMp 1LISNg
KSF
JMP =1
KRB
AND K177
TAD K200
DCA T  LISNTY
TAD I  LISNT
TAD M212
SNA
JMP oté
TAD M3
SZA CLA
JMP o+3
CRLF
JMP LISNg
TAD I  LISNTY
TYPE
LISNg, TAD I  XLISN
182 XLISN
SHA
JMp LISN3
SMA
Jmp LISNUM
TAD I LISNTY
SZA CLA
JMP LISN2
LISN3, DCA I [XPRNT1
TAD I  XLISN
DCA XLISN
TAD I [XPPNTY
JMP I XLISN
LIsN2, CLA
182 XL1SN
JMP LISNg
LISNUM, CLA
TAD I  LISNTY
TAD M270
SMA
JMP LISN2
TAD K1@
M27¢,  SPA
JMP 1.ISN2
JNP LISN3
TEST,
K177, 0177
M212, 7566
M3, 71718
LISNT1=[SPACX2
PAGE

PAL1G

/CALL BY "LISN"
JUSE LAST INPUT SINCE AC NOT ZERO

/15 IT A LF?
/YES

/1S IT A CR?
/N0

/PRINT THE CHARACTER
/GET COMPARE VALUE

/EXIT?
/YES

/LOOK FOR OCTAL NUMBER
/COMPARE

/FQUAL?
/N0

/AC IS ZERO UWNLESS OCTAL NUMBER

/LOOK FOR OCTAL NUMBER

/1S IT LESS THAN 8?7
/NO, SO NOT AN OCTAL NUMBER

/1S 1T GREATER THAN ZERO?
/N0, SO NOT A NUMBER
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/PRINT PACKED ASCII TEXT TERMINATED BY
/SIX*RIT €9

MESAGX,

MESAGF,

K77,
M43,
K3,
K100,
K242,

/MODIFY
xM10T,

)

CLA

TAD I MESAGX
DCA FOROCK
152 MESAGX
TAD I FOROCK
RTR

RTR

RTR

JMS MESAGF
TAD I FOROCK
JMs MESAGF
182 FOROCK
R =10

0

AND K77
SNA

JMP I MESAGX
TAD M43
SNA

Jrp )
TAD K3

SPA

TAD K100
TAD K240
TYPE

JMP 1 MESAGF
CRLF

JUP I MESAGF
0077

7735

nee3

0100

a240

DEVICE CODE FOR A LIST O
Q

ARD
DCA
TAD I
182
DCA
TAD I
SNA

K170
MESAGX
XM10T
XMroT
FOROCK
FOROCK

/CALL BY "MESAGE"

/SET UP RETURN

/TERMINATOR (40)7?
/YES

/CRLF?
/YES

/209 OR 309
/300
/200

F I0T ADDRESSES

/CALL BY "MIOT"

/GET NEXT ADDRESS
/END OF LIST? (ZERO)

SEQ 0055

SEW 0@56
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SEQ 0057

2082 3452 5642 : JWP I XMIOT /YES
2083 3453 3300 DCA XPRNT4
2084 3454 1700 TAD I  XPRNT4 /GET 10T
2085 3455 0263 AND K707 /REMOVE OLD DEVCIE CODE
2086 3456 1200 TAD MESAGX /ADD NEW DEVICE CODE
2087 3457 3700 DCA I  XPRNT4 /PUT BACK 10T
2088 3460 2264 1s2 FOROCK
2089 3461 5250 JMP et
2090
2091
2092
2093 3462 @770 K770, 9770
2094 3463 7ee7  K7007, 17007
2095
2096 /INPUT 4 OCTAL NUMBERS TO AC
2097 /600D RETURN IS CALL+2
2098
2099 3464 0Pg0  FOROCK, @ /CALL BY "FOROCT®
2100 3465 4473 _THOOCT
2101 3466 5664 JWP I FOROCK
2102 3467 7106 CLL RTL
2103 347¢ 7006 RTL
2164 3471 1006 RTL
2105 3472 3300 DCA XPRNT4
2106 3473 4473 TWOOCT
2107 3474 5664 J¥P I  FOROCK
2108 3475 1300 TAD XPRNT4
2109 3476 2264 152 FOROCK
2118 3477 5664 JMP I FOROCK
2111
2112
2113 /PRINT FOUR OCTAL FUMBERS IN AC 1{ THRU @ FOLLOWED
2114 /BY THO SPACES
2115
2116 3500 0p@@  XPRNT4, © /CALL BY "PRNT4®
2117 3581 3264 DCA FOROCK
2118 3502 1264 TAD FOROCK
2119 3503 7012 RTR
2120 3504 7012 RTR
2124 3se5 7012 RTR
2122 3506 4476 PRNT2
2123 3507 1264 TAD FOROCK
2124 3510 4476 PRNT2
2125 3511 4500 SPACE2
2126 3512 5709 JMP I XPRNT4
2127 /
2128 /PRINT THE OCTAL NUMBER IN AC 9 THRU 11
2129 3513 0000  XPRNTi, 0 /CALL BY "PRNT1"
2130 3514 0320 AND K7
2131 3513 1321 TAD K260
2132 3516 4501 TYPE
2133 3517 5713 JMP 1 XPRNT1
2134 3520 @007 K7, 2007
2135 3521 0260 K260, 0260

2136 /
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8 [

2131 /SWAP BITES IN THE AC, PRESERVE THE LINK
2138 /
2139 3522 @pee  XBSW, © /CALL BY "BSWAP"
2148 3523 3337 DCA XRAND
2141 3524 7012 RTR
2142 3525 7012 RTR
2143 3526 7012 RTR
2144 3527 1337 TAD ¥RAND
2145 3530 0336 AND K1700
2146 3531 1337 TAD XRAND
2147 3532 7006 RTL
2148 3533 7006 RTL
2149 3534 7006 RTL
2150 3535 5722 JMP I XBSW
2151 3536 7780 K770¢, 1700
2152
2153
2154 /GENERATE RANDOM NUMBER
2158 /EXIT WITH NUMBER IN AC
2156
2157 3537 @600 XRAND, @ /CALL BY "RANDOM"
2158 3540 7301 CLA CLL IAC
2159 3541 1373 TAD RAN1
2160 3542 1374 TAD RAN2
2161 3543 7106 CLL RTL
2162 3544 3373 DCA RAN1
2163 3545 1374 TAD RAN2
2164 3546 1012 RTR
2168 3547 1373 TAD RANY
2166 3550 3374 DeA RAN2
2167 3551 1374 TAD RAN2
2168 3552 0040 AND DATBIT JMASK CHAR FOR 1/0
2169 3553 3042 DCA XMTDAT /8TORE
2170 3554 5737 JMP 1 XRAND
2171
2172 /SAVE RANDOM
2173 /GENERATOR PRIMES
2174
2175 3555 @00 XSAVGN, @ JCALL BY "SAVGEN"
2176 3556 7200 CLA
2177 3557 1373 TAD PANY
2178 3560 13375 DCA SAV1
2179 3561 1374 TAD RAN2
2180 3562 3053 DCA SAV2
218y 3563 5755 JHP T XSAVGN
2182
2183 /RESTORE RANDOM
2184 /GEWERATOR PRIMES
2185
2186 3564 000@  XRESGN, © /CALL BY "RESGEN"
2187 3565 7200 cLA
2188 3566 1375 TAD sAvy
2189 3567 3373 DCA RANY
219¢ 3570 1053 TAD sav2

2191 3571 3374 DCA PAN2
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2192 3572 5764 JMP 1 XRESGN

2193 3573 1234 RANY, 1234

2194 3574 5670 RAN2, 5670

2195 3575 oune SAVL, 4

2196

2197 /

2198 3600 PAGE

2199 /

2200 /ROUTINE TO DETERMINE IF ON APT=8 TEST SYSTEM,

2201 /1F ON APT=8 NO HALTS WILL BE RECOGNIZED AND ALL PERTINENT INFORMATION

2202 /WILL BE CONTAINED IN ADDRESSES 2¢ AND 22,

2203 /

2204 1600 0000 XAPTE, @

2205 3601 1022 TAD 22

2206 3602 7104 CLL RAL

2207 3603 7520 SMA SNL /ON APT8 OR MULTIPLE OPTION TESTER

2208 3604 5210 JMP ONAPT=3 /NO, GO CHECK FOR CONSOLE,

2209 36065 7719 SPA CLA /SKIP IF NOT ON TESTER

2210 1606 5216 JMP ONAPT+3

2211 3607 5213 JMP ONAPT /THE PROGRAM IS RUNNING UNDER NORMAL

2212 /APT CONFIGURATION

2213 3610 4515 CHEK22 /TEST FOR CONSOLE

2214 3611 5777° JMe SETUP=7 /YES

2215 3612 5776° JMP BGNINT+3 /NO,

2216 3613 1020 ONAPT, TAD 20 /GET DEVICE CODE TO USE,

2217 3614 7440 SZA /TEST TO SEE IF A DEVICE CODE IS THERE

2218 3615 3035 DCA DEVCOD

2219 3616 1022 TAD 22 /GET ADDRESS 22

2220 3617 @375 AND (10ea /AND ISOLATE

2224 3620 7104 CLL RAL /STATUS ENABLE BIT2

2222 3621 3410 DCA 10 /AND PRESERVE

2223 3622 1022 TAD 22 /GET ADDRESS 22

2224 3623 0125 AND K2e0 /AND ISOLATE

2225 3624 7006 RTL /FILLER CHARACTER BIT 4

2226 3625 1010 TAD 10 /COMBINE WITH STATUS ENABLE

2227 3626 3010 DCa 10 /R1T AND PRESERVE FOR SAVBTS,

2228 3627 1e21 TAD 21 /GET PARITY BIT

2229 3630 0374 AND (2000 /ISOLATE PARITY BIT

2230 3631 7104 CLL RAL

2234 3632 1710 TAD 10

2232 3633 3010 DCA 10 /STORE PARITY,;STATUS,AND

2233 /FILLER CHARACTER INFORMATION,

2234 3634 1022 TAD 22

2235 3635 0933 ARD €177 /1SOLATE BAUD RATE AND DATA BITS,

2236 3636 1010 TAD 10 /GET BACK OTHER,

2237 3637 3036 DCA SAVRTS /STORE IT FOR THE PROGRAM USE.

2238 3640 1022 TAD 22 /SET ADDRESS 22 TO INDICATE APT,

2239 3641 2373 AND (6000 /1SOLATE APT FEATURE SECTION OF WORD

2240 3642 3022 DCA 22

2241 3643 1036 TAD SAVBTS

2242 3644 7010 RAR

2243 3645 7012 RTR

2244 3646 0372 AND 17 /1SOLATE BAUD RATE

2245 3647 3924 DCA SAVPNT

2246 3658 1024 TAD SAVENT /GET BAUD RATE POINTER,
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2247 3651 1371 TAD (TABLE1 .

2248 3652 3124 DCA TEMP /TEMP STORAGE FOR TIMING

2249 3653 1524 TAD I TEMP /GET POINTER,

2250 3654 3271 DCA XAERRO /STORE FOR FUTURE USE,

2251 3655 1271 TAD XAERRO /GET POINTER

2252 3656 3124 DCA TEMP /AND STORE FOR USE BY PROGRAM,

2253 3657 7240 STA /SET AC TO =1 FOR AUTO INDEX,

2254 3660 1271 TAD XAERRO /GET BACK POINTER

2255 3661 3A11 DCA ALl /STORE VALUE

2256 3662 1671 TAD I XAERRO /GET VALUE

2257 3663 3121 DCA CLECNT /STORE FOR APT,

2258 3664 10822 TAD 22

2259 3665 7004 RAL

2260 3666 7710 SPA CLA /SPECIAL FEATURES EMABLED?

22614 3667 6370 APTIOQ /YES, INITIALIZE TO DEVICE ZEPRO

2262 3670 5770° JMP SETUP /NOW RUN PROGRAM SKIPPING

2263 /INITIAL INTEROGATION,

2264 /

2265 /

2266 /ROUTINE TO REPORT ERROR TO APT=g IF REGUIRED,

2267 /ONLY THE ERROR PC WILL BE ESTABLISHED,

2268 /

2269 3671 ongn XAERRO, @

2270 3672 7440 SZA /WAS ERROR IN THE AC, SKP IF NO

22714 3673 5276 JMP o*3

2272 3674 7240 STA /ACe=1

2273 3675 1274 TAD XAERRO /ESTABLISH PC

2274 3676 3¢10 DCA 10 /SAVE 1T

2275 3677 1822 TAD 22 /GET HCW2

2276 3707 7904 RAL

2277 3701 7520 SMA SNL /SKP IF ON APT OR MULTIPLE

2278 3702 5324 JMP EXIT /WAS NEITHER EXLIT ROUTINE,

2279 3703 6002 I0F /DISARLE INTERRUPT

2280 3124 1700 SMA CLA /MULTIPLE QPTION SELECTED?

2281 3705 5316 JMP APTCHK /%0, NOW GO TEST FOR APT

2282 3706 6372 AFTIO2 /SET FAIL FLAG

2283 3787 7420 SNL /SKP IF ON APT

2284 3710 5314 JMP ot4

2285 3711 4517 LAS /GET SWITCHES

2286 3712 1110 SPA CLA /SKIP IF NOT GOING TO PROM

2287 3713 8320 JMP GOTOUV /GO TO PROM

2288 3714 4767° JMS NEWDEV /GET THE NEXT DEVICE

2289 3715 5766° JMP CLRBRD /AND START OVER

2290 /

2291 3716 7420 APTCHK, SNL /SKP IF ON APT

2292 3717 5324 JMP EXIT /NOT ON APT

2293 /

2294 3720 1010 GOTOUV, TAD 10 /GET BACK ERROR PC

2295 3721 6272 CIF 70 /SET FIELD TO UV PRO¥ (7)

2296 3722 5743 Jmp 1 K6520 /GO TO PROM

2297 3723 5323 JMP N /SOMETHING WENT WRONG

2298 / .

2299 3724 7300 EXIT, CLL CLA

2300 3725 4535 CHEK22 /TEST FOR ACTIVE CONSOLE

23e1 3726 7410 SKP /CONSOLE ACTIVE,

SEQ 0059

SEG 9060



/KLB=JA & KLB=KA/KB/KC/KD LOOP BACK TEST,

2302
2303
2304
2305
2306
2307
2308
2309
2310
2311
2312
2313
2314
2315
2316
2317

2349

2350
2354
2382
2383
2354
2355

3727
3730
3731
3732
3733
3734
37358
3736
3737
3740
37414
3742
3743

3744
3745
3746
37147
3750
3751
37%2
3753
3754
3758
3756
3757
3760
3761
3762

3763

3764
3765
3766
3767
3770
3771
37172
3773
3774
3778
3776
3

4000
4001
4002

5341
4517
7710
5341
4471
4200
10810
4477
4765°
5671
2271
5671
6520

0000
1744
3363
2344
4514
4515
7410
5360
6031
5360
6036
4764°
2052
5763
5744

veoo

6600
6703
f271
4000
@215
5500
0017
6000
2000
1000
8203
2206
4000

2000
6007
1020

JMP

Ke520, 6520
/

/ROUTINE TO LOOP ON NO ERROR FOR THE DESIRED NUMBER OF TIMES,
/THIS ALSO CONTAINS THE APT TIMING SEECTION,

/
XNERRO, @
TAl

DCA
1s2

DI

TICK
CHEK22

SKP
JMP
KSF
JMP
KRB
JMS
1s2
Jme
JMP

/
RETURN, #
/
/

PAGE

I
I

o*12

o+7

10

XCapPSW
XAERRO
XAERRO
XAERRO

XNERRO
RETURN
XNERRO

5
ot3

XC8CNT
TSTCNT
RETURN
XNERRO

PAL1®

Vi42a 26=JAN=79 14101

/HALT ON ERROR SELECTED?
/NO, TAKE EXIT,

/PRINT PC=

/GET BACK ERROR PC
/PRINT IT

/ASK SR QUESTION

/GET TEST TO LOOP OM

/STORE FOR RETURN,

/UPDATE RETURN,

/APT TIMING

/CONSOLE ACTIVE

/YES, CHECK FOR KEYBOARD FLAG,

/KEYBOARD FLAG SET?

/N0

/YES, READ THE CHARACTER
/CHECK FOR CONTROL CHARACTER

/CONTINUE TESTING,

/TH1S ROUTINE WILL UPDATE THE DEVICE NUMBER TO TEST IF
/THE PROGRAM I8 BEING RUN FOR MULTIPLE TESTING,
/

NEWDEV, 0
CAF
TAD

20

/KL8=JA & KLB8=KA/KB/KC/KD LOOP BACK TFST,

2356
2357
2358
2359
2360
2361
2362
2363
2364

4093
4004
4005
4006
40017
4010
40114
4012

4013
4014
4015
4016
4017
4020
4021
4022
4023
4024
4028
4026
4027
4030

4031

4032
4033
4034
4035
4036
4037
4040

4041

4042
4043
4044
4045
4046
4047

4050
4051
40582

7002
7710
63714
6371
6374
7410
5201
5600

[L.IT]
1022
7123
7650
5613
2121
5613
1122
3121
6002
6201
6272
4631
5613

6500

2020
7240
1232
3046
1241
3052
5632

1170

0000
4517
7006
7710
5446
5642

%000
1622
1190

BSW
SPA
APTI
APTI
APTI
SKP
JMP
JMP

NN

/ROUTINE TO
/
XTICK, @

JMP
/
Kesee, 6500
/

CLA
01
04
04

1

NEWDEV+4

NEWDEV

PAL10

V1422 26~JAN=79 14101

/VMOVE BIT 6 INTO BIT 0
/TEST ALL 16 DEVICES?
/NO, ONLY EVERY OTHER ONE

/18 ERROR INDICATOR SET ON THIS ONE

/NO, JUST EXIT ROUTINE

. JEXIT

NOTIFIY APT THAT THE PROGRAM 1S5 RUNNING,

CLA

1
1

22
K400

XTICK
CLKCNT
XTICK
COUNT
CLKCNT

70
K6500
XTICK

/ON APT2?
/N0, EXIT,
/PEADY,

/N0, EXIT,
/INIT COUNTER

/SETS UP LOOP COUNTER AND LOOP TEST POINTER,
/

XPCPET, @
CLA
TAD
DCA
TAD
DCA
JMp

Mio, -10

XSR2, a
LAS
RTL
SPA
JMP
JMP

NOTBE, @
TAD
SMA

CMA
XPCRET
LooppC
r¥i0
TSTCNT
XPCRET

CLA
LOOPPC
XSR2

22
CLA

/LOOP ON TEST IF SR2m{

/1F SRie=1 PROCESSOR NOT PDPeBE FAMILY

SEQ 0261

SEQ ©062



Vi42Aa 26=JAN=79 14301 PAGE 1=44¢

/GET HCW1

/USE HARDWARE SWITCHES?
/LAS AND A SKP

/GET PSR

ON APT THIS ROUTINE 1S A NOP,

/STORE THE AC IF ANY,

/PERFORM HALT FUNCIOTN

/TEST FOR ACTIVE CONSOLE
/IGNORE HALT INSTRUCTION,

/SET AC TO =1
/GET ERROR PC

/CLEAR OUT ANYTHING IN AC,

/
JTHIS ROUTINE TESTS FOR ACTIVE CONSOLE PACKRAGE, IF CONSOLE

Vi42h  26=UAN=79 14101  PAGE 1-45

/CONSOLE ACTIVE?
/%0, UPDATE RETURN

/
/RANDMi= GETS A RAKDOM NUMBER (PUT IN XMTDAT) AND PUTS IT IN ITS

/GET FIRST DATA WORD

/AND SAVE IT

/GET THE SECOND DATA WORD

/TRANSFER IT TO ITS PROPER LOCATION

/GET THE FIRST DATA WORD OUT OF ITS
/TEMP STORAGE AND RESTOE IT TO ITS PROPER LOCATION
/EXIT

/KL8*JA & KL8=KA/KB/KC/KD LOOP BACK TEST, PAL1Q
2411 4053 5256 JMP x]
2412 4054 1021 TAD 21
2413 4055 7419 SKP
2414 4056 4517 LAS
2415 4057 7012 RTR
2416 4060 7010 RAR
2417 461 1710 SPA CLA
2418 4062 5265 JMP o t3
2419 4063 2250 182 NOTSE
2420 4p64 5650 JMP I NOTBE
2421 4065 1650 TAD I NOTSBE
2422 4066 3250 DCA NOTSE
2423 4067 5650 JMP I NOTBE
2424 /

2425

2426 /

2427 /ROUTINE TO PERFORM A LAS ,
2428 /

2429 4070 0000 XLAS, @

2430 4871 1300 CLL CLA

2431 4072 1022 TAD 22
2432 4073 1710 SPA CLA

2433 4074 5679 JMP T XLAS
2434 4075 1021 TAD 21
243% 4976 1710 SPA CLA

2436 4077 7614 7614

2437 4108 1020 TAD 20
2438 4101 5670 JMP I XLAS
2439 /

2440 /

2441 /

2442 /PROGRAMED HALT INSTRUCTION, IF
2443 /

2444 4102 0000 XHALT, ©

2445 4103 3270 DCA XLAS
2446 4104 1022 TAD 22
2447 4105 0123 AND K4000
2448 4106 7650 SNA CLA

2449 4107 5311 JMP XHLT .
2450 4116 5702 JMP I . XHALT
2451 /

2452 4111 4515 XHLT,  CHEK22

2453 4112 5702 JMp 1 XHALT
2454 4113 1270 TAD XLAS
2455 4114 7440 SZA

2456 4115 5320 Jmp R X]
2457 4116 17340 CLL CLA CMA
2458 4117 1302 TAD XHALT
2459 4120 1402 7402

2460 4121 7300 CLL CLA

2461 4122 5702 JMP I XHALT
2462 /

2463

2464

2465 /ACTIVE INSTRUCTION FOLLOWING CALI 1S PERFORMED.

/KL8wJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PALLO

2466 /
2467 4123 0000 XCHK22, ©
2468 4124 7300 cLL CLA
2469 4125 1022 TAD 22
2470 4126 0332 AND K400
2471 4127 7650 SNA CLA
2472 4138 2323 182 XCHK22
2473 4131 5723 JMP I XCHK22
2474 /
2475 4132 @400 K4anra, 400
2476
2477
2478 /PROPER LOCATION WHILE SAVIMG THE CONTENTS OF XMTDAT
2479 /
2480 4133 @060 XRANDY, ©
2481 4134 7300 CLA CLL
2482 4135 1042 TAD XMTDAT
2483 4136 3345 Dea TEMSAV
2484 4137 4506 RANDOM
2485 4140 1042 TAD XMTDAT
2486 4141 3043 DCA XMTDTY
2487 4142 1345 TAD TEMSAV
2488 4143 3042 DCA XMTDAT
2489 4144 5733 JMP T XRAND1
249@ /
2491 4145 0000 TEMSAV, @
2492 /
2493 4200 PAGE
2494 /
2495 /
2496 /MESSAGES
2497 4200 4320 MpC, TEXT ngpcs "
4201 0375
4202 4000
2498 4203 4322 MESSY, TEXT WRECEIVE I0T?
4204 0503
4205 @511
4206 2605
4207 4011
4210 1724
4211 7740
4212 4000
2499 4213 4324 MESS2, TEXT "#TRANSMIT IOT?
4214 2201
4215 1623
4216 1511
4217 2440
4220 1117
4221 2477
4222 4040
4223 o000
2500 4224 4320 MESS3, TEXT "$PARITY(Y OR N)? "
4225 0122
4226 1124
4227 3150

SEQ b©63

SEQ w64



/KL8wJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1O Vi42A 26=JAN=79 14301 PAGE

2501

2502

2503

2504

T /KLgeda &

2505

2506
2507
2508

2509

4230
42314
4232
4233
4234
4235
4236
4237
4249
4241
4242
4243
4244
4245
4246
4247
4250
42514
4252
4253
4254
4255
4256
4257
4260
4261
4262
4263
4264
4265
4266
4267
4270
4271
4272
4273
4274
4275
4276
4277
4300
4301
4302
4303
4304
4305
4306
4307
4310
4311
4312
4313
4314
4315
4316

4317
4320
4321
4322
4323
4324
4328
4326
4327
4330
4331

4400
4401
4402
4403
4404
4405
4406
4407
4410
4411

4412
4413
4414
4415
4416
4417
4420
4421

4422
4421
4424
4425
4426
4427
4430
4431
4432
4433
4434
4435
4436
4437
4440
4441

4442
4443
4444
4445
4446
4447
4450
4451

3149
1722
4016
5177
4040
2000
4040
1620
7509
7743
73526
2516

14020

4040
2327
0475
wona
7743
7611
1414
0522
4003
1001
2201
n324
09522

2350
3140
1722
4016
5177
4040
0000
4040
0611
1475
0000
4400

7743
(213}
2504
4022
0124
0550
6060
5561
6351
7740
6060
7561
6160
4960
6175
6165
6040
6062
7563
6060
4060
6375
66602
6240
6764
7561
6260
6040
6065
71562
6460
6009
4369
6675
6470
6064
4060
6775
7166
6060
4061
6075

MESS3A, TEXT

MESS4, TEXT

MESS4A, TEXT

MESSS, TEXT

MESSSA, TEXT

PAGE
KESS6, TEXT

CMESS6, TEXT

" Nps"

"24EVEN PARITY EVNm@? ODD PARITY EVN=s{?#STATUS ENABLED(Y OR N)?

" SwD="

"2#FILLER CHARACTERS(Y OR ¥)? "

" FILs"

"?4BAUD RATE(Q0=13)7 002110 412150 722300 33=600 0421200 BS=2400"

"80624800 07=9600 10=19,200 11%856,8 12266,7 1321050

1=46

KL8=KA/KB/KC/KD LOOP BACK TEST, PAL1@ V1424 26=JAN=79 14101 PAGE {=47

SEQ 0065

SEG 0066



/KL8=JA & KL8=KA/KB/KC/KD LOOP BACK TEST, PALjO V142A 26«JAN=79 14101

2510
2514

2512

4452
4453
4454
4455
4456
4457
4460
4461
4462
4463
4464
4465
4466
44617
4470
4471
4472

4473
4474
4415
4476
44717
4500
4501
4502
4503
4504

4537

6171
5462
6060
4061
6175
6566
5670
4061
6275
6666
5667
4061
6375
6160
6560
4040
(411

4361
6160
4002
0125
0440
5540
@261
7560
7740
0262
1560
71740
9263
7560
1740
2762
7561
7740
2765
7560
7700
4361
6560
4002
8125
2440
5540
9261
1560
7740
0262
7560
1740
@263
7561
1740
2762

MESS6RA,

MESS6B,

TEXT

TEXT

"#11¢ BAUD = Bi=p? B2=@? B3z0? W2wi? W53p2"

"¥150 BAUD = Biz@? B2z0? B3s1? W231? WSse?"

/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1O Vi42A 26=JAN=79 14301

2513

2514

2515

4540
4541
4542
4543
4544
4545
4546
4547
45509
45514
4552
45583
4554
4555
4556
4557
4560
4561
4562
4563
4564
4565

7561
7740
2765
7562
7700
4363
6060
4002
0125
9440
5540
7261
7560
1740
0262
7561
7740
9263
7560
7740
2762
7561
7740
2765
7569
7700
4366
6060
4002
2125
0440
5540
2261
7560
7740
0262
7561
7740
8263
7561
7740
2762
7561
7740
2765
7560
7700
4361
6260
6040
0201
2504
4755
4002
6175

MESS6C,

MESS6D,

MESS6E,

TEXT

TEXT

TEXT

"$300 BAUD » Bi=p? B2m1? B3z¢? W2m1? w5207"

"y6M@ BAUD = Bi=@? B2=1? B3={? W2=1? WS=¢2?"

"$12p0 BAUD = Bim1? B2s@? B3z0? W2={? W5=g?"

PAGE {=48

PAGE 1=49

SEQ 0067

SEG Y6l



/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1Q V142A 26=JAN=79 14301

2516

2517

4627
4630
4631
4632
4633
46134
4635
46136
4637
4640
4641
4642
4643
4644
4645
4646
4647
4650
4651
4652
4653
4654
4655
4656
4657
4660
4661
4662
4663
4664
4665
4666
4667
4670
4671
4672
4673
4674
4675
4676
4677
4700
4701
4702
4703
4704
4798
4706
4707
4710
4711
4712
4713
4714
4715

6177
4002
6275
60117
4002
6375
60717
40217
6275
6177
4027
6575
6477
[dddd
4362
6460
6740
0201
25p4
4955
4002
6175
6177
4002
6275
6077
4002
6375
6177
40217
6275
6177
4027
6575
6077
2000
4364
7060
6040
@201
2504
4055
4002
6175
6177
4902
6275
6177
4002
6375
6077
4027
6275
6177
4027

MESS6F,

MESS6G,

TEXT

TEXT

"$#24P9 BAUD - Bi=1? B2207? B3=1? 4W2=21? W5=0?"

"#48¢0 BAUD = Bi=1? B2=1? R3=p? W2=1? WS=p?"

/KL8=JA & KL8=KA/KB/KC/KD LOOP BRACK TEST, PAL10 Vi42n 26=JAN=T9 14:01

2518

2549
2520

2521

4716
4717
4720
4721
4722
4723
4724
4725
4726
4727
4730
4731
4732
4733
4734
4735
4736
4737
4749
4741
4742
4743
4744
4745
4746

4747
4759
47514
4752
4753
4754
4755
4756
4787
4760
4761
4762
4763
4764
4765
4766
4767
4770
4771
4772
47173
4774
4775
4776
4777
5060
5001
5002
5003

6575
6077
o0
4371
6660
6040
2201
2504
4055
4p02
6175
6177
4002
6275
6177
4002
6375
6177
4027
6275
6177
4027
6575
6017
29e0

4361
7154
6260
6040
0201
2504
4955
4002
6175
6177
4002

6375
6177
4027
6275
60717
4027
6575
6177
2000
4365
6656
7940
v2m1
2504
4055

MESS6H,

MESS6I,

MESS8J,

TEXT

TEXT

TEXT

"§9600 BAUD = Biz1? R2=1? B3=17 W2=1? W5=02"

"$19,200 BAUD » Bi=1? B2={? B3=1? W2=0? WS=1?"

"#56,8 BAUD = Bi=p? B2=(? B3sa? W2s17 W5a30?7"

PAGE 1-50

PAGE 1=51

SEQ 9469

SEQ v@70



/KLgeJA & KL8=KA/KB/KC/KD LOOP BACK TEST, PAL1O V142a 26=JAN=T79 14101 PAGE 1-52

2522

2523

5084
5005
5006
5007
5010
5011
5012
50143
5014
5415
5016
5017
5020
sp21
5022
5023
5024
5025
5026
5027
5032
5031
5032
5033
5034
5038
5636
5037
5049
5041
5042
5043
5044
5045
5046
5047
5052
5051
5052
5053
5054
5A58
5056
5057
5069
5061
5062
5063
5264
5065
5066
5067
507¢
5071
5072

4002
6175
6077
4002
6275
60717
4na2
6375
6077
4021
6275
6177
40217
6575
6077
2000
4366
6656
67490
2201
2504
4055
4002
6175
62177
4002
6275
6477
4902
6375
6777
4027
6275
6177
4027
6575
6177
2600
4361
6065
6040
@201
2504
4085
4002
6175
6177
4092
6275
6177
4002
6375
60717
40217
6275

MESS6K,

MESS6L,

TEXT

TEXT

SEQ 0071

"$66,7 BAUD = Bize? R2=0? B3=0? W2=1? W5=017"

"#1950 BAUD = By=1? B2=p? B3=@? W2=1? W5s0?"

/KLB=JA & KLEeKA/KB/KC/KD LOOP BACK TEST, PAL1Q V142A 26=JAN=79 14301 PAGE 1=53

2524

2525

2526

2527
2528

5073
5074
5075
5076
5077
5100
5101
102
5103
8104
5105
5106
5107
5110
5111
5112
5113
5114
5115
5

6177
4027
6575
6277
neoe
4324
2717
4023
2417
2040
n211
2423
5031
4217
2240
1651
7740
4009
4049
2302
1500
7743
"L13}
2401
4002
1124
2357
w316
w122
8103
2405
2277
4060
7565
4061
1566
4062
7567
4063
757@
4a4p
(LI

4365
4004
0124
w140
f211
2423
4055
4016
2261
7561
1740
1602

MESST,

MFSSTA,

MESS10,

MES10A,

TEXT

TEXT

TEXT

TEXT

SEQ 0072

"#TWO STOP BITS(Y OR N)? "

" SsB="

"?#DATA BITS/CHARACTER? 035 136 2=7 3=8 "

"#5 DATA BITS = NRi=1? NB2=1?s"



/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PALiQ vVi4aa 26=JAN*T9

5161 6275

5162 6177

5163 4300
2529 5164 4366 MES10B, TEXT "#6 DATA BITS = NR1=0? NB2=x1?74"

5165 4004

5166 @124

5167 0140

517¢ 0211

5171 2423

5172 4055

5173 4016

5174 0261

5175 7560

5176 7740

5177 1602

5200 6275

5201 6177

5202 43e0
2530 5203 4367 MES10C, TEXT "#7 DATA BITS = NRi=1? NB2m@?s"

5204 4004

5205 o124

5206 0140

5207 02311

5210 2423

5211 4055

5212 4016

8213 0261

5214 7561

8215 7740

§216 16¢2

8217 6275

5220 6077

6221 4300
2531 5222 4370 MES1@0D, TEXT "#8 DATA BITS = NB1=@? NB2=p?#"

8223 4004

8224 0124

5225 0140

5226 n211

§227 2423

5230 4055

5231 4016

5232 261

5233 7560

5234 7740

§235 1602

5236 6275

8237 6077

8240 4300
2532 $241 0320 RECPNT, KCF@
2533 5242 @401 KCF{
2534 5243 0501 KCF2
2535 5244 0551 KCF3
2536 5245 1143 KCF4
2537 5246 0276 KsFo
2538 §247 0336 KSF{

/KL8=JA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1®D Vi42a 26=JAN=79

2539 5250 N354 KsF2
254¢ 5251 02471 KSF3
2541 5252 @537 KsF4
2542 5253 0601 KSFS
2543 5254 0721 K8F6
2544 5255 0734 KsF7
2545 §256 2713 KSF8
2546 §257 1013 KsF9
2547 §260 1037 KsF12
2548 §261 1065 KsF11
2549 8262 1077 KsF12
255¢ 5263 1116 KSF14
25514 8264 1137 KSF16
2552 5265 1144 KsF17
2553 5266 1425 KSF18
2554 5267 1523 FDTLOP
2555 $27¢ 1541 KSF19
2556 §271 1675 KsF21
2557 §272 1744 KSF22
2558 5273 1762 KSF23
2559 $274 1341 KSF24
2560 5275 2036 KSF25
2561 8276 2063 KSF26
2562 5277 o610 KCCO
2563 §300 0713 KeCy
2564 5301 1736 KCC2
2565 5372 1063 KCC3
2566 5383 1136 KCC4
2567 5304 1757 KCCS
2568 5305 2090 KCC6
2569 8306 0626 KRS@
257¢ 5307 1010 KRS1
2574 5310 2040 kRS2
2572 5311 2046 KRS3
2573 5312 1335 KSE®
2574 5313 2023 KSEL
2575 5314 2¢4S KSE2
2576 §315 2054 KSE3
2577 5316 @403 KIE®
2578 8317 0422 KIEY
2579 8320 @457 KIE2
2580 5321 05¢2 KIE3
2581 5322 0536 KIE4
2582 5323 @616 KIES
2583 5324 0710 KIE6
2584 5325 750 KIET
2585 5326 @760 KIES
2586 §327 1026 KIE9
2587 §336 1052 KIE10
2588 5331 0635 KRBQ
2589 5332 1113 KRB1
2590 $333 1410 KRB2
25914 §334 1437 KRB3
2592 §335 1504 KRB4
2593 5336 1511 KRBS

14301

14104

PAGE 1-54
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/KL8=JA & KLB<KA/KB/KC/KD LOOP BACK TEST, PAL1Q V1i42A 26=JAN=T9
2594 5337 1526 KRB&
2595 5340 1544 KpB7
2596 5341 16315 KRB8
2597 5342 1654 KRB
2598 5343 1711 KRE10
2599 5344 2313 INTON
2600 5345 1351 KRB11
26014 5346 2014 KRB12
2602 5347 2060 KRB13
2603 5350 2070 KRB14
2604 /

2605 /

2606 5351 0900 o000

2607

2608

2609 5352 @323 XMTIOT, TFL@

2610 5353 ¥345 TFL1

2611 5354 0406 TFL2

2612 5355 0452 TFL3

2613 5356 0523 TFL4

2614 5357 06520 TFLS

2615 5369 0646 TFL6

2616 5361 0301 TSF@

2617 5362 0326 TSF1

2618 5363 0333 TSF2

26419 5364 0346 TSF3

2620 5365 n351 TSF4

26214 5366 0407 TSFS

2622 §367 0425 TSF6

2623 5370 0437 TSF7

2624 5371 0453 TSF8

2625 8372 0504 TSF9

2626 5373 @512 TSF10
2627 5374 @524 TSF1t
2628 5375 0533 TSF12
2629 5376 0664 TSF13
2630 $377 0724 TSF14
2634 5400 2675 TSF1S
2632 5401 1009 TSF16
2633 5402 1003 TSF17
2634 5403 1070 TSF18
2635 5404 1106 TSF20
2636 5405 1124 TSF22
2637 5406 1421 TsF23
2638 5407 1516 TSF24
2639 5410 1535 TSF25
2640 5411 1583 TSF26
2644 5412 1672 TSF28
2642 5413 1747 TSF29
2643 5414 2310 TSF3@
2644 5415 2322 TSF31
2645 5416 1344 T8F32
2646 5417 0330 TCF@

2647 5420 0436 TCF1

2648 5421 0470 TCF2

/KL8=JA & KLB=KA/KB/KC/KD LOOP BACK TEST, PALte V1423 26=JAN<79
2649 §422 0532 TCF3
2650 5423 @655 TCF4
2651 5424 0716 TCFS
2652 5425 1002 TCF6
2653 5426 1064 TCF7
2654 427 1123 TCF8
2655 5430 1412 TCF9
2656 5431 1505 TCF19
2657 5432 1512 TCF11
2658 5433 1611 TCF12
2659 5434 1656 TCF13
2660 5435 1346 TCF14
2661 5436 2015 TCF1S
2662 5437 2035 TCF16
2663 440 0727 TPCO
2664 5441 1073 TPCI
2665 5442 0304 spio
2666 5443 0411 SPIt
2667 5444 0427 SPI2
2668 5445 0442 SPI3
2669 5446 0455 sPI4
2670 5447 n460 SPIS
26714 5450 0506 SPI6
2672 5451 @515 SPI7
2673 8452 05213 SP18
2674 5453 0673 sPI9
2675 5454 0737 SPI10
2676 5455 @751 SPI1L
2677 5456 0761 SPI12
2678 5457 1045 SPI13
2679 5460 1927 SPI14
2680 5461 1042 SPILS
2681 5462 1102 TLSO
2682 5463 1420 XMIT
2683 5464 1545 TLS1
2684 5465 1522 TL82
2685 5466 1540 TLS3
2686 5467 1556 TLS4
2687 5470 1606 TLSS
2688 5471 1665 TLS6
2689 5472 2307 TLST
2690 6473 2315 TLS8
2691 5474 2026 TLS9
2692 5475 1424 TLS10
2693 5476 1340 SLWTLS
2694 /

2695 /

2696 5477 0000 2009

2697 /RAUD RATE TABLES FOR USF ONLY UNDER APT~8 TEST SYSTEM,
2698 /

2699 5500 5514 TABLE1, Bi19

2700 5501 5523 B150

2704 5502 5532 B36@

2702 $503 5541 B60O

2703 5504 5550 B1200

14:01

14301
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/KL8«JA & KL8~KA/KB/KC/KD LOOP BACK TEST, PAL1®  V142A  26=JAN=79
2704 5505 5557 B2400
2798 5506 5566 B4800
2706 5507 5575 B9600
2797 5510 5604 B19K2
2708 5511 5613 RS6P8
2709 8512 5622 B66P7
2710 5513 5631 B1050
2711 /

;712 /ACTUAL VALUES TO USE FOR THE APT TIMING SECTION,
713 /
2714 5514 7677 B117, =101
2715 5515 7750 =30
2716 5516 7765 {3
2719 8517 77171 -7
2718 5520 7765 =13
2719 §521 7765 =13
2720 5522 7778 10
2721 /150 BAUD
2722 /
2723 5523 7677 B150, =101
2724 5524 7750 -30
2728 5525 7760 -20
2726 5526 7765 =13
27127 5527 7761 -17
2728 5530 7761 =17
2729 5531 7770 =10
2730 /309 BAUD
2731 /
2732 5532 7677 B3ee, =101
2733 5533 1775¢ -3¢
2734 5534 7740 40
2735 5835 7752 26
2736 8536 7744 =34
2737 8537 7744 =34
2738 5540 7770 =10
2739 /
2740 /609 BAUD
2741 5541 7647 B60A, =131
2742 5542 @000 ]
2743 5543 7700 100
2744 5544 7724 =54
2748 5545 7700 =100
2746 5546 7700 =100
2747 %547 ne00 [
2748 /
2749 /12¢a BAUD
2750 5550 7647 B1200, =131
2751 5551 0000 ]
2752 5552 7600 200
2753 5553 7650 =130
2754 5554 7600 200
2755 5555 7600 =200
2756 5556 000R [4
2787 /2400 BAUD
2758 /

/KL8eJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1Q. . V142A  26=JAN=79
2759 §557 7247 B240@, =531
2760 5560 0000 [
2761 5561 0060 [
2762 5562 0000 [
2763 5563 7400 -400
2764 5564 7400 =400
2765 5565 0000 [}
2766 /

2767 /4800 BAUD
2768 5566 7247 B480C, =531
2769 5567 0GR [4
2770 5570 0009 [
2771 5571 ooee [
2772 5572 740e 400
2713 5573 7400 400
2774 5874 4000 [
2715 /

2776 /964¢ BAUD
2777 5575 6247 B96206, «1531
2778 §576 9NEO [}
2779 5577 0000 [’}
2780 5600 #2N0 [4
2781 5621 0200 [}
2782 5602 0ARG @
2783 5603 ¥oAn [’
2784 /

2785 /19,2 KILO BAUD,
2786 5604 6247 B19K2, =1531
2787 5605 AR @
2788 5606 00Ne [4
2789 5607 @000 0
2790 5610 0000 [
2791 5611 0000 a
2792 5612 £3n6 ]
2793 /

2794 /56,8 BAUD,
2795 5613 7740 B56P8, =40
2796 8614 7763 =15
2797 8615 1772 =6
2798 8616 1775 -3
2799 5617 7772 -6
2800 5620 7772 -6
28014 8621 7773 -5
2802 /

2803 /66,7 BAUD
2804 §622 1740 B66PT, =40
2808 5623 7763 =15
2806 §624 7772 =6
2807 5625 77715 -3
2808 5626 7772 -6
2809 5627 17772 -6
2810 8630 7773 =5
2811 /

2812 /1050 BUAD
2813 5631 7647 B1050, 131

143014

14301
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/KLB=JA & KLB8=KA/KB/KC/KD LOOP BACK TEST,

2814 5632
2815 5633
2816 5634
2817 5635
2818 5636
2819 5637
2820
2821
2822
2823
2824
2825
2826
2827
2828
2829
2830
2834
2832
2833
2834
2835
2836
2837
2838 @170
2839 21714
2840 2172
2844 @173
2842 2174
2843 @175
2844 @176
2845 0177
2846

2000
1600
7650
7600
7600
2114

0000
0000
6600
2000
2009
9271

3306
3513
7700
1600
1400
2646
4060
7400
2000

/KL8=JA & KLB«KA/KB/KC/KD LOOP BACK

o000
o100

0200
2300

a40¢
0500

2600
07090
1000
1100

1209
1300

1400
1500

1600
1700
2000
2100

2200
2300

2400
2500

2600
2700

30@e0
3100

3200
3300

3400
3500

3600
3700¢

11110000
11111111

11111111
11111141

11111141
11111111

11119111
11111111

11111111
11111111

11111111
11111111

1111114t
11119114

11111111
11191111

11111111
11111114
11111141
11111141

11111114
11111111

11114111
11111111

11111111
11111111

fleseooe
11111111

11111111
111111141

11141
11111118

11111111
11111111

11111111
11111141

11111141
11111111

111111141
11111111

11111114
11111148

11111111
11114148

11111141
11111111

11111148
11111111

11111114
11111111
1111411
11111111
11111111
111111441

PAL1Q V142A 26=JAN=79 14:01
4]
=200
-130
=200
=200
@
/
/STANDARD CONSOLE PACKAGE,
/THE FOLLOWING PAPAMETERS MUST BE DEFINED PRIOR TO
/ASSEMBLY,
/THSFLD THIS DEFINES THE FIELD THE ROUTINE
/ WILL RESIDE IN
/CALFLD THIS DEFIMES CALLING FIELD,
/ORIGIN STARTING ADDRESS OF ROUTINES
/STRTST DEFINES RESTART TEST FOR LINE FEED DETECTION,
/
THSFLD=0 /FIELD 0
CALFLD=0@? /CALLING FIELD
ORIGIN=6600Q /START AT ADDRESS 6604
CONFLD=THSFLD"10
PRGFLDaCALFLD®12
STRTST=CLRBRD
FIELD THSFLD
TEST, PAL1G Vi42A 26=JAN-79 14301
11111111 11111110 13110811 11111111 11111111 111ty
11111100 00020000 A0AE0VE GAUEALALE 0EBEPYRe 11111111
L1111 11041111 1111001 1913111 11111111 11111l
11111911 11081811 11814101 11114111 11120111 11111131
11119141 11149181 11244111 19119141 11111110 11111111
11111411 11111119 111311111 11111111 @ARAPVEnd PReeo11l
11101111 11111111 1111809 11111411 19t11tet 1111111y
11111111 14111111 11111111 11941111 11111411 11941118
1111111 11114411 13114010 11111811 11134141 11411118
11111191 11141111 11111111 11111111 11111110 00A0¢000l
11111191 11114191 11111011 114111 1111iddy 1111141
11119011 11149111 11119111 11111111 11141111 11111110
11111141 1111111 101111t 11gdiedy 11gi1t1y 1111114
T1140110 11111891 11419010 11111111 11111811 11000000
1111111 11128110 110edat 11111t f111i1d 111111t
11111841 11111111 11111111 11111111 11311841 1111111
11911411 11111111 11148881 11111041 11111111 11111439
11111011 11114191 13111011 11111111 11111106 Q1111111
11991111 10141110 11111411 11114111 111111ty 1111111
11181111 11111811 13111011 11111811 11111111 @evde1y
111011111 1101111 11t 1191111 11ttty 111111t
11181091 11111111 11940011 14143081 11111181 11111118
11111841 11111191 11900114 11111111 11118441 11111114
1111100¢ G0OAAREY GZRRNOC PERANPAC  VRAIRNGE VHALeA1Y
11111881 $1841011 11111111 1111311 1111111y t11111de
11111111 11111111 11119811 19113111 11111000 11111118
14011111 11111191 11011111 1191981y 11111111 1111111l
11111111 11811811 13113111 11111181 11111111 1111100
11911111 11199111 11111111 11011141 111tdr it
11131111 11118191 10111191 11111111 11114111 11111100
11011814 11111111 11011111 111113111 11111111 11111118
1111419 11111100 11141081 11191181 11114441 11181111

PAGE 1=60

PAGE 1=61

SEQ 0079

SEQ 0080



/KLgeJA & KLR=KA/KB/KC/KD LCOP BACK TEST, PAL1® V142A 26«JAN=79 14301 PAGE 1~62

SEQ ©08l
4009 11111411 11111941 11111111 11131100 11141410 11111111 13111111 11111411
4190 11111111 11911111 13111111 11111111 11111180 00000020  VR0RG0We V0020000
4200 11111111 11111111 11111111 11141111 11401181 113134391 11141111 11111141
4300 11111111 11111111 11111411 11000000 [ a 2
4400 11111111 19141111 14114110 11111191 11111111 13311111 11111331 11111111
4500 11111111 11111191 11121491 11811131 11111101 11111111 11111111 11111118
46M6 11111111 11111191 11118411 11110131 11110011 11111311 11111431 11111111
4700 11119111 11111191 11111111 11112111 11110111 11111111 11911111 1131111
5000 11111191 11141941 (1011811 41114101 11111411 11111111 11111311 11111111
5106 11111191 11111440 14011110 11119111 11111111 12131111 11111111 1131411
5200 11111111 11118141 11114440 11181111 11108841 11111111 131111101 111i11
$300 11111111 11111811 12114191 11141091 11111111 11111111 11111111 1
5400 11111111 11111181 14111111 11081111 11101411 11111181 11111111 1111111
5500 11111111 11111111 11111118 11188190 $1110181 11111411 11111111 11111111
5600 11111111 11111111 119111111 11111111 OGEARBAAG  ¢OACARAR  00RDVGVE  VBVONED
5700 0PANOPR0 MACOAUER AGNOACOR 0PAGRANA  BUENERYR  RLOARDAR  BNAYERDD  VAVENILR
6000
6100
6200
6300
6400
6500
6600
6700
7000
7100
7200
1300
7400
1500
1600
1700
/KL8=JA & KL8»KA/KB/KC/KD LOOP BACK TEST, PALL® V1422  26=JAN-T9 14101  PAGE 1=63
SEQ ©282

2847 6600 #ORIGIN

2848 /CONTROL CHARACTER DECOLE ROUTINE,

2849 JENTER WITH CHARACTER IN THE AC,

2850 6600 0VBD XCBCNT, @

2851 6621 3360 DCA CBCHAR /STORE CHARACTER,

2852 6602 6214 RDF /GET CALLING DATA FIELD,

2853 6603 1257 TAD KCDFIF /SET UP RETURN FIELD,

2854 6604 3241 DCA FLDRIN /STORE IT

2855 6605 3252 DCA INDEXA /SET DISPLACFMENT TO ¢

2856 6606 1254 TAD XTABLA

2857 6607 3253 DCA GETDAT /SET UP POLNTER TABLE,

2858 6610 6201 CDF CONFLD

2859 6611 1653 REDOA, TAD I  GETPAT /GET CONTROV. CHARACTER

2860 6612 7450 SNA /END OF TABLE,

2861 6613 5222 JMp DONEA /YES,

2862 6614 1360 TAD CBCHAR

2863 6615 7650 SNA CLA /GET A MATCH?

2864 6616 5243 JMP GOTTA /YES,

2865 6617 2252 152 INDEXA /10, UPBATE DISPLACEMENT

2866 6620 2253 182 GETDAT JUPDATE POINTER,

2867 6621 5211 Jwvp REDOA /GET MEXT COMPRRE,

2868 6622 1360 DONEA, TAD CBCHAR /GET BACK CHARACTER,

2869 6623 1777° TAD C8M260

2870 6624 1709 SMA CLA

2871 6625 5234 JMP K3 /N0, THEN JUST PRINT IT,

2872 6626 1360 TAD CBCHAR

2873 6627 4776° JMS TSTCRL /GO TEST FOR CRLF,

2874 66300 5236 Jmp FLORTN«3 /CRLF FOUND,

2875 6631 1775° TAD ARROW

2876 6632 4774° JMs XC8TYP /PRINT *

2877 6633 1256 TAD cea1ee /SET UP CHARACTER

2878 6634 1360 TAD CBCHAR

2879 6635 4774° JMS XCBTYP JPRINT IT,

2880 6636 1260 TAD c8k217

2881 6637 4774° J¥s XCBTYP /PRINT 2

2882 6640 4773° a¥s XCHCRL /AND <CRLF>

2883 6641 6203 FLDRTN, CIF CDF PRGFLD /RETURN FIELD,

2884 6642 5600 JMP I XCBCNT /EXIT BACK TO CALL,

2885 /

2896 6643 1255 GOlTA, TAD XTABLB /GET CONTROL CHARACTER ROUTINES,

20887 6644 1252 TAD INDEXA /2DD IN OFFSET

2988 6645 3251 DCA GOTOA /STORE THIS

2889 6646 1651 TAD I GOTOA /CET ACTUAL POINTER,

2890 6647 3251 DCA GOTOA

2891 6650 5651 JMP I GOTOA /PERFORM FUNCTION,

2892 /

2893 /CONSTANTS USED BY THIS ROUTINE,

2894 /

2895 6651 w(ooe GOTOA, @
2896 6652 Q000 INDEXA, @
2897 6653 A0aaN GETDAT, @
2898 6654 7254 XTABLA, TABLA
2899 6655 7261 XTABLB, TABLB
29990 /

2901 /



/KL8=JA & KL8=KA/KB/KC/KD LOOP BACK TEST, PAL1O Vi42a 26=JAN=79 14:01 PAGE 1=b4

2902
2903
2904
2908
2906
2907
2928
29909

2956

/KLBeJA &

2987
2958
2959
2960
2961
2962
2963
2964
2965
2966
2967
2968
2969
2970

SEQ 9083
6656 0100 Cc89100, 100
6657 6203 KCDFIF, CDF CIF
6660 ¥277 C8K277, 277
/
/ABORT PRINT OUT ROUTINE,
/ALL TERMINAL OUTPUT IS STOPPED UNTIL A ""Q" IS INPUT
/ALL OTHER CONTROL FUNCTIONS CAN RE PERFORMED,
/
6661 1302 CNTRLS, TAD INMODE
6662 7640 SZA CLA /HAS ROUTINE BEEN ENTERED BEFORE.
6663 5272 JMP o+
6664 1200 TAD XCBCNT
6665 3301 DCA C8RTRN /STORE RETURN ADDRESS,
6666 7240 STA
6667 3302 DCA INMODE /SET UP FOR A REENTRY,
6670 4772° JMS XCBTTY /GO BACK AND WAIT FOR NEXT CHARACTER,
6671 4200 JMS XCBCNT /DECODE FOR CONTROL FUNCTION,
6672 5270 JIMP ] /NO CONTROL FUNTION, GO BACK AND WAIT,
/
/CONTROL @ FUNCTION,
/CLEARS INMODE POINTER, AND SETS UP PROPER RETURN
/TO CALLING FIELD,
s/
6673 1302 CNTRLG, TAD INMODE
6674 7650 SNA CLA /HAS CONTOL § BEEN TYPED,?
6675 5241 Jmp FLDRTN /00,
6676 33g2 DCA INNODE /CLEAR REENTRY POINTER
6677 6203 ACTFLD, CIF CDF PRGFLD
6700 5701 JMP I CBRTRN /AND TAKE A RETURN
/
6781 0000 CBRTRN, @0o@ /GETS SETUP TO RETURN ADDRESS,
6702 0000 INMODE, 000¢
/
/LOADS PSEUDOeSWITCH REGISTER WITH NEW VALUE,
/
6703 0000 XCepsW, @
6704 7300 CLA CLL
6705 6214 RDF /GET CLING DATA FIELD
6706 1257 TAD KCDFIF
6707 3347 DCA PSWRTN /SET UP RETURNING FIELD
6710 6201 CDF CONFLD /SET DATA FIELD TO FIELD OF CONSOLE,
6711 7200 cLa
6712 3357 DCA CHRTMP
6713 4773° JMS XC8CRL /<CRLF>
6714 47711° JMS XC8PNT
6715 7265 MESA /PRINT "SRa"
6716 6201 CDF PRGFLD /SET UP FIELD OF PSW,
6717 1779 TAD I (20 /GET PSEUDO SWITCH REGISTER,
6720 6201 CDF CONFLD /RESTORE FELDS,
6721 3767° DCA C8STOR
6722 1767° TAD C85TOR
6723 4766° JMS XCgoCT /PRINT THE CURRENT VALUE,
6724 1356 TAD ceM4
6725 3765° DCA TMPCNT /SET UP TO INPUT FOUR CHARACTERS,
6726 1764° TAD c8Kk240 .
KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1O V1423  26=JAN=T9 14101  PAGE 1-6§
SEQ ¥084
6727 4774 JIMS XC8TYP /ERINT A SPACE,
6730 4772 JMs XCRTTY /GET A CHARACTER,
6731 4763° Jus TSTCHA /CHECK FOR A VALID CHARACTER,
6732 5304 JMP XCRPSW41 /ERROR RETURN,
6733 3360 DCA C8CHAR
6734 1357 TAD CHRTMP
6735 7106 CLL RTL
6736 7004 RAL /MOVE OVER THREE BITS
6737 1360 TAD CBCHAR
6746 3357 DCA CHRTMP /AND STORE 1T,
6741 2765° 182 TMPCNT /DONE YET,
6742 5330 JMP =12 /N0, GET NEXT VALUE,
6743 4773° JMS XC8CRL
6744 6201 TSTRTN, CDF PRGFLD
6745 1357 TAD CHRTMP /GET NEW SWITCH VALUE
6746 3770 DCA I (20 /AND STORE IT IN PROGRAM FIELD
6747 po0G PSWRTN, 0000
6757 2354 182 LFFLAG /%WAS A LINE FEED FOUND,
6751 5703 JMP I XC8pPsw
6752 6203 CIF CDF PRGFLD /RETURN TO PROGRAM FIELD,
6753 5785 JMP I RSTART /GO RESTART TESTING,
/
6754 0000 LFFLAG, @
6755 0271 RSTART, STRTST /STARTING TEST OF DIAGNOSTIC,
6756 1174 ceMa, =4
6757 0200 CHRTMP, O
6760 0BAR C8CHAR, @
/
6763 7022
6764 7065
6765 7066
6766 7215
6767 7075
6770 0920
6771 7276
6772 7135
6773 7146
6774 7126
6775 7011
6776 7200
6717 1472
7000 PAGE
/
/CONTROL C FUNCTIOW,
/ROUTINE CAUSES RETURN TO MONITOR IF ON RN
/OPERATING SYSTEM OR TO THE LOADEP IF NOT,
/
T00¢ 1211 CMTRLC, TAD ARROW
7081 4326 JMS XC8TYP /PRINT AN ARROW
7002 1219 TAD c
7003 4326 JMS XC8TYP JAND A "C"
7004 4346 JINS XC8CRL /NOW A <CRLF>
7005 6203 CIF CDF /LOADER MUST BE IN FIELD @
7006 5607 JMP 1 K7620



/KL8=JA & KL8<KA/KB/KC/KD LOOP BACK TEST,

3011
3n12
3813
3014
3015
3016
3017
3018
3019
3020
3021
3022
3023
3024
3025
3026
3027
3028
3029
3930
3a31
3232
3033
3034
3035
3036
3037
3038
3039
3040
30414
3042
3043
3044
3045
3046
3047
3n48
3049
3050
3051
3052
3053
3054
3055
3056
3057
3058
3059
3060
3061
3062
3063
3064
3065

/KL8=JA & KL8eKA/KB/KC/KD LOOP BACK

3066
3067
3068
3069
3a70
3071
3072
3673
3074
3878
3076
3077
3078
3079
3080
3081
3082
3083
3084
3085
3086
3087
k"L ]
3089
3090
3091
3092
3093
3094
3095
3096
3097
3098
3099
3100
3104
3102
3103
3104
3105
3106
3107
3108
3109
3110
3111
3112
3113
3114
3115
3116
3117
3118
3119
3120

7007
1010
7011
7012

7013
7014
7015
7016
71047
7020
7021

7082
7053
1054
7085
71056
70517
7060
70861
7062
7063

7064
7065
1066
1067
7070
7071
7072
7073
7074
7875

7076
7977
7100
7101
7102
7103
7104
7105
7106
7107
7110
7141
7112
7113

7114
7115
7116
7117
7120
7121
7122
7123
7124
7128

7126
7127
7130
7131
7132
7133
7134

7600
V303
2336
0307

1211
4326
1212
4326
4346
4777°
5776°

2000
3274
1274
1375
7650
5200
1274
4774°
5251
1274
4326
1274
1272
7710
5261
1274
1273
7109
5261
1274
9271
2222
5622
4346
7307
1266
7640
5773°
1275
3772°
5773°
1771
4326
4346

5622
0240
000
7566
7778
nea7
71520
7510
@ a0
[I01 ]

0000
7300
1676
3275
2276
1675
7032
7912
1012
4314
1675
4314
2275
5303

2000
n356
74590
5676
1357
7510
1360
1265
4326
5714

2000
6046
6041
5330
6042
7200
5726

PAL1D Videa 26=JAN=79 14101 PAGE 1=66

SEQ 0085
/
K1600, 7600
’ L
ARROW, "*
Gy "G
/CONTROL G FUNCTION
/PRINT "SREXXXX" WERE XXXX I8 THE CURRENT VALUE OF
/THE PSEUDO«SWITCH REGISTER, IT THE WAITS FOR A NEW SETTING,
/
CNTRLG, TAD ARROW
JMS XC8TYP /PRINT "*
TAD G
JMS XC8TYP /AND A "G
JMS XCBCRL /AND FINALLY A CRLF
XCNTLG, JMS XC8PsW /GO GET NEW SWITCH VALUE,
JMP FLDRTN /EXIT ROUTINE,
/
/THIS ROUTINE WILL VERIFY CHARACTER IS A VALID OCTAL DIGIT
/OR A LINE FEED OR CARRIAGE RETURN,
/
TSTCHR, ©
DCA CBTEMP
TAD C8TEMP
TAD (=203 /TEST FOR CONTROL C
SNA CLA /WAS IT?
JMP CNTRLC /YES,
TAD C8TEMP
JHS TSTCRL /TEST FOR <CRLF>
JMP TSTEXT /FOUND ONE
TAD CBTEMP
JMS XC8TYP
TAD C8TEMP
TAD C8NM260
SPA CLA /WAS GREATER THAN 0
Jup ERREXT /NO, TAKE ERROR EXIT,
TAD C8TEMP
TAD ceM27e
SMA CLA /WAS 7 OR LESS
Jmp ERREXT /NO TAKE ERROR EXIT,
TAD C8TEMP .
AND C8K7
isz TSTCHA /UPDATE RETURN FOK VALID CHARACTER,
JMP I TSTCHA
TSTEXT, JMS XCBCRL
CLL CLA IAC RTL /¥4 TO AC
TAD TMPCNT
SZA CLA /CHANGE SWITCH REGISTER,
JMP TSTRTN /GET BACK TO CALL,
TAD C8STOR
DCA CHRTMP
JMP TSTRTN
ERREXT, TAD c8K277
JMs XC8TYP
JMS XC8CRL /AND A <CRLF>
TEST, PAL1Q V142a 26=JAN=79 14101 PAGE 167
SEQ 0086
JMP I TSTCHA /PRINT A "2" AND EXIT,
C8K240, 240
TMPCNT, @
Cc8M212, =212
caM3, -3
c8K?, 7
CeM260, =260
C8M27@, =270
C8TEMP, @
CBSTOR, @
/
/MESSAGE TYPE ROUTINE, MESSAGE :TO PRINT IS
/CALL #+1{
/
XC8PNT, @
CLL CLA
TAD I XC8PNT /GET POINTER TO MESSAGE,
DCA CASTOR
18z XC8PNT /UPDATE RETURN,
Cep01, TAP I  C8STOR /GET A SFT OF CHARACTERS,
RTR
RTR
RTR
JMS €8Dncop
TAD I  C8STOR
JMS c8pcop
1s2 C8STOR
JMP €8p01
/
/
/
CRDCOD, @
AND Cc8K77
SNA /END OF TEXT,
JMP I XCBPNT /YES,
TAD c8M4Q
SPA
TAD C8Kiga
TAD c8K240 /ESTABLISHES CHARACTER TO PRINT,
JMs XC8TYP /NOW PRINT IT,
JMP I CBDCOD
/
/
/TYPE ROUTINE,
/
XC8TYP, @
TLS
TSF
JMP 1
TCF
CLA
JMP I XC8TYP

/
/ROUTINE INPUTS A CHARACTER AND EXITS WITH IT IN THE AC



/KL8=JA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1O
3121 /
3122 7135 0000 XCATTY, @
3123 7136 6031 KSF
3124 7137 5336 Jamp o 1
3125 7148 6036 KRB
3126 7141 0344 AND c8K177
3127 7142 1345 TAD C8K209
3128 7143 5735 JMP I XCRTTY
3129 /
3130 7144 0177 C8K177, 177
3134 7145 0200 C8K200, 200
3132 /
3133 /
3134 7146 0000 XCBCRL, @
3135 7147 1355 TAD Cc8K215
3136 7158 4326 JHS XCBTYP
3137 7151 1354 TAD C8k212
3138 7152 4326 JMSs XC8TYP
3139 7153 5746 JMP 1 XCECRL
3140 /
3141 7154 0212 C8K212, 212
3142 7156 @215 CBK215, 215
3143 /
3144 7186 0077 c8k77, 717
3145 7157 71740 C8M4Y, =40
3146 7166 0100 ceKiae, 100
3147 /
3148 7171 6660
3149 7172 6757
3150 7173 6744
3151 7174 17200
3152 7175 71575
3183 7{76 6641
3154 7177 6703
7200 PAGE
3155 /
3156 7200 0000 TSTCRL, ©
3187 7208 1777° TAD c8M212
3158 7202 7440 SZA
3159 7203 5207 JMP ot4
3160 7204 7240 STA
3164 7205 3776° DCA LFFLAG
3162 7206 5600 JMP I TSTCRL
3163 7207 1775° TAD C8M3
3164 7218 7640 SZA CLA
3165 7218 2200 152 TSTCRL
3166 7212 3776° DCA LFFLAG
3167 7213 5600 JMP I TSTCRL
3168 7214 5600 JMP I TSTCRL
3169 /
3170 /
3174 /0CTAL TYPE ROUTINE,
3172 /
3173 7215 990Q XC80CT, @
3174 7216 3237 DCA c8ocT
/KL8=JA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1O
3175 7217 1774° TAD (1.1
3176 7220 3773° DCA TMPCNT
3177 7221 1237 TAD caoCT
3178 7222 7004 RAL
3179 7223 7004 RAL
3180 7224 7006 RTL
3181 7225 3237 DCA [of:Telok §
3182 7226 1237 TAD csocT
3183 7227 0172° AND C8K7
3184 7238 1240 TAD c8K260
3185 7231 47711° JMS XC8TYP
3186 7232 1237 TAD c80CT
3187 7233 2773° 152 TMPCNT
3188 7234 5223 JMP o1
3189 7235 7300 CLL CLA
3190 7236 5635 JMP I XCBOCT
3191 /
3192 7237 0000 c8ocT, o
3193 7240 0260 C8K260, 260
3194 7241 @v00 XC8PAS, @
3195 7242 6201 CDF CONFLD
3196 7243 2253 152 PASSES
3197 7244 4770° Jus XC8PNT
3198 7245 7267 MESB
3199 7246 1253 TAD PASSES
3208 7247 4215 JMS XC80CT
3201 7250 4767° JMS XC8CRL
32m2 7251 6203 CIF CDF CALFLD
3203 7252 5641 JMP I XCBPAS
3204 /
3205 7253 ¢000 PASSES, ©
3206 /
3207 7254 7575 TABLA, 1r@e"C
3208 7255 7571 10@="G
3209 7256 7557 180="Q
3210 7257 7555 100"s
3211 7260  @00Q [0
3212 /
3213 7261 1000 TABLB, CNTRLC
3214 7262 7013 CNTRLG
3215 7263 6673 CNTRLQ
3216 7264 6661 CNTRLS
3217
3218 7265 2322 MESA,  TEXT nSRa"
7266 7500
3219 7267 @516 MESR,  TEXT WENL OF PASS "
7270 0448
7271 1706
7272 4020
7273 @123
7274 2340
7215 @008
3220 88
3221 7367 7146
3222 7374 7876

vidaa 26=JAN=T73 14101 PAGE 1=68

/1S 1T A LINE FEED?

/10

/EXIT TO PROPER POINT

/18 IT A CAFRIAGE RETURN?
/N0, UPDATE RETURN

/CLEAR LINEFEED FLAG

/EXIT
/MUST BE A CONTROL CHARACTER,

/STORE CHARACTER TO BE PRINTED,

vid2a 26%JAN=T9 14301 PAGE 1=69

/SET UP FOR NUMBER OF SHIFTS,
/GET VALUE

/MOVE INTO BITS 9«11
/DON’T CLEAR LINK,

/10w TYP DIGIT,

/GET BACK CHARACTER
/DONE ALL FOUR YET,

/N0, GOBACK AND DO NEXT,

JEXIT ROUTINE,

/PRINT END OF PASS MESSAGE
/PRINT NUMBER OF PASSES

JEXIT

/END OF TABLE

SEQ ©@87

SEQ 0us8



/KL8oJA & KLB8eKA/KB/KC/KD LOOP BACK TEST,

3223
3224
3228
3226
3227
3228
3229

/KL8=JA & KLB«KA/KB/KC/KD LOOP BACK TEST,

0000
21090

0200
@300

0400
8500

0600
8700
1000
1100

1200
1300

1400
1500

1600
1700
2000
21090

2200
2300

2400
2500

2600
27009
3vee
3100

3200
3300

34p0
3500

3600
3700

7371
7372
7373
7374
7375
7376
71377

7126
7071
7066
6756
7970
6754
1067

PAL1G

PAL1Q

Vi42A

V142a

26=JAN=79

26=JAN=T79

143014

14301

PAGE 1=70

PAGE 1=7%

SEG 0089

SEQ 0090



/KL8eJA & KLBwKA/KB/KC/KD LNOP BACK TEST, FAL1Q V142A 26~JAN=T79 14301 PAGE 1=72

SEQ 0091

4000

4100

4200

4300

4400

4500

4600

4700

5000

5100

5200

5300

5400

5509

5600

5700

6000

6109

6200

6300

6400

6500

6600 11111111 11111113 11113411 11111191 11811101 11113441 11111111 11111414

6700 11111111 11111111 14111111 11141211 13111111 11114111 1@e11111 11111111

7000 11111111 11111131 11119111 11111141 11111111 11111011 11411111 1111411

7100 11111111 11111111 11114111 11141111 11111191 11111111 1000000¢ ¢1111111

7200 11111111 11111411 13113111 11144191 19111141 11111141 11111141 11111100

7300 00000000 0PAQ0P00 CARAPAGE GAIRPRED BACVEEYY GAREENER BPEAPYe) 11111111

7400

1500

1606

7700

/KLBeJA & KLB=KA/KB/KC/KD LOOP BACK TEST, PAL1#  V142A  26=JAN=79 14101 PAGE 1=73

SEU 9092
Al 0011 c717 0032 DELLOP 2624 k4080 @123
A20 28020 C8r10¢ 6656 DEVCOD @v35 K65@0 4931
A21 n021 CBCHAR 6760 DONEA 6622 K6S2¢ 3743
A22 7022 c8DCOD 7114 EHLTLP 4464 K7 3520
A23 #923 c8pol 713 END 1502 K7087 3463
ACNSKP @545 CRK188 7160 ERREXT 7061 K7602  Tu07
ACTFLD 6677 CBK177 7144 ERRFLG 0044 K77 3435
AERROR 4512 CRK200 7145 ERRLOP 151@ K170 3462
APTS 4513 c8K212 7154 EXIT 3724 K770 3536
APTCHK 3716 CBK215 7155 FDATAT 1460 KCC 6032
APTION 6370 c8K240 7065 FLTLOP 1523 KCCO (L3
APTIOL 6371 C8K260 7248 FILCHK 2646 Keet 6713
APTIO2 6372 CBK277T 6660 FILERT 1645 Kee2 1036
APTIO3 6373 c8K7 7871 FILEXT 2003 KEC3 1063
APTIO4 6374 C8K77 7156 FILLER 3200 Kees 1136
APTIOS 6375 CRM212 7067 FILLOP 1667 Kees 1757
ARROW  7¢11 c8M260 7072 FLDRTN 6641 KCCo 2000
B1o5@ 5631 c8M270 7273 FOROCK 3464 KCDFIF 6657
B119 5514 c8M3 7270 FOROCT 4474 KCF 6030
B120p 5550 cemd 6756 G 7012 KCF@ n32n
B15® 5523 c8M4p 7157 GETPAT €653 KCF1 ©4o1
B19200 2549 CROCT 7237 GCITA 6643 KCF2 2501
B19K2 5604 CBRTRN 6701 GOTOA 6651 KCF3 ¥551
B240M 5557 C8STOR 7475 GOTOUV 372@ KCF4 1143
B300 5532 CBTEMP 7074 HALT 7402 KIE 6035
B4BGO 5566 CAF 6087 HLT 4520 KIEQ 04n3
BS6P8 5613 CAFINT €500 HLTLOP 2200 KIE1 0422
B600 5541 CAFXMT 2344 HLTLPL 2217 KIEfo 1852
B66PT 5622 CALFLD 9090 HLTLP2 2241 KIE2 0457
B96MA 5575 CHARLG 1600 INDEXA 6652 KIE3 0502
BAUDNO 0041 CHEK22 4518 INMODE 6702 KIE4 2536
BAUDST 2146 CHGMES 3120 INTON 2313 KIES 0616
BAUDTB 2334 CHKFIL 2670 INTRET 0267 KIE6 0710
BAUDTM 2264 CHRLAS 1636 INTXMT 0400 KIET 0759
BDPNTR 2333 CHRTMP 6757 K0125 0056 KIES 0160
BGNINT 0200 CLKCNT @121 Kp252  0e5s KIE9 1726
BITNO #0837 CLRBRD 8271 K10 3313 KRB 6036
BR1950 2604 CHMESS6 4440 X100 3440 KRB@ 3635
BR110 2400 CNTI 2050 K115 2026 KRB1 1113
BRi20@ 2460 CNT2 7051 K117 pa27 KRB18 1711
BR150 2414 CNTREC 1737 K177 3372 KRB11 1354
BR24M0 2474 CNTRLC 7000 K2 025 KRB12 2014
BR3OA 2430 CNTRLG 7¢13 K206 2125 KRB13 2060
BR486GA 2510 CNTRLQ 6673 K212 057 KRB14 2070
BRS68 2554 CNTRLS 6661 K218 3260 KRB2 1419
BR60® 2444 coNtes 2644 K240 3441 KRB3 1437
BR667T 2570 CONFLD 70e0 K260 3521 KRB4 1504
BR96GZ 2524 COUNT 0122 K3 3437 KRBS 1511
BSW 7662 CRLF 4502 K33 2030 KRB6 1526
BSWAP 4511 DATBIT 0@40 K37 2031 KRB7 1544
1010 DELAY 4461 K317 0034 KRBE 1615

c
€177 #6033 DELAYN 2643 Kane 4132 KRB 1654



/KLBeJA & KLB8<KA/KB/KC/KD LGOP RACK TEST,

" /KLBeJA

KRS
KRS@
KRS1
KRs2
KRS3
KSE
KSE@
KSE1
KSE2
KSE3
KSF
KsFo
KSF1
KsFie
KsF11
KsF12
K§F14
KSF16
KSF17
KsFi8
KSF19
KgF2
KSF21
KSF22
KSF23
KsF24
KsFas
KSF26
KsF3
KSF4
KSFS
KsF6
KsF7
KSF8
KsF9
KSFSKP
LAS
LFFLAG
LIsN
LISNt
LIsN2
LISN3
LISNTY
LISNUM
LoAD
Loop
LOOPPC
Mig
M1000
M212
M270
M3

6034
0626
1810
2040
2046
6035
1335
2023
2045
2054
6031
79276
2336
1037
1065
1877
1116
1137
1144
1425
1541
0354
1675
1744
1762
1341
2036
2063
n471
¢537
7601
8721
2734
2713
1013
4467
4517
6754
4470
3340
3356
3351
w170
3361
4460
4463
0046
4041
0054
3373
3367
3374

M43
MES10A
MES10B
MES1@cC
MES1@D
MESA
MESAGE
MESAGF
MESAGX
MESB
MESS1{
MESS10
MESS2
MESS3
MESS3A
MESS4
MESS4A
MESSS
MESSSA
MESS6
MESS6A
MESS68
MESSEC
MESS6D
MESS6E
MESS6F
MESS6G
MESS6H
MESS61
MESS6J
MESS6K
MESS6L
MESS7
MESSTA
MESTAB
MESTB1
MIOT
MPC
NDELAY
NERROR
NEWDEVY
NOINTR
NOTBE
ONAPT
ONEOCK
ONEOCT
ORIGIN
PASSES
PRGFLD
PRNT1
PRNT2
PRNT4

3436
5145
5164
5203
5222
7265
4471
3416
3400
7267
4203
5120
4213
4224
4236
4241
4302
4306
4326
4400
4473
4520
4545
4572
4617
4645
4673
4721
4747
4776
5024
5052
5100
§115

3204
4472
6600
7253
enon
4475
4476
4477

& KLB8«KA/KB/KC/KD LOOP BACK TEST,

TLS7
TLS8
TLSS
TMPCNT
TPC
TPCO
TPC1
TSF
TSF@
TSF1
T5F10
TSF11
TSF12
TSF13
TSF14
TSF1S
TSF16
TSF17
TSF18
TSF2
TSF20
TSF22
TSF23
T8F24
TSF25
TSF26
TSF28
TSF29
TSF3
TSF30
TSF31
TSF32
TSF4
TSFS
TSF6
TSF7
TSF8
TSF9Q
TSFSKP
TSTCHA
TSTCNT
TSTCRL
TSTEXT
TSTRIN
TWOOCK
TWOOCT
TYINTR
TYPE
UPDATE
usioo
WATKSF
WATTSF

2307
2315
2026
7066
6044
0727
1073
6041
03¢
02326
7512
0521
8533
n664
0724
2675
1000
10993
1070
%333
1106
1124
1421
1516
1535
1553
1672
1747
0346
2319
2322
1344
9351
2407
0425
2437
n453
0504
4466
1022
2052
7200
7051
6744
32114
4473
3oa0
4501
1465
2645
2707
2671

XAERRO

- XAPTS

YESRNX

3671
3600
3522
6600
7146
7215
7244
7076
6703
7135
7126
4123
7020
3244
2620
4102
4111
4070
3314
2160
3442
1420
0a42
@a43
§352
1057
3744
4504
3261
4232
3513
3224
3500
3537
4133
3564
3585
1564
4042
6654
6655
4013
3235
4505
3273

PAL1Q

PALie

Vi142A

PSWRTN
RANI
RAN2
RRANDM1
RANDOM
RECDAT
RECEVE
RECPNT
REDOA
RESGEN
RETINT
RETURN
RSTART
SAVY
SAV2
SAVAC
SAVBTS
SAVGEN
SAVIT
SAVENT
SCXMIT
SDTSTH
SDTST2
SDTST3
SPTST4
SPTSTS
SPTST6
SDTSTT
SETUP
SLOLAS
SLOLST
SLWDAT
SLWREC
SLWTLS
SPACE2
SPACX2
spl
20
sPIY
sp11@
SPI1L
sPI12
spI13
SPI14
SPI15
sp12
SPI3
§PI4
SPIS
spI6
sP17
SPIB

vi42a

26=JAN=79

6747
3573
3574
4774
4506
p045
1436
5241
6611
4510
2317
3763
6755
3575
ons3
2240
ee36
45017
3164
0024
2317
1182
1200
121¢
1233
1254
1302
1316
@215
1372
1376
1333
1350
1340
4500
3326
6045
0304
0411
0737
2751
2761
1015
1027
1042
n427
2442
9455
0460
2506
2515
0523

- 26=JAN=T9

143101

SP19
SR4HLT
START
STENAB
STERR
STFLGS
STLAS
STLPPC
STRTST
SW1ONE
TABLA
TABLB
TABLE1
TCF
TCFo
TCF1
TCFi0
TCF1L
TCF12
TCF13
TCF14
TCF15
ICF16
TCF2
TCF3
TCF4
TCFS
TCF6
TCF7
TCF8
TCF9
TEMP
TEMSAV

TFLe
TFL1
TFL2
TFL3
TFL4
TFLS
TFL6
THSFLD
TICK
TLS
TLS®
TLSY
TLS10
TLS2
TLS3
TLS4
TLSS
TLS6

14301

PAGE 1=74

8673
2133
0250
2005
2101
2704
2126
4462
0274
4465
7254
7261
5500
6042
0330
0436
1505
1512
1611
1656
1346
2015
2035
@470
0832
2655
2716
1002
1064
1123
1412
2124
4145
6040
0323
0345
0406
0452
2503
0520
0646
@op¢
4514
6646
1102
1515
1424
1522
1540
1556
1606
1665

PAGE 175

SEQ v093

SEG 0094



/KL8=JR & KLA=KA/KB/KC/KD LOOP BACK TEST,

ERRORS DETECTED: @
LINKS GENERATED: 81
RUN=TIME3 8 SECONDS

3K CORE USED

PAL1®

Vi42a

26=JAiN=T79

Al 8¢ 1303 131¢ 2285
A20 as#

A21 86#

aA22 B7%

AZ3 a8

ACNSKP 266 4564 539

ACTFLD 2929%

AERROR 1744 879 938 1056 1125 1261 1328 1345 1365
APTE 1764 197

APTCHK 2281 2291

APTI00 144 2261

APTIOL 17¢ 2358 2359

APTIO2 184 2282

APTIO3 204

APTIO4 214 2362

APTIOS 23¢

ARROW 2875 3003 30144 3021
B1@50 2710 2813

Bi1e 2699 27144

B1200 2703 27508

B15@ 2700 27234

Bi9200 1439 1591 #

B19K2 2707 27864%

B240¢ 2704 27594

B399 2701 2732

B481@ 2705 2768%#

BS56P8 2708 27954

B6OQ 2702 2741 %

B66P7 2709 2804

B96GRA 2706 21774

BAUDNO 1054 230 234 1393
BAUDST 1289 12954

BAUDTB 1394 1431%

BAUDTM 200 1389¢%

BDPNTR 1395 1398 1399 1404 14288
BGNINT 197#% 2215

BITNO 103¢ 213 215 222 225 1396
BR10S0© 1442 16374

BR110 1431 14714

BR1208 1435 1531%

BR15@ 1432 14864

BR2400 1436 1546¢

BR39g@ 1433 1501 %

BR4 80D 1437 1561¢%

BR568 1440 16074

BR60O 1434 1516#

BR667 1441 16224

BR96GO 1438 1576¢#

BSW 64% 2356

BSWAP 1724 1739

c 3ges 3013

C177 99 2235

c77 98¢

14101

PAGE 1«76

SEQ 0095

SEQ 0096



C80100 2877 29024

C8CHAR 2851 2862 . 2868 2872 2878 2961 2965 29834 SEQ p097
€8pcop 3090 3092 30984 e
€8D01 30864 3094

C8K100 3104 31464

C8K177 3126 3130#

C8K200 3127 3131#

C8K212 3137 31414

C8K215 3135 31424

C8K240 2956 30674 3105
CBK260 3184 3193#

C8K277 2880 2904 3063
C8K7 3052 3071 3183
C8K77 3999 31444

Cc8M212 36694 3157

CBM260 2869 3044 3¢72¢
c8M270 3048 3073#

C8M3 30704 3163

c8M4 2954 29814 3178

CaM4p 3102 3145%

csocT 3174 3177 31814 3182 3186 3192#

CBRTRN 2914 2930 29324%
C8STOR 2951 2952 306¢ 3075% 3084 3086 3091 3093
CBTEMP 3033 3034 3038 3041 3043 3nal 3051 38744

CAF 29% 267 316 424 2354

CAFINT 408 415% 450

CAFXMT 3124 324

CALFLD 28324 2835 3202

CHARLG 971 1036% 1070 1972

CHEK22 1804 235 1283 1290 2213 2300 2324 2452

CHGMES 1811 1812 1813 1815# 1835 1837 1840 1844
CHKFIL 1680 1685 16984

CHRLAS 1057 1060 10664

CHRTMP 2944 2962 2966 2971 29824 3061

CLKCNT 189¢% 1300 2257 2374 2377

CLRBRD 252 2634 283 1293 1304 2289 2836

CMESS6 1793 2509#

CNTy 112¢ 1102 1109 1144 1152 1163 1404 1424 17¢3 1707 1718 1722

CNT2 1134 1101 1111 1143 1154 1159 1165 1407 1423 1762 1709 1747 1724

CNTREC 1124 1126 1129 1140%
CNTRLC 3003 3637 3213

CONFLD 28344 2858 2942 2950 3195

COUNT 1904 1313 2376

CRLF 158# 1997 2065

DATBIT 1044 218 750 768 773 783 800 827 815 828 832 1038 1064 1695
2168

DELAY 1244 553 667 907 974 1088 1198

DELAYN 1654 1663 16714
DELLOP 1655# 1669

DEVCOD 1014% 207 238 243 1740 1745 1746 2218

DONEA 2861 28684 SEQ 0098

EHLTLP 1304 270 273 276 281 291 294 296 299 302 305 315 319 322
350 353 356 361 365 367 369 374 37¢ 381 386 389 391 395
400 404 420 423 427 430 433 435 449 444 448 556 559 562
565 568 571 573 576 579 584 588 593 597 602 612 616 618
621 623 626 631 635 640 644 647 652 672 67S 679 682 686
689 691 694 697 699 703 705 714 719 967 1044 1047 11e5 1113
1147 1156 1167 1212 1218 1240 1242

END 961 9664

ERREXT 3046 3059 3063%

ERRFLG 108# 906 952 962

ERRLOP 956 9744 1022

EXIT 2278 2292 22994

FDATAT 853 9004# 964 1017

FDTLOP 9854 1016 2554

FILCHK 790 819 - 818 847 913 926 1679# 1692 1693 1695 1696

FILERT 1054 10824¢ 1138

FILEXT 1139 1179¢

FILLER 1869# 1929

FILLOP 11004 1141 1178

FLDRTN 2854 2874 2883% 2927 3027

FOROCK 147 2041 2043 2048 2050 2079 2080 2088 20994% 2104 2107 2109 2110 2117
2118 2123

FOROCT 1464

G 3015% 3023

GETDAT 2857 2859 2866 2897#

GOITA 2864 2886#

GOTOA 2888 2889 2890 2891 2895%

GOTOUV 2287 2294¢#

HALT Sa# 885 888 944 947 950 1062 1065 1131 1134 1267 127 1273 1334
1351 1371 1375

HLT 1864# 205 208 217 237 1292 1425

HLTLOP 131 1325#% 1327 1339

HLTLPY 462 476 483 489 497 504 513 520 521 534 1341 1344 1357

HLTLP2 465 479 488 493 5¢0 507 516 523 s3a 537 13614 1364 1380

INDEXA 2855 2865 2887 2896#
INMODE 2910 2916 2925 2928 2933%

INTON 1412¢ 1418 1420 1422 1424 2599
INTRET 250 2544

INTXMT 326 3456 406
k0125 t1es 831

KB252 1174 827

K10 1974 2023

K100 2061 2070

K115 944

K117 954

K177 1987  2027¢

K2 93¢

K200 193# 1988 2224
K212 1194 109¢ 1932
K215 1927 19374

K240 2062 2071¢



KRB4
KRBS
KRB6&
KRBT
KRBS
KRB9
KRS

KRS®
KRS1
KRS§2
KRS3
KSE

KSE0
KSE1
KSE2
KSE3
KSF

KSFo
KsF1
KSF10
KsFi1
KsF12
KsF14
KSFi6
KSF17
KSF18
KSF19
KSF2
KSF21
KsF22
KSF23
KSF24
K8F25
KsF26
KSF3
KSF 4
KSF5
KSF6
KSF7
KSF8
KSF9
KSFSKP
LAs

LFFLAG
LISN
LISNt
LISN2
LISN3
LISNTY
LISNUM

2131
2059
964
97%
1004
2470
1914
2381
2296
2130
2085
3909
2053
2075
2145
324
481¢
557#
6414
668#
Tii4
11574

2853
289

3484

2135#
20694

214
1041
2475%
2374
2384%
23144
21348
2094¢
3012%
20674%
20934%
2151%

481
2562
2563
2564
2565
2566
2567
11764
2903#

289
2532
2533
2534
2538
2536

36
2577
2578
2587
2579
258¢
2581
2582
2583
2584
2585
2586

502
1243
2588
2589
2598
2600
2601
2602
2603
2590
2591

2592
2593
2594
2595
2596
2597

495
2569

2571
2572

2447

557

2568
2940
346

348

692
1412

619

1206

303
863

4744

690

206
1274
3161
1956
20014
2022
2626
1999

641

416

363

872
1986

1219

1224

320
921

2542

704
209
1286
3166

2017
2025

2007

668

460

392

9e8
2329

1225

1234

402
985

966
106
1330

2019

711

716

417

931
3125

446
999

1046
881
1335

20304

1157

445

968

474
1106

1241
889
1347

1176

487

978

563
1145

940
1352

554

988

574
1164

953
1367

586

1002

622
1217

1013
1376

594

1049

642
1238

1619
2285

633

1089

672
1416

1058
2303

653

1118

680
1719

1066
2402

1199

695

1984

1127
2414

SEQ @099

SEQ vlve



M43
MES10A
MES10B
MES10C
MES1aD
MESA
HESAGE

MESAGF
MESAGX
MESB
MESS1
MESS1@
MESS2
MESS3
MESS3A
MESS4
MESS4A
MESSS
MESSSA
MESS6
MESS6A
MESS6B
MESS6C
MESS6D
MESS6E
MESS6F
MESS6G
MESS6H
MESS61
MESS6J
MESS6K
MESS6L
MESS7
MESS7A
MESTAB
MESTB1
MIOT
MPC
NDELAY
NERROR

NEWDEV
NOINTR

NOTSE
ONAPT
ONEOCK
ONEOCT
ORIGIN
PASSES
PRGFLD
PRNT1
PRNT2
PRNT4
PSWRTN
RAN1
RAN2
RANDML
RANDOM
RECDAT

RECEVE
RECPNT
REDOA
RESGEN
RETINT
RETURN
RSTART
S5avi
SAV2
SAVAC
SAVBTS

SAVGEN
SAVIT
SAVPNT
SCXMIT
SDTSTY
SDTST2
SDTST3
SDTST4
SDTSTS
SDTST6
SDTST?
SETUP
SLOLAS
SLOLST
SLWDAT
SLWREC
SLWTLS
SPACE2
SPACX2
134

SP1g
SPI1
SPIie

14454
1459¢%

1298
199#

133

862#

274
577¢

2408¢
2210
1874¢
1833
2847
3199
2883
1759
2122
2309
29734
2162
2163
10254

873
1133

9304
25324
2867

1416%
2332
29804
2188
2180
1356
210
1782

1797
2245
307

748%
176

819
836

234
880

752
871#
869
2125
1969#
274
634
2665
2666
2675

731
308
974
13585

904

2528¢%

1744
1970
20524
2040

2511¢%

246

666
306

2353

2419
2211
1880

3205#
2929
1774
2124

2165
2166
911

874
1220

23354
21954
2190
13594
1785

1801
2246

1850
883

765
892
1972

354
645

782
325
1073
1379

1747
2306
2064
2042

903
323
1071
2362

242¢
22164%
1884

2948
1789

2177
2167

2484

887
1226

1362
1804
18528

2214
8894

110
2693

203e
368

799
407
1179
23914

1784

2066
2055

1087

4@5
1177
2363

2421
1887

2970
1832

2189
2179

932
1236

1374
223
1805

2262

787

379

842
451
1250
2405

1760

2076

1197
1248

2422

1892

2976
1908

2193

2191

933
1244

226
1806

804

399

991
540
1426

1768

2086

1653
538

2423

1907

2194#

946
1254

1082
1822

812

393

1037
657

1775

655

989
1272

1192
1823

830

421

122

1783

120

1681
1826

834

428

739

1799

737

1003

1753
1841

849

434

755

1792

753

1004

1756
1842

857%

532

771

1814

178

105¢

1766
2237

577

794

1816

192

1051

1767
2241

587

822

1824

820

1119

1770

595

SEQ 0181

SEQ 0102



SPI1Y
SPI12
SPI13
SPIt4
SPI1S
SPI2
sP13
SPI4
SP15
SPI6
SPI7
SP18
SPI9
SR4HLT
START
STENAB
STERR
STFLGS
STLAS
STLPPC

STRTST
SW1ONE
TABLA
TABLB
TABLEY
TCF

TCFO
TCF{
TCF10
TCFit
TCF12
TCF13
TCF14
TCF15
TCF1i6
TCF2
TCF3
TCF4
TCFS
TCF6
TCF7
TCF8
TCF9
TEMP
TEMSAV
TFL
TFLO
TFLY
TFL2
TFL3
TFL4

THLYS
TFL6
THSFLD
TICK
TLS

TLS@
TLSA
TLS10
TLS2
TLS3
TLS4¢
TLSS
TLS6
TLST
TLSE
TLS9
TMPCNT
TPC
TPCO
TPC1
T8F

TSFO
TSF1
TSFig
TSF11
TSF12
TSF13
TSF14
TSF15
TSF16
T8F17
TSF18
TSF2
TSF20
TSF22
T8F23
TSF24
TSF2§
TSF26
TSF28
TSF29
TSF3
TSF30
TSF31
TSF32
TSF4
TSFS5
T8F6
T8F7
TSF8

5874
595#%

418%

4314
5114
2831¢
1788
494
1913
6834%
9794#
9204
984#
998¢#
1012#
10424%
1098¢#
14084
14144
12094
2955
464
5694
6764%
444
525
1409
2714
2954
425%
4324
4424
525#%
566#
1704%
603
6144
673#
3004
6874
7014
917%
9804
995#
10094
11034
1149#
3144
14094
14194
8664
317#
3524
3664
3764#
388¢

2676
2677
2678
2679
2680
2667
2668
2669
2670
2671
2672
2673
2674
1251
238%
1180
1229
656
1265
264
841
2980
265
32074
3213¢
26994%
297
1091
2646
2647
2656
2657
2658
2659
2660
2661
2662
2648
2649
5184
26514
2652
2653
2654
2655
1299
2487

2609
2610
2611
2612
2613

2614
2615
2834
2323

683
3113
2681
2683

2684
2685
2686
2687
2688
2689
2690
2691
2967

569
2663
2664

566
1419
2616
2617
2626
2627
2628
2629
2639
2631

611#
2633
2634
2618
2635
2636
2637
2638
2639
26490
2641
2642
2619
2643
2644
2645
2620
2621
2622
2623
2624

1283#

11924
1237

1274%
288
900

457

375
1200

2650

1302
24914
313

2846
862

2692

ns7
676

295
611
1704

2632

1249
1247

312
1036
508

401
1216

2248
351

916

30684

0@
614
1915

1277
12534

345
1086

441
1917

2249

387

920

3176

314
673

3114

1258

415
1196

518
3116

2252
418

979

3187

317
687

126¢

456
1400

560

984

3s2
701

1278
550 664 729 748
613 669 700 868
114

998 1012 1042 1098

366 376 388 - 419
866 917 980 995

759

910

1209

425
1009

7814

969

1408

432
1103

798

976

1414

442
1149

SEu 0103

SEQ Q1v4



TSF9
TEFSKP
TSTCHA
TSTCNT
TSTCRL
TSTEXT
TSTRTN
TWOOCK
TWOOCT
TYINTR
TYPE
UPDATE
usieo
WATKSF
WATTSF
XAERRO
XAPTS
XB8W
XCBCNT
XC8CRL
XC80CT
XC8PAS
XCEPNT
XCOPSW
XC8TTY
XCBTYP

XCHK22
XCNTLG
XCRLF
XDELAY
XHALT
XHLT
XLAS
XLISN
XLOAD
XMIOT
AMIT
XMTDAT

XMTDTY

XMTIOT
XMTREC
XNERRO
XOR
XORS
XPCRET
XPRNTY
APRNT2
XPRNT4

L2177
212378

167
1026
171
169

129
2886
2886

179

187

1644

165
2030
2010
1100

1394

2486
26094%

2319%

1931
2388¢#
2010
1894
2083

2149
24804
2186#
21754
1908
24014
2898¢
2899
23694
1912
1749
1943
2838%
2013
1142
28414
28424
810
665
505
3284
3294
3308
331¢
3324
333
3344
3354
336¢
337¢
338¢
4694
4708%
471#
605#
606¢#
6074
485
483
7444
11704
1171%
1172#
11738
1174#
13164
1304
1318%
13194
13204
1324
1233
1465%

678
3053

31564

3062
1888
1743

1933
942
1673+
1726
1711
2251

2150
2884
2969
3190
3203
3083
231¢
31224
2881

2472

1936
1665
2450

2433
2001
1312

2320

1934
2390
2413
1894
2084

2144
2489
2192
2181
1019¢
2406

2373
1918
1762
1944

2839#
1158

818
902
2845¢

493
489

13174

13224

698
3054

3162

1893
1794

2000
953¢

1727
1712
2254

2913
3007
3200

3085
29374
3128
2957

2473

1666
2453

2438
2002
1314
2078

735
808
943
1213
949

2322
19424
2394
2129¢
1900
2087

2146

2378
1777
1948
1701

847
28443

50¢
497

1243
3066

905
3168

1898
2100

2063
1023

1728

1713
2256

2918
3025

3104
2960
3004

1667
2458

2445
2011

2082
7514
809
958

1222
957

2333
1945
2133

1908
2105

2157

2382
1818
1955#
1716

913

507
504

1211
1402
3167
1896
2106

2132

2269¢#

3055
3197
2975
3006

1668
2461

2454
212

76¢
813
978
1228
983

1949

2108

Catie

1963

28404

926

516
513

1403
3168

1901

2213

3065

3026
3022

2014

762
816
992
1234
1006

1950

21164

1964

2843

523
52¢

1405

1902

2311

31344

3024

2016

764
817
997
1246
1011

1951

2126

1965

530
527

1406

1906

2312

3139

3042

766
829
1040
1256
10855

537
834

1694

2313

3201

3064

769
833
1052
1269
1061

6084#
609%

2331

3106

771
846
1096
2169
1093

2393

31124

774
864
1097
2482
1114

3118

786
876
1117
2485
1140

SEG 9105

3136

788
884
1122
2488
1202

i Y,

SEQ v106



T W VObo3

V0094
Vo017
V0020
Vo200
V0203
V0206
V0215
V0267
,V0271
V0400
V0608
V1000
LV1031
,V1333
V1400
V1600
V2200
V2003
V2005
V2217
WV2241
V2264
,V2317
V2334
V2350
,V2364
V2646
Vi0ee
V3306
V3513
V4000
V4060
V4402
V5402
V5500
V6000
V6602
SV6641
V6660
V6703
V6744
V6754
,V6756
WV6757
V7011
V70622
V7065
V7066
V7267
V1070
V7071
V7072

1391
1389
1689
1686
1850
1843
1836
1821
1810
1809
1798
1780
233¢
2310
2289
2288
2262
2247
2244
2239
2229
2220
2215
2214
29589
2956
2955
2953
2951
2949
2946
2917
2882
2876
2875
2873
2869
3063
3061
3059
3039
3035
3027
3026
3204
3197
3185
3183
3176
3178
3163
3164
3187

212

336¢#
3348
333%
2972
1319¢
2348¢
23494
1853%
329#
1304
3284
4694
6054
335¢
7444
2842#
2841 ¢
11704
11714
1174#
4714
4704
338
14664
14654
1857%
1854#
81¢
3374
28388
2013
1316#

1233
3304
2343#
2345%
23384
3153¢#
3148¢
3314
3062
3166
32264
3149¢#
2995%
2985#
29864#
2967
3229%
3227%
3224
29974#

1856%

29874

2989
29904

29924

2969
2R84

31504

32254

3228¢

499
1115
1809
29904

2262

13174

1780

2229

476
479

818

28394%
2288
962
13224
1389

1291
31504#
32284

2987+#

2993¢
2987

6064
11724
1858#

23424
2289

1867

23464

483
485

847

2341
28444

14674

13184

3176

2994#

1245
1824
2244

23408

2220

489
493

913

2310

3187

1321
1827
23448

23474

497
s50e

2339

3225¢%

18564%
504 513 520 527 534
527 516 523 53¢ 537
2843

326 3154

609¢#
608¢#

SEQ 0107

SEQ vlos



V1075
V19676
LV7126
,V7138
WV7146
V7200
WV7215
$V7241
V7400
V7575
V7600
V1700
V7765
V7766
V7774

2951
2946
2876
2917
2882
2873
2953
1284

521
3935
1689
1100

1686
486

29894%
3197
2881
2992¢%
2969
3939

28454
1158

1798
1092

32224
2957

29934
3151

1701
18594

11734

2994#
3201

1716

3185
3221¢

2840

3223¢

SEQ 0109



